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AHHOTAIIMA PABOUYENM ITPOT'PAMMBI JIUCITATIIMHBI
«HOCTpaHHBII A3bIK B NIPO(eCCHOHATBHO AeITeJbHOCTH»

HucuumnnHa «AHOCTpaHHBIA SA3BIK B NPO(EeCCHOHAJIBLHOM AeATeJILHOCTH» SBISIETCA
JTUCLHUTUTMHON 00s3aTeNbHOM YacTH 00pa3zoBaresibHOM mporpammbl, bioka 1 «/lucuurinsel
(Momynm )» oOpa3oBaTeIbHOM MpoTrpaMMbl «MeTeopoorus» 1mo HanpasieHuto noarotosku 05.04.04
I'mnpomereopomorus.

Henp aucuumimael «AHOCTPAHHBIA SI3bIK B NMPOQeCCHOHAJBHON IeiTeJIbHOCTHY -
dbopMUpOBaHUE WHOSI3BIYHOW KOMMYHHUKATUBHON KOMITETEHIIMH, TO3BOJISIONICH WMCIOIB30BaTh
MHOCTPAaHHBIM SI3bIK KaK CpPEACTBO MPO(EeCCHOHATBbHOIO W MEXIUYHOCTHOTO OOLIeHMS,
dbopMupoBaHUE CHOCOOHOCTH K CAaMOCTOATEIBHOW IMO3HABaTeNbHOM H  HCCIENOBATEIbCKON
JIeSATEIbHOCTH.

Oco0b1il yrop B Kypce aenaercs Ha NpoecCHOHATbHYI0 KOMMYHHKALNIO: (POPMHUPYIOTCS
HABBIKM  Pa3IMYHBIX BHUJIOB UYTEHHUS (IIOMCKOBOTO, O3HAKOMHUTEIBHOIO, IPOCMOTPOBOTO,
AQHAJIUTHYECKOT0),  OCYIIECTBISIETCS  OOydyeHHEe CEMaHTHKO-CHHTAKCHUYECKOTO M JIEKCHKO-
rpaMMaTHYECKOr0 aHAJIN3a TEKCTA M OCHOBAM I1€pEBO/1a TEKCTOB IO CIIEHUAIbHOCTH C MHOCTPAHHOTO
(aHMIMIICKOrO) SI3bIKAa HA PYCCKUM, PAa3BUBAIOTCS HABBIKM BOCIPUATHS HA CIYyX MOHOJOTUYECKOHN U
JUAJIOTUYECKON ayTeHTUYHOH peun B npodeccHoHaIbHON cdepe, a TakKe COBEPIICHCTBOBAHUE
HABBIKOB YCTHOW W MUCHBMEHHOW peYM B paMKax MpodecCHOHATHHOrO OOIeHUs (B YaCTHOCTH,
ymMeHue chOpMHUPOBATH OCHOBHYIO UCIO0 COOOIIEHHUS, KPATKO M3JI0KHUTh COJEP)KaHUE TEKCTA).

OO01mast TpyI0€MKOCTh OCBOCHHS TUCITUTUIMHBI COCTABIISICT 8 3aU€THBIX SUHUIIBI, 288 4acoB.
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1. HEJIM U 3AJAYU OCBOEHUSA JUCHUITVIMHBI

Heas ocBoeHus aucuuiuinHbl «HOCTpaHHBI A3bIK B NPOQeCCHOHATLHOM
AeTeJIbHOCTH» — (HOPMUPOBAHUE WHOS3BIYHOW KOMMYHUKATUBHOM KOMIETEHIIMH, TO3BOJISIONIEH
UCITIOJIb30BaTh HMHOCTPAHHBIA S3BIK KakK CPEACTBO MPO(ECCHOHATBHOTO M MEXIMYHOCTHOTO
obmenust, GopMHUpPOBAHUE CITOCOOHOCTH K CAMOCTOSTEIILHOM ITO3HABATEILHOM 1 HCCIIE0BATEIILCKOM
ACATCIIbHOCTH.

3agaum:

— (opmupoBaHUE HABBIKOB PA3JIMYHBIX BUAOB YTEHHUS (TIOMCKOBOTO, 03HAKOMUTEIBHOTO,
POCMOTPOBOT0, aHATUTUYECKOTO);

— o00ydeHHne CeMaHTHKO-CHHTAaKCUYECKOMY U JIEKCUKO-TPaMMaTHUYECKOMY aHaIHU3y TEKCTa
U OCHOBaM IIepeBOJia TEKCTOB IO CHEIHAIbHOCTH C WHOCTPAHHOTO (AHIJIMICKOro) s3blka Ha
pyCCKuii;

— pa3BUTUE HABBIKOB BOCIPHUATHS Ha CIyX MOHOJIOTUYECKOM W JUANOrMYecKoi
ayTeHTUYHOH pedr B IpodeccuoHaIbHOM cdepe;

— COBEpPLICHCTBOBAHME  HABBIKOB YCTHOM W  IIMCBMEHHOM pe4d B  paMKax
poQeCCHOHAIBHOTO 00IIEeHHs (B YaCTHOCTH, YMEHHE C(HOPMHUPOBATH OCHOBHYIO HJICIO0 COOOIICHMS,
KPaTKO U3JI0KUTH COACPIKaHUE TEKCTA).

2. INTAHUPYEMBIE PE3YJIbTATBI OCBOEHUSA JUCHUITJIMHBI

B pesynbrare wu3yueHus y4eOHOW IUCHUIUIMHBI OOYYAIOIIMICS JOJDKEH OBJIAJETh
CIICAYIONIMMU  KommeTeHusMu:  yHuBepcanbhbiMu  (YK).  Ilnmanupyembie  pe3ynibTaThl
dbopMUpOBaHUS KOMIETEHIIMH U MHIUKATOPBI UX JOCTHKEHUS B PE3YJIbTAaTE OCBOCHUS JUCIUILTNHBI
npencraieHsl B Tabmuie 1.

Taonuma 1
I[InanupyemMsble pe3yabTaThbl OCBOCHHS JUCIHUIIMHBI, COOTHECEHHbIE ¢ HHANKATOPAMH
JOCTHKEHHSI KOMIIETeHUMH 00y4Yarommxcst

Kon u HaumeHoBaHue

I/IHI[ﬂKaTOpLI JOCTHIKCHUSA

Pe3yabrarbl 00y4eHus (3HATH, YMeTb,

KOMIIeTeHIIUT KOMIIeTeHIIUN BJIA/1€Th)
YK-4 Crocoben | YK-4.1. BoiOupaer ctunb oOmeHus B | 3HATh:
TIIPUMCHATH 3aBUCUMOCTH OT ILCIU U YCHOBI/Iﬁ TEOPHIO Bq)(l)eKTHBHOﬁ KOMMYHHKAITTH B
COBPEMEHHBIX NapTHEPCTBA; alAalTUPYeT pedb, CTHIb | ycTHON M MUChMEHHOH (opMax Ha pPyCCKOM U
KOMMYHUKATHBHEIE OOLIEHNS U SI3bIK JKECTOB K CUTYALMIM | HHOCTPAaHHOM S3BIKE, IIPHHSTHIC B
TEXHOJIOIMY, B  TOM | B3aUMOICUCTBHUA. aKaJeMHIECKOM 3 podeCcCHOHATEHOM
qucie Ha | YK-4.2. Besier feN0BYIO NMEPENUCKY HA | cooBIecTBe
HHOCTPaHHOM(BIX) MHOCTPaHHOM  SI3bIKE € Y4eTOM | 3 (VK-4)
A3bIKe(ax), I | ocobeHHOCTeH CTUIMCTHKH | YimeTp:
aKaJIEMUIECKOTO 7 | obuOuanbHBIX W HEO(UIMaIbHBIX HCTIOB30BATH PA3HBIC KOMMYHHKATHBHBIC POJTH
npodeccHoHaIbHOTO IIFCEM U COIIMOKYIbTYPHBIX. W cTpaTermM s pemleHMs  3ajau
B3aNUMOJIEMCTBUS VK-4.3. Beimtoagser 11 JNYHBIX Heaei MPOhECCHOHATBHOM JIEATEMBHOCTH Ha PYCCKOM
T1epeBOa OQrIHATBHEIX "M MHOCTpaHHOM  s3bIKe, [pPHMHATEIE B
IpOQeCCHOHANBHEIX TEKCTOB € | axanemudaeckom u npodecCHOHaTEHOM
WHOCTPAHHOTO A3bKa Ha PYCCKHH, C | (o5 ocrpe
PYCCKOTO 3bIKa Ha HHOCTPAHHBIH. V (VK-4)
VK-4.4. YetHo Tpe/ICTaBIseT o ’
N Ja/1eTh:
PESYJIBTATBL CBOCH  ACATCABHOCTH HA | o pp iamn UCTIOJIb30BaHUS Ppa3HBIX
HHOCTPAHHOM SI3BIKE MOXET o .
P ’ KOMMYHHKaTUBHBIX POJIEH M CTpaTeruil uis
HmoJ/iepkaTh pasroBOp B  XOAe HX
UICP p P . pemieHus  NMPO(ECCHOHAIBHBIX  3a1ad  Ha
00CYyXICHUS.

PYCCKOM M WHOCTPAHHOM S3bIKE, MPUHSTHIC B
aKaJIeMHUYECKOM u npodeccroHaIbHOM
CcOo00IIIeCTBE




Kon u HanmeHoBaHue Hnnukaropbl 10CTHKEHUST Pe3yabrarbl 00y4eHus (3HATh, YMeTb,

KOMIIETCHIIUHN KOMIIETCHIIUHN BJ'laI[eTL)
B (VK-4)
B pe3yanaTe OCBOCHUA OJUCIHHUIIIINHBI MaFI/ICTpaHT JOJIXKCH:
3HATbD:

— OCHOBBI aKaJIEMUYECKON rPaMMaTUKH, JICKCUKH ¥ KOMMYHHUKAITUH, OCHOBHBIC TIPHHITUIIBI
pPa3IMYHBIX BUJIOB YTCHHS, CEMAaHTUKO-CUHTAKCUYECKOTO M JIEKCHKO-TPAMMAaTHYECKOTO aHaIu3a
TEKCTa, OCHOBBI MEPEBOJIa TEKCTA MO CHELUUATBHOCTH C MHOCTPAHHOTO (aHTJIMUCKOTO) sI3bIKa Ha
PYCCKHIA, HAYYHYIO TEPMUHOJIOTHIO.

YMETb:

— HpI/IMeHHTI: Ha HpaKTI/IKe OCHOBHBEIC HpI/IHI_II/IHI:I paBHI/I‘IHBIX BUOOB YTCHUA, CCMAaHTHUKO-
CHHTAKCHYECKOTO U JIEKCHKO-TPAMMAaTHYECKOTO aHalh3a TEKCTa, a TakKe aHaJu3upOBaTh
KOHerTHbIe KOMMyHI/IKaI_[I/IOHHBIe CI/ITya]_II/II/I.

BJIAJIETbD:

— HaBBIKAMH BOCTIPUSATHS HA CITyX MOHOJIOTHYECKON U JUATOTHYSCKON ayTeHTUYHOMN peyH,
HaBbIKAMH YCTHOW W INHUCBMEHHOH peun B pamKax Mpo(hecCHOHAIBHOTO OOIICHHs, HaBbIKAMU
JIETTOBOM KOMMYHUKAIWH.

3. MECTO JUCIHUILINHBI B CTPYKTYPE OBPA3OBATEJIbHOM ITPOT' PAMMBI

JucnunnuHa «MHOCTpaHHBIM fA3BIK B NPO(ECCHOHAIBLHON AeATEeNbHOCTH» SBISACTCA
JTUCIUTIIMHON 00s13aTenibHON YacTu bioka 1 «/[ucuummasl (Momynn)» ydeOHOTO TJIlaHa OCHOBHOM
npodeccuoHaNbHOW 00pa30BaTENbHOM MPOTrPaMMBbl  BBICHIETO 00pa3oBaHUSl — MPOTPAMMBI
MarucTparypbl «Meteoposorusi» no HamparieHuio moarotoBku 05.04.04 T'mapomeTreoposiorusi.
Kypc uuTtaercs B mepBoM 1 BTOpOM ceMecTpax, (hopMa MpOMEKYTOIHOM aTTeCcTaluiu — dK3aMeH.

Jljig ycrienrtHoro OCBOEHHUS MarepHalia JaHHOM TUCHUIUIMHBI TPeOyloTCsl 3HaHUsI, YMEHUS U
HaBBIKM, TIOJIyYEHHBIE B XoJIe OOydYyeHHMs Ha TaKMX YPOBHSIX BBICHIETO OOpa30BaHMA Kak
OakajaBpHuar/CreIuaInuTeT.

3HaHI/I5I, YMCHHA W HAaBbIKHU, T[IOJIYYCHHBIC IIPpU OCBOCHHUH ,Z[aHHOI‘/JI JUCHUIIIIMHBI,
MPUMEHSIIOTCS] MATUCTPAaHTaMU B IIPOLecce MPOXOXKACHUS yueOHOW U TPOU3BOACTBEHHOM MPAKTUKU
U IIPpU BBIITOJIHCHHH, ITOATOTOBKE K IMPOLCAYPC 3aIUTHI U 3all[UTHL BBIHYCKHOﬁ KBaHHq)HKaHHOHHOﬁ
paboTHI.

4. OFBEM JJUCHHUIIJIMHBbI
OO01mast TpPyI0eMKOCTh OCBOCHHUS TUCITUTUIMHBI COCTABISIET 8 3aUeTHBIX eIUHUIIBI, 288 JacosB.

Ta0nuua 2
O0beM TUCHUNJIMHBI
Tunbl y4eOHbIX 3aHATHH O0beM THCHHILINHBI
M CaMOCTOSITeJIbHAs padoTa Bcero Cemectp
1 2 3 4

KonrakTHas palora oOy4yaromuxcs 108 54 54 ) )
npenojaaBareseM B cooTBeTcTBHH ¢ YII:
Jlextm (J1) - - - - -
Cemunapckue 3aaatus (C3) 108 54 54 - -
CamocrositenibHast padora (CP 162 81 81 - -

dopma IK3aMeH IKk3aMeH | JK3aMeH -
IIpoMeskyToUHAs aTTeCTALMA

yac. 18 9 9 -
O0masi  TPy10eMKOCTh  JMCUMIIJIMHBI 288/4 144/4 144/4 ) )
(uac./3.e.)




5. COAEP/)KAHHUE U CTPYKTYPA JUCHUIIJINHbI

ConepxaHue JUCHUILUIMHBI COOTHOCHUTCS C IUIAHUPYEMBIMH pe3ylbTaraMd OOyueHHs 110
JUCLUIUIMHE. 4epe3 3ajadd, (hopMUpyeMble KOMIIETEHIIMM M UX KOMIIOHEHTH! (3HaHMs, YMEHHUS,
HaBbIKM — Jasee 3YB) mo cpencrBaMm WHAWKATOPOB JOCTHKEHUS KOMIETECHIIMHA B COOTBETCTBHU C
Tab6mureit 3.

5.1 Conepxanue q1MCUMILITAHBI

Tabnuma 3
Conep:kaHue U CHUTIMHBI

Ne
n/n

HaumenoBanme
TeM (pa3zesoB)

Conep:xanue Tem (pa3eioB)

Koapl
KOMIIEeTeHIH i

HNuaukaropsl
KOMIIeTeHUM
(B COOTB. ¢
Tabnmueii 1)

Koabi 3YB (B
COOTBETCTBHH
¢ Tabmumeit 1)

OCHOBBI
aKaJeMHUYECKOMI
rpaMMaTHKH

Bunospemennas cucTemMa
AHTITMICKOTO rarosa
(eficTBUTENBHBIN 3aJ10T).
Bunospemennas cucTemMa
AHTJIMIICKOTO rarosa
(CrpanarenbHblii 3a510T).
Cyl1ecTBUTENBHOE:
WCYHCIISIEMBIC, HEUCUUCIIIEMbIC
CyLIECTBUTEIIbHBIE.

Croga, BBIPXKAOIINC
KOJTUYECTBO.
Tuns MECTOMMEHHH.
[MpunararensHoe U Hapeuue.
Cremnenu CpaBHEHHS
MpUJIaraTelIbHBIX U HApEUHH.
[Ipenmorn MecTa u
HanpaBJICHUS, Ma/ICKHbBIE
npeuIord. MoJlanbHbIE TIIaroJibl
B 1 u 2 3Hauenun. [IpaBuna
COTIacoBaHUs BpEMEH,
KOCBCHHBIH BOMPOC, IJIAroJbl
TOBOPCHHSI.
UnduauTHB.
[Ipuyacrue.
HaKJIOHEHHE.
CIIO’)KHOCOYMHEHHOE u
CJIIO)KHOTIOMYMHEHHOE
TIPEUIOKEHHMSL.
MPUIATOYHBIX,
CBSI3b.
KOHCTPYKITUH.

Tepynamii.
CocnararejibHOE

Tunel
Oeccoro3Has
Omparnueckue

VK-4

YK-4.1.
VYK-4.2.
VYK-4.3.
YK-4.4.

3 (YK-4)
Y (VK-4)
B (YK-4)

OCHOBEI
aKaJeMHUYECKOMI
JIEKCHKHU

XapakTepucTuKu
aKaJeMHUYECKOH JTEKCUKU.
MeTonukn HcciIea0BaTeIbCKON
TIeATEIbHOCTH. Omnucanue
TEHCHITUH, MIPUYHUHHO-
CJIEICTBEHHBIX CBSI3EH.
Onucanve W OIEHKA HAEH U
KOHIISITIIUI, CCBUIKHU Ha

VK-4

VK-4.1.
VK-4.2.
VYK-4.3.
YK-4.4.

3 (VK-4)
VY (YK-4)
B (YK-4)




Ne
n/n

HaumenoBanme
TeM (pa3esnoB)

Conep:xanue Tem (pa3eioB)

Koapl
KOMIIEeTeHIH i

HNuaukaropsl
KOMIIeTeHUM i
(B COOTB. ¢
Tabnmueii 1)

Koabi 3YB (B
COOTBETCTBHH
¢ Tabmumeit 1)

HCTOYHMKH. CrarucTuiecKue
JlaHHbBIE, TPaUKHU U TUArPaMMBI,
aHau3 pe3yNbTaToB
HCCIIEIOBAHUS.
[IpodeccrnonanbHpie
Tuner BEICIIIHAX
3aBEJICHHUM, CTENCHH,
JIOJDKHOCTH i 3BaHUS.
CoBpeMeHHBIE ~ CUCTEMBl U
croco0bl  KOMMYHHKallUM B
aKageMHUYECKOU cpere.
MexnyHaponHoe
aKaJeMUYECKOE  COOOILECTBO.
KopnioparuBHas KynbTypa By3a.

TEMBI:
yueOHBIX

OCHOBEBI
aKaJeMHUYeCKOI
KOMMYHHUKAaITUU

IMpuHoMnel  akajgeMH4ecKol
KOMMYHUKALMH:

ens aKaJeMHUYECKON
KOMMyHHKanuu. TpeboBaHus K
3P PEKTUBHOMY IO CIIAHHUIO
Orambl CO3MaHUS W Tepenaqn
3¢ (GEKTUBHOTO TTOCTAHMUS.
BzanMmonelicTBre ¢ aynuTopuen.
CrocoOBI TIOTy4YCHUS U aHAITN3a
oOpaTHOIi CBsI3W B TpoIrecce

KOMMYHHKAIIHU.
Tunsr BepOanbHON (YCTHOM U
MMMCBMEHHON)  aKaJIeMHUYECKOU
KOMMYHHKAIIHH.
Turner HeBepOAbHOM
KOMMYHUKAIIUH.

BsaumoneiictBue BepOabHON U
HeBepOaIbHOW KOMMYHUKAIIHH.

MeponpusTtas B cthepe
aKaJIeMUYCCKON KOMMYHHKAITHH.
JddexTUBHAH
aKaJeMHIecKasi Mpe3eHTaAINs:
Crtpykrypa u STaIbl
MPe3CHTAINU

Opranu3anus u
CTPYKTYPHPOBaHHE
HHpOpMAIIHH.

OO0mbsicHeHHE OCHOBHBIX
KoHuenumi u uner. CBa3b

3JIEMCHTOB IPE3CHTALlNHU.

Kax 3aMHTEPECOBATH AYJUTOPUIO
1 BOBJICYD €€ B JUCKYCCHUIO. Kak
BBIACIINTD TJIaBHOC u
NOAYCPKHYTh CaMbIC SAPKHUEC
MBICJIN.

VK-4

VYK-4.1.
YK-4.2.
VYK-4.3.
YK-4.4.

3 (VK-4)
Y (VK-4)
B (YK-4)




Ne
n/n

HaumenoBanme
TeM (pa3esnoB)

Conep:xanue Tem (pa3eioB)

Koapl
KOMIIEeTeHIH i

HNuaukaropsl
KOMIIeTeHUM i
(B COOTB. ¢
Tabnmueii 1)

Koabi 3YB (B
COOTBETCTBHH
¢ Tabmumeit 1)

dopmanbHBIF U HeQOpPMaTbHBIH
ctiid.  BpIOOp  S3BIKOBBIX
CPEJICTB. [IpeobpazoBanue
MMCbMEHHON peYl B YCTHYIO
peds.
ITogrotoBka wu
HCTIOJIE30BaHUE
WJUTIOCTPATUBHOTO ~ MaTepuaia.
Onmcanne TpaduKOB, CXeM,
Tabmu. OnucaHue MpoueccoB U
TEHICHIINHA.

s dekTuBHOE

3aBeplieHue Mpe3eHTallnH,
BBIBOJIBL. Puropuueckue
BOITPOCHI. OneMEeHTHI

HeBepOaIbHONM KOMMYHUKAIIHH.

5.2 CTpyKTypa ¥ CUMILJIHHbI

Tabnuma 4
CTpyKTYypa AMCHUTIHHBI
O0beM IMCHUIIMHDI, Yac.
KonTtakTHas padora Dopma
o0yyarommxcs ¢ TeKylIero
o HpeHOlIﬂBaTeJIeM 110 KOHTpOJIﬂ
Nen/n | Haumenoanue rem (pasieiion) Bcero THIIAM y4e0HbIX Cp yCIeBaeMoCTH
3aHATHI B MPOMEKYTOIHOI
coorBercTBHH ¢ YII aTTecTalumu
JI JP 113
Tema OCHOBBI aKaJeMHIYeCKON IIT
g 67 - - | 27 | 40
1 IrpaMMAaTHKU KP
Tema OCHOBBHI aKageMHIYeCKON
g 68 - - 27 | 4 P
2 JIEKCUKU
ITpoMeskyTOUHASI ATTECTAUSA 9 - - - - JK3aMeH
Bcero 3a 1 cemecTp 144 - - 94 81 9
Tema OCHOBBI aKaJeMHUYECKON P
A 67 - - 27 | 40
2 JIEKCUKHU I1T
Tema OCHOBBI aKaJeMHUYECKON
A 68 - - 27 | 41 AT
3 KOMMYHHKAITUU
IIpome:kyTOouHas aTTecTANMS 9 - - - - IK3aMeH
Bcero 3a 2 cemecTp 144 - - 54 81 9
Bcero: 288 - - 108 | 162 18

Ipumeuanue: * — popmvl mexyujeco KOHMPONs YCNesaeMocmu: YCmMHblil nepeeoo MeKCma no CneyudibHOCmu
(IIT), xowmponvnas paboma (KP), ycmmuoe pegepuposanue mekcma no cneyuarvHocmu (P), axademuueckas
npesenmayus (All).




6. YAEBHO-METOJJAYECKOE OBECIIEYEHUE CAMOCTOSTEJBbHOM PABOTHI
OBYYAIOIUXCA ITO JUCHUTIJIMHE

6.1 O0mMe moJI0KeHN S

3HaHMSIT M HAaBBIKM, IIOJIyUEHHBIE B pe3ylbTaTe JEKUUH U CEMHHAPCKUX 3aHATUH,
3aKpEIUISIOTCS U Pa3BUBAIOTCA B pe3yNbTare MOBTOPEHHUs MaTepuala, YCBOCHHOIO B ayAUTOPHH,
nNyTéM 4YTCHHUA TCKCTOB U HCCHCHOB&TCHBCKOﬁ JIUTCPATYyPhL (I/I3 CIIUCKOB OCHOBHOU WU
JOTIOTHUTEILHON JIUTEPATYPhl) U UX aHATU3A.

CamocrosiTenpHast paboTa SBISETCS BaKHEHIIIEH YacThIO MpoIlecca BBICHIET0 00pa3oBaHUSI.
Ee cnenyer oco3HaHHO OPraHnW30BaTh, BHIACIUB JUIsl ’TOT0 HEOOXO0AUMOE BPEMsI U COOTBETCTBEHHBIM
o0pa3oM opranu3oBaB pabodee MPOCTPAHCTBO. BaKHEHIIIMM 37IEMEHTOM CaMOCTOSITETLHOW PaOOTHI
ABIIIETCS MpopaboTKa MaTepuajoB MPOIICAINIMX 3aHITUHA (aHAIU3 KOHCIEKTOB, YTEHHE
PEKOMEH0OBaHHON JTIUTEpaTyphbl) U MOJATOTOBKA K CIEAYIOIIMM JIeKIUsAM/ceMuHapaM. Jlureparypy,
PEKOMEH/IOBaHHYIO B Mporpamme Kypca, ClIeayeT, 10 BO3MOXKHOCTH, YUTaTh B TEUEHUE BCETO
ceMecTpa, KOHIICHTPUPYSICh Ha 00YCIOBIEHHBIX MPOTPaMMO Kypca TeMax.

CyliecTBeHHYI0  4YacTh  CaMOCTOSITEIbHOM  pabOoThl  MarucTpaHTta  MIpeJCTaBiseT
CaMOCTOATCIIbBHOC U3YUCHUC y‘-IG6HO-MeTO,Z[I/I‘-I€CKI/IX I/ISI[aHI/Iﬁ, JICKHMOHHBIX KOHCIICKTOB, MHTCPHCT-
pecypcoB u nip. [ToAroToBKa K CEMUHAPCKUM 3aHATHSIM, ONPOCAM TaKXKe SBJISICTCS] BAXKHOU hopMoi
pa60T1>1 MarucCTpaHra. CaMocTosTenspHast pa60Ta MOKCT BCCTUCHh KaK MHAWBUAYAJIbHO, TaK U IPHU
COICHCTBUU MPENOJABATES.

6.2 PexoMeHIallMH MO pacnpeneeHUI0 y4eOHOr0 BpeMeHH IO BHIAM CaMOCTOSITeJbLHOM
padoThI U pa3esaM AUCHUILINHBI

Tema 1. OcHOBBI aKkaJieMHU4YeCKOH TPAMMATHKH:

1.1. W3yueHue peKOMEHIyeMbIX pasleiaoB rpammarukd. lloBropenne Marepuaina,
M3YYCHHOTO Ha MPEABIAYIINX 3aHATHSIX, PU TMOJTOTOBKE K MOCIeAYOIUM 3aHsATHsIM — 20 9acoB.

1.2. TloaroroBka K 3aHATUSIM 1O NPEAJONKEHHBIM JUIsl BBINOJHEHUS 3aJaHUsM,
CaMOCTOSITEIbHOE HW3Y4YeHUE PEKOMEHIOBAHHOW y4eOHOH JMTeparyphl, NMOBTOPEHUE Marepuasa
npaktuieckux 3ausaTuii — 20 vacos. Mroro: 40 gacos.

Tema 2. OCHOBBI aKaJleMHYeCKOH JTeKCHKH:

2.1. 3yyeHune peKkoMeHIyeMbIX pa3aesioB JEKCUKH U MpodecCHoHaNbHBIX TeM. [loBTopeHne
M3Y4EHHOT0 JIEKCUYECKOTO MaTepuaia Ha MPeAbIIYIINX 3aHITHIX MIPU MOATOTOBKE K MOCIEAYIOIINM
3aHaTusaM — 10 yacos.

2.2. TlogroroBka K 3aHATUSAM T1I0 TPEAJIOKEHHBIM MPOQPECCHOHATBHBIM  TEMaM,
CaMOCTOSITENIbHOE M3Y4YeHHE PEKOMEHIOBAaHHOW Y4YeOHOH IUTEepaTyphl, MOBTOPEHHE Marepuaia
NPaKTUYECKHX 3aHsATHi — 21 yacoB. Mroro: 41 gacos.

Tema 3. OcHOBBI aKaIeMHY€ECKOI JEKCHKH

3.1. M3yyeHue NPUHUMUIIOB aKaJEeMHUUYECKOW KOMMYHHUKAI[MH, 3HAKOMCTBO C OCHOBHBIMHU
BHUIaMU aKaﬂeMquCKOﬁ KOMMYHI/IKaI_[I/II/I. HOBTOpeHI/Ie MaTepHana, I/IBY‘-ICHHOFO Ha HpeI[BII[YILII/IX
3aHATHUSX, IPU TTOJITOTOBKE K MOCaeAyomuM 3aHsaTusm — 10 gacos.

3.2. IloAroToBKa K 3aHATHAM IO TPEATI0KESHHBIM JIJIs1 00CYKACHUS TEMaM, CaMOCTOATEIbHOE
M3YYCHUE PEKOMEHIIOBAaHHON y4eOHOH JHMTepaTyphbl, TOBTOPEHHE MaTepualia MPaKTHICCKUX
3aHITHIA, TOATOTOBKA AaKaJeMUYECKOW TPE3CHTAlld, MOArOTOBKA K Yy4YacTHIO B Oeceme 1o
cunenuainbaocTi — 30 yacoB. Uroro: 40 yaca.



Tema 4. OcHOBBI aKaIeMHY€CKOH KOMMYHHKAIMU

2.1. N3ydyeHune pekoMeHIyeMbIX Pa3aesioB JEKCUKH U MpodecCHOHaNbHBIX TeM. [loBTopeHune
M3Y4YEHHOT0 JIEKCUYECKOTO MaTepuaia Ha MPeAbIIYIINX 3aHITHIX MIPU MOATOTOBKE K MOCIEAYIOIINM
3aHaTusaM — 10 yacos.

2.2. TloaroroBka K 3aHATUSAM T1I0 TPEAJIOKEHHBIM MPOQPECCHOHATBHBIM  TEMaM,
CaMOCTOSITENIbHOE M3YYeHHE PEKOMEHIOBAaHHOW Y4YeOHOH IUTEepaTyphl, MOBTOPEHHE Marepuaia
NpakTU4YecKux 3aHsaTuii — 31 vacos. Mroro: 41 vacos.

6.3 Ilepeyens JuTepPaTypbI AJISl CAMOCTOSITEIbHOM PadoThI

1. benukoBa I'M., Burtkosckas JI.B. Pyccko-aHmmiickuil cnoBapb MaTeMaTHYECKHX
TEPMHUHOB. — CIIb.: PITMY, 2016. — 56 c.
http://elib.rshu.ru/files_books/pdf/rid_8debfd71af4e4c2f8f9b1f2da6lbfa78.pdf

2. Hopomkesnu U.C., Kypuenko H.M., MoposzoBa M.A., Ilerperxo B.M. Crnoaps-
MHUHHMYM JUI CTYACHTOB THAPOMETEOPOTIOTHYECKIX M IKOJIOTHYECKUX creruanbHocTei. — CII6.:
PITMY, 2018. - 60 c.
http://elib.rshu.ru/files_books/pdf/rid_adca985d32be4dc392a759ab708b889a.pdf

6.5 IlepeyeHb y4eOHO-MeTOAUYECKOTO oD0ecriedeH s JAJIsl CAMOCTOSITEJILHOI padoThI

Jlist obecrieueHrs CaMOCTOSITEIbHON padOThl MAaruCTPaHTOB 10 JUCIUTIINHE «HOCTpaHHBIHI
S3BIK» pa3paboTaHo yueOHO-METOANYECKOEe 0OecieueHIe B COCTABE:

1. KonTponbpHble 3amaHus Il MOATOTOBKH K MPOIEIypaM TEKYyIIero KOHTpods (1. 7.2
Paboueit mporpaMmsi).

2. TumoBble 3amaHus JJIsl TOATOTOBKA K TPOMEXYTOYHOW artectanuu (. 7.4 PabGoueit
IIPOrPaMMBl).

3. PexomeHqyeMble OCHOBHAsi, JONOJHHUTENBHAs JHUTEparypa, VHTepHeT-pecypchl U
crpaBo4HbIe cucTeMsl (1. 8, 9 PabGoueii mporpaMmer).

4, PabGoyass mporpaMma TPaKTHKHA pa3MelieHa B JJIEKTPOHHOW HH(POPMAIMOHHO-
00pa3oBarenbHOI cpeie OpraHu3altu.

7. ®OHJ] OUEHOYHBIX CPEJCTB JiJIs1 IPOBEJEHUS TEKYIIEN 1
IMTPOMEKYTOYHOMN ATTECTAIIMN OBYYAIOIIMXCS MO JACHUATLIAHE

7.1 Tloka3aTeji, KpUTEPUH U OLlCHUBAHHE KOMIIETEHUMII U HHINKATOPOB UX J0CTH/KEHUS B
npouecce TeKyuei arrecTaumn

WNudopmanust 0 copepkaHuu U Mpoleype TEKYIIero KOHTPOJIS YCIeBaeMOCTH, METOINKE
OLICHUBAaHMs 3HAHWUH, YMEHUN M HABBIKOB OOYyYaOLIETrocs B XOJE TEKYIIETro KOHTPOJS AOBOIATCS
HayyHO-Tienaroruueckumu padoruukamu ®I'BY «AAHUN» o cBenenns oOyyaromerocs Ha IepBoM
3aHATHU 110 JAaHHOW AMCLHAILINHE.

Texymuii KOHTPOIIb NIPEAYCMAaTPUBAET ITOATOTOBKY MaruCTPaHTOB K KaKJIOMY ayJUTOPHOMY
3aHATAIO. MAarucTpaHT JOJDKEH IIPUCYTCTBOBATh HA 3aHATHUAX, BBIIOJIHATE YIPAXHECHMS,
IIPENYCMOTPEHHBIE IIIAHOM, IOKa3bIBasi, YTO IOATOTOBUII BHEAYAUTOPHBIC 3aJaHUs, IIPEIACTABIATh
HEOOXOIMMBbIE MaTepHUalIbl, BBINOJIHATH MUCbMEHHbIE PA0OTHI U MPE3EHTALMK 10 TEMaM Kypca.

Texymmii KOHTPOIb MPOBOAMUTCA B (OpME YCTHOTO IMEPeBOJa, YCTHOTO pedepupoBaHUS
MHOS3BIUHBIX CIELUAIbHBIX TEKCTOB, KOHTPOJBHOM pPAabOThl M IMpe3eHTALUN MarucTpaHTOB IO
npodecCHOHAIBHBIM TEMaM.


http://elib.rshu.ru/files_books/pdf/rid_8debfd71af4e4c2f8f9b1f2da61bfa78.pdf
http://elib.rshu.ru/files_books/pdf/rid_adca985d32be4dc392a759ab708b889a.pdf

Tabmuma 5
IToxka3arejn, KpUTEPUH M OLICHUBAHME KOMIIETCHIMI 1 HHIMKATOPOB UX AOCTHKEHHA
B IIpolecce TeKYLeH arTecTaluuu

HanmeHoBanue Kon HNnaukaropbl Koabi 3YB (B DopmMBbI TEKYyLIET0 PesyabTaTsl
TEeMbI KOMIICTCHIIUHU KOMHeTeHHl/Iﬁ COOTB. C Ta0.JI. KOHTPOJIsA TEeKylero
(pa3nesa) 1) KOHTPOJIsI
OCHOBBI YK-4 VK-4.1. 3 (VK-4) YCTHBIH TEpeBO 3a4TeHo/
aKaJIeMHIeCKOit YK-4.2. V (YK-4) TEKCTa 1o HE 3a4TEHO
rpaMMaTHKH YK-4.3. B (VK-4) CIIEITUATBHOCTH
VK-4.4. KOHTPOJIbHAS
pabota
OcHOBBI YK-4 YK-4.1. 3 (YK-4) ycTHOE 3a4TeHO/
aKaJeMU4ecKon YK-4.2. VY (YK-4) pedepupoBanne HE 3a4TEHO
JICKCUKH. YK-4.3. B (YK-4) TEKCTa o
VK-4.4. CHCIHUATBHOCTH
YCTHBIA TNIEPEBOJ
TEKCTa o
CHENHATBHOCTH
OCHOBBI YK-4 VK-4.1. 3 (VK-4) aKaJeMuIecKas 3a4TeHO/
aKaJIeMHIeCKOit YK-4.2. V (YK-4) Ipe3eHTAIHS HE 3a4TEHO
KOMMYHHKAIHH. YK-4.3. B (VK-4)
YK-4.4.
Tabnuma 6
Kpurepun oueHuBanus
DopMBbI TeKyLIEro KpuTtepuu oueHuBaHusA
KOHTPOJIS
yCreBaeMOCTH
3auTeHo:

Conep:xaTejbHasi HIEHTHYHOCTh TEKCTA MepeBoaa. DKBUBAICHTHBINA IIEPEBOI;
cozepsKareNibHass MACHTUYHOCTh TEKCTa mepeBoda. IlorpemHocty mepeBoga He
HapYIIAfoT O0IIEro CMbICTa OPUTHHAIA.

Jlekcnueckue acneKThl epeBoaa. Vcnoap30BaHne SKBUBAIICHTOB TS IIEPEBOIA
30-100% Texcra

I'paMMaTHyecKHe AacCNMeKThl TepeBoAa. OKBHUBAJICHTHBIA  MEPEBOA  C
UCIIONIb30BaHIEM OCHOBHBIX TPaMMAaTHUECKUX KOHCTPYKIMH, XapaKTePHBIX IS
AKaJEMHYECKOTO CTHIIS PEYH.

Co0aronenre I36IKOBBIX HOPM W IIPABHJI SI3bIKA MePeBoAa: CTHIHCTHYECKAs

YCTHBIM TepeBoa HJIEHTHYHOCTh TeKcTa nepeBoaa. CoOmoaeHIe A3bIKOBBIX HOPM U TIPABHUIT SI3bIKA
TEKCTA IO nepeBona 1 30-100 % Tekcra.
CIIEINAIBHOCTH He 3aurteHo:

ConepxaTejbHasi WIEHTHYHOCTH TeKCTa TmepeBoaa. HeskBuBaneHTHas
nepeada cMbIcia:

OIIMOKY MPENCTABISIOT COO0H rpyboe HCKaKEHHUE COICPIKaHUsl OPUTHHATIA.
Jlekcuueckue acmeKThbl mepeBoaa. lcronn30BaHWE SKBHUBAJICHTOB MEHEE YeM
st 30% Tekcra

I'paMMaTHueckne acrekThl TiepeBoia. VIcmonb3oBaHHE  TpaMMaTHYECKHX
JKBUBAJIEHTOB MeHee dyeM Jyist 30% Tekcra

Co0aronenre I36IKOBBIX HOPM M TPABHUJI SI3bIKA MePeBoAa: CTHIHCTHYECKAS
HIEHTHYHOCTh TeKcTa nepeBoaa. CoOmroeHe A3bIKOBBIX HOPM U TIPABIT SI3bIKA
nepeBojia Mmeree uem st 30% Tekcra.

3auTeHo:

KonTponsHas pabora
P P I'pammarnyeckas cocrapasiiomas. 60% - 100 % npaBUIBHBIX OTBETOB.




DopMBbI TEKYLIETO
KOHTPOJIsI
ycIeBaeMoCTH

Kpurtepuu onieHuBaHus

Jlexcuueckas cocrapiasitomas. 60% - 100 % npaBUIIEHBIX OTBETOB.
HemoctHoe BocmpusiThe Tekera. 60% - 100 % mpaBUIBHBIX OTBETOB.
He 3auteno:

I'pammarnyeckas cocrapiasiiomas. 0% - 59% npaBUIBHEIX OTBETOB
Jlexcuueckasi cocrapiasitomas. 0% - 59% npaBUIBHBIX OTBETOB
HesoctHoe BocmpusiThe Tekera. 0% - 59% npaBuIbHBIX OTBETOB

YcTHoE
pedepupoBaHre TEKCTa
10 CIEIHATBLHOCTH

3auTeHo:

Tounas mepenaya ¢gakrtoB. Bes daktuueckas mHDopMaIys mepenaHa TOYHO |
0e3 nuckaxxeHud. FiMerorcss He3HAYUTEIbHbIE HCKAXKEHUS

HeiiTpaabHocTh H3J10:KeHHs (MO0 MpaBWIIbHAS TIepeaada aBTOPCKOM MTO3UIIHH).
W3noxenne HEUTpabHO JIMOO aBTOPCKAas OIICHKA OIUCHIBAEMBIX COOBITHI
nepegaHa npaBwiIbHO. VIMEIOTCS HE3HAUUTENbHBIE OTKIOHEHHU OT HEUTPaJIbHOrO
TOHA THOO HE3HAYUTEIHHBIC UCKAXKCHUS aBTOPCKOM ITO3UIINH.

CBSI3HOCTb M JIOTHYHOCTB. V3110)kKeHHE CBSI3HOE, CTPYKTYpa IPO3padHasi, IOTHKA
U3IIOKEHUS TPOCHEKUBaeTcs. V3nokeHHe B LEJIOM  CBSI3HOE, HMEIOTCS
HE3HAYUTENIbHbIE HEOCTATKUA U3JI0KEHUSI.

S3pikoBoe  odopmiieHme  (JIeKCHKa, TpaMMarWka, CTwWib).  JIeKcHKo-
rpaMMaTHYECKHE OMIMOKH OTCYTCTBYIOT, HMEIOTCSI TONBKO 1-2 HE3HAYHUTEIHHEBIC
rpaMMaTHYECKHE U CTHINCTHYSCKUE OMIHOKH.

He 3auTteHno:

Tounass mepenada ¢akrToB. VMmeercs Ooyiee 5 CEpbe3HBIX HCKAKECHUH WIIH
MHOXECTBO MEJIKHX.

HeiiTpajibHocTh U310KeHus (MO0 NpaBUIIbHAS TIepeada aBTOPCKOM TO3UITHH).
Hmerotest cephe3Hble OTKIOHEHUS / MICKaXEHHSI B HECKOIBKUX MeCTax. TekcT He
MOHST, TMOO aBTOPCKAas MO3MULMA UCKaKEHA JI0 HEY3HaBaeMOCTH

CBSI3HOCTb U JIOTHYHOCTh. B TEeKCTe MMEIOTCSl Cephe3HbIe HAPYIICHHS JOTUKA
M3JIOKCHUS, UTO CKa3bIBACTCA M HA MMOCTPOCHHUH TEKCTa; NMEIOTCS 3HAUUTEIbHBIC
HEJOYeThl NPU IOCTPOCHHMU BBICKA3bIBaHUNH. B Tekcre He mMpociexuBaeTcs
HUKaKOW JIOTHUKH, TEKCT OECCBS3€H WM MpencTaBisgeT co0oil Habop OTAENbHBIX
TIPEIIOKEHUH.

S3pikoBoe odopmieHue (JIeKCHKa, pamMMmarhka, cTuib). Wmeercss Oombiie 5
JCKCUKO-TPaMMATHYCCKUX HJIH CTHIMCTHYCCKUX OMIAOOK.

AxkanemMudeckast
Mpe3eHTaINs

3aureno: CoOmomeHsl mnpaBmwia OQOPMIICHHS TPE3CHTAIlMH; BO BpeMs
BBICTYIJICHHUSI CTYIEHT JIOTUYHO CTPOUT MOHOJIOTHUYECKOE BBICKAa3bIBAaHHE B
COOTBETCTBUM C KOMMYHUKAaTHBHON 3ajaueld, JIEKCHUYECKHE €OUHMLBI U
rpaMMaTHYECKHE CTPYKTYPHI HCIIONB3YIOTCSI YMECTHO M IPaKTHYECKH 0e3
omunOO0K, peyb TOHATHA M (POHETHUYECKU IpaMOTHA, COOTOmaeTcss HeOOXOMMMBIHA
00beM BBICKa3bIBaHUS, COJAEP)KAHHE BBICTYIUICHUA HOCHT 3aHUMAaTeIbHbINA
xapakrep. YeTko chopMyITupoBaH Hay4dHBIH BOMPOC, HA KOTOPBIH JTOKIAIIMK
IPEACTaBIsACT OOOCHOBAHHBIN OTBET B KOHIIE BBICTYIUICHUS. SICHO IpeacTaBieHa
CTPYKTYpa JAOKJIaAa, K& bl pparMeHT KOTOPOTO TIOATAITHO PACKPBIBACTCS B XO/IE
BEICTYIUICHHMSA.  OJNEMEHTHl JOKJaJa COCIMHEHBl CEMAHTHUYCCKUMH  WIIH
rpaMMaTHdecKuMu  cBs3sMH.  Jlokmagumk — o0oOmaer © — aHaIU3UpPYyeT
OpPE/ACTaBICHHYI0  HMHGOpPMAIMIO B KOHIE  Jokiama.  lIpe3eHrars,
COTPOBOXKAAIOIIAsA JOKIaA, CHOCOOCTBYeT Oojiee TONHOMY TIOHUMAaHHUIO H
BOCHIIPUATHIO €ro cojaepkanusi. Craiipl HE TMeperpykeHsl HH(pOpMaiueH,
rpaduuecKoe MPEACTABICHUE IOAYCPKUBACT HAUOOJCe 3HAYMMBIC ITO3HIIUH
BBICTYILJICHUS;

He 3auteno: IIpeseHTtamuss odopmiieHa C ONIMOKaMH, KOJHUYECTBO CIIAiI0B
HEJIOCTATOYHO, CTYICHT CTPOHT MOHOJIOTHYECKOE BHICKA3hIBAHHE B COOTBETCTBHHU




DopMBbI TEKYLIETO Kpurtepuu onieHuBaHus
KOHTPOJIsI
ycIeBaeMoCTH

C KOMMYHUKAaTUBHOM 3asaueil, HO BBICKa3bIBAaHWE HE BCErJa JIOTMYHO, UMEIOTCS
MOBTOPBI, MPHUCYTCTBYIOT JIEKCUYECKHE, TPaMMaTHYECKUE M CTUIMCTUYECKHE
OMOKYM, 3aTpPyAHSIOIIME TIOHUMaHHWEe, B 1LEJOM pedb MOHATHA, O00beM
BBICKA3bIBaHUS 3HAYUTENBHO HIKE TpeOdyemoro. Hedetko chopmynmupoBan
HayyHbBId BONpOC, Ha KOTOPBIA [JOKJIAAUUK IIPEACTaBIsIeT HE BIIOJHE
000CHOBaHHBIf OTBET B KOHLE BBICTYIUIEHHA. HeT 4YeTkol XapaKTepUCTHUKH
CTPYKTYpY AOKJazna, Kaxaas TeMa HEJOCTAaTOYHO IOJIHO M IIOCIEN0BaTENIbHO
PacKpbIBaeTCsl B XOJ€ BBICTYIUIEHHUS. DJIEMEHTH! JOKJIala HE BCErla COEAMHEHBI
CEMAaHTHYCCKIMH WM TPaMMAaTHYeCKUMH CBs3sMu. Jlokimamuuk oOoOmaer u
aHATM3UPYET MPEACTABICHHYI0 MH(QOPMAIMIO B KOHIIE JOKIana. [Ipe3eHrarus,
COIIPOBOXKIAIONIAs OKJIAd, HE CIOCOOCTBYyeT Oojiee MOJHOMY IOHMMAHHIO U
BOCHPUSATHIO ero coaepkanusi. Craiinpl B 00JIbIIMHCTBE CBOEM WM TIEpErpyKEHbI
uHpopManyel, WM Mano uHPOpPMATUBHEL. [padudeckoe mpeacTaBieHHe YaIle
BCETO HE MOAYEPKUBACT HanbOoJIee 3HAYNMBbIEC TO3UITHH.

7.2. KoHTpoOJIbHBIE 3aJaHUsl VISl TEKYIIeH aTTecTaluu

1) IIpumepHbIe 3a1aHNSI KOHTPOJIBHO PadoThI MO Kypcy
. Academic vocabulary

From the following list, use each word only once to complete the sentences below. Remember that in
the case of nouns and verbs you may need to change the form of the word:

arbitrary (adj) ¢ assign(v) ¢ context(n) e criterion(n) ¢ data(n)
denote (v) <« devise(v) ¢ formulate (v) < ignore(v) ¢ impact(n)
similar (adj) e+ summary(n) <« wusage(n) <« vertical (adj)

1 Although not exactly identical, the two books are so to each other that an
author must have copied much of his book from the other.

2. The Prime Minister set up a committee of financial experts to help him discuss and
new policies.
3. It is often possible to guess the meaning of a word from the other words around it — that is
to say,
the
4. In 1990, the British researcher Tim Berners-Lee the first browser, and so

paved the way for the development of the World Wide Web.

5. In newspapers, the layout of the columns is , While the rows run across the
page horizontally.

6. The rise in the number of deaths from AIDS has had a very significant on




12.

13.

14.

said it.

people's sexual behaviour.

The of drugs has increased significantly in spite of more severe penalties
such as longer prison sentences.

Students should not try to write down everything they hear in a lecture, but just make a
of the most important points.

We use the term "class" to groups of people who share the same
social and economic backgrounds.

10. In one case, a murderer may go to prison for life, while another may be set free: it all
seems
completely

11. The new journalist was to researching the election promises of the main

political parties.

Before we can judge a government's success, we have to decide the , such
as unemployment, defence or taxation.

One student failed because he completely the instructions on the
paper, although they appeared at the top of every page.

Market researchers use such as people’s spending patterns as well
as information about age and occupation to decide on the most effective marketing strategies.

Fill in the gaps

1. We madea of our baby’s first sounds to send to my parents.

2. It can be quite difficult to really define ideas, such as love or friendship.

3. Agroup of volunteers to the needs of the victims of the tornado.

4. 1 she was talking to me because she was looking right at me when she

5. The boss him to send the report out as soon as it was complete.

6. There has been a noticeable drop in the of crime in the area since the
teen centre opened up.

7. Ifweall , I’m sure we’ll be able to finish on time.

8. Reading in English is an excellent way to your vocabulary.

Make corresponding nouns and use in sentences of your own
to consider

to cause

to occur

to raise

to contribute

to sign



to think

to appreciate
to determine
to define

Il. Grammar skills
Fill in the gaps using an infinitive in each sentence

1. The exceptions are too numerous for any rule
................................................................. (naiitn)
e in turn each of the predecessors of Byzantine culture and

to give a general outline of their contributions is the aim of this chapter. (paccmorpers)
3. These conditions are sufficiently homogenous ..............ccooiiiiiiiii i,
together. (uToObI paccmaTpuBarh)

4. i i ClVI OFFiCals, sChools were established in the capital
and provinces (it TOATOTOBKH).

5. The people of thisS PEriod ........ocvi i e e e e, to have
lived in huts of skins, leaving no traces behind them. (mpennonoxurensHO)

6. He was the first English painter ...............cccevii i i ii i i e e en. 0. DS Native
countryside so sincerely. (koTopslii onucain)

7. This work was compiled by a learned monk, who

.................................................................... to have lived at the end of the 14™ century
(mo-BuAMMOMY).

8. There is a diStiNCtioN .......cooveiie i i e oo DETWEEN these
classes of words. (cnemyer cienars)
O e i eieiieiieiieiiei oo dialectical varieties are as numerous here as

anywhere else in the peninsula. (mpexme Bcero)

Gerund, infinitive and present participle

) Put the verbs in brackets into the correct forms. Note that sometimes a bare infinitive
will be required.

I was lonely at first, the old man admitted, 'but after a time | got

used to (Ilve) alone and even got (like) it.' _

) Before trains were invented people used (travel) on horseback or in
stage coaches. It used (take) a stage coach three days (go) from
London to Bath. ) _

o I meant (buy) an evening paper but | didn't see anyone (sell) them.

) Tom: | want (catch) the 7 a.m. train tomorrow.
Ann: But that means (get) up at 6.00; and you're not very good at
(get) up early, are you? _ )

) He accepted the cut in salary without complaint because he was
afraid (complaln) He was afraid of (lose) his job. _ )

She remembers part of her childhood quite clearly. She remembers
ggo) to_ school for the first time and (be) frightened and (put) her
inger in her mouth. And she remembers her teacher (tell) her (take)
it out.

remember (lock) the car? -
No, | dldnt Id better (go) back and (do) it now.
e Next time we go ﬁhouse hunt), remember (ask) the agent for clear
directions. | wasted hours (look) for the last house.

. Tom: Let's (go) for a swim.



Ann:  I'm  not particularly keen on  (swim). What about (go) for a
drive instead?

I11. Language comprehension

Fill in the gaps
Unpopular government policies have gIVEN ..o to
widespread public discontent.
A grounds B rise C cause D consequence
Having never been in the country Dbefore, 1 was initially confused
............................................................ the value of each coin.
Aas for B as with C as of D as to
She went into the bathroom and ..., her face with cold water
to wake herself up.
A splashed B scattered  C squirted D sprinkled
Much of what he said had little ..........ccoccooviiiiie to the issue we were
discussing.
A concern B accordance C relevance D involvement
His personal problems seem to have been .........coccovieieece s, him from his
work lately.
A disrupting B disturbing C distracting D dispersing
It was a terrible experience and it UL NEr ..., flying forever.
A off B out C away D through
He is a bad-tempered man who has a tendency to ........cccocoveiiiiiiiiininniene e his
problems out on other people.
Alet B put C get D take

2) TlpuMepHBIii TEKCT IJIsl YCTHOTO NMEPEBO/ia MO CNeNHaJIbHOCTH M0 KypCy

Aside from the gases in the atmosphere, clouds also play a major role in climate. By reflecting
solar radiation away from Earth, some clouds act to cool the planet while other types of clouds warm
the Earth by trapping heat near the surface. For years, it was not known whether clouds warmed or
cooled the planet. Recent satellite measurements have proved that clouds exert an overall powerful
cooling effect on the Earth. In some areas, however, such as tropics, heavy clouds may markedly
warm the regional climate.

Clouds and greenhouse gases fit into a global radiation budget that must balance itself. Most
of the incoming solar radiation is received in tropical regions while very little is received in polar
regions especially during winter months. Over time, energy absorbed near the equator spreads to the
colder regions of the globe, carried by winds in the atmosphere and by currents in the ocean. The
small amount of energy retained in the atmosphere is redistributed, basically, by winds.

The Earth contains three essential parts, the lithosphere, the hydrosphere and the atmosphere.
The atmosphere or air sphere covers the whole of the surface of the Earth. The air consists principally
of two gases — oxygen and nitrogen. There are about 21 parts of oxygen and 79 parts of nitrogen.
Men and nearly all animals must have oxygen or they cannot live. In the atmosphere there is also a
little carbon dioxide. Now trees, grass cannot live without carbon dioxide. Besides oxygen, nitrogen
and carbon dioxide there are small quantities of other gases in the atmosphere; by far the most
important is moisture or water vapour



The atmosphere is a mixture of gases which surround the whole Earth. We do not know how
high the atmosphere extends. Scientists believe that there is some air at the height of 200 miles. All
the lower atmosphere contains some water vapour. The main source of the water vapour is the ocean,
which covers 71 % of the area of the Earth. Other sources are smaller bodies of water, such as rivers
and lakes. Winds carry water vapour from the ocean to the land. Rivers and glaciers return it in liquid
or solid form to the ocean.

IIpn mnpoBeneHMM TEKyLIEM W IPOMEKYTOYHOM arrecTalid MOIYT MCIIOJIb30BaThCsA
aAyTEHTUYHBIC TEKCTHI U3 MOHOTpad Ui, HAyYHBIX CTaTeH, N3y4aeMbIX CTYJICHTAMHU B XOJI€ 3aHATHH U
HAay4YHBIX UCCIICIOBAHUMN.

3) IIpuMepHBIii TEKCT ISl YCTHOro pedepupoOBaHMA MO CENHATBLHOCTH M0 KypCy

Hurricanes — or tropical cyclones or typhoons as they are also known — are powered by heat
and moisture. They form near the equator over seas with a surface temperature of at least 27 °C (81
°F), a condition that occurs during the late summer "hurricane season”. A rising column of warm,
moist air forms a spiral system of clouds and warm winds. Technically, a hurricane exists when these
winds reach a speed exceeding 32.7 meters a second (about 73 miles an hour).

Hurricanes drift slowly westward at about 16 kph (10 mph) with the trade winds and also veer
away from the equator. When they leave the tropics or strike the land, they dissipate, cut off from the
warm seas that are the source of their energy. They are carefully monitored by weather satellites.

Air is a fluid and is forced to flow from regions of high pressure. How fast the air will flow
depends on the size of the difference in the pressure centers and the distance separating them. A large
difference in pressure over a short distance means a steep gradient of pressure on the weather map,
while a small difference over a larger distance implies a much weaker gradient. Air is rather like
water flowing down a slope — the steeper the slope, the faster the water flows but over the Earth's
surface, of course, the air flows horizontally, not down a slope. Areas on a weather map with a rapid
change of pressure across the surface will have air flowing rapidly (strong winds) while places with
weak pressure gradients will see lighter winds.

Two rather dry monsoon seasons severely limit the total amount of rainfall normally received
in East Africa. This is illustrated by the fact that almost two fifth of the region has annual means
below 800 mm, and only a few isolated mountainous areas reach values exceeding 2000 mm per
year. Compared to other equatorial monsoon regions, like Indonesia, where most areas have annual
means over 2500 mm or even more, East Af-rica is a very dry region indeed.

However, because of the high variability from year to year, annual means give a rather poor
representa-tion of actual weather conditions. Especially if rainfall is considered in relation to
agriculture, annual means have little significance.

IIpn mnpoBeneHMM TEKyLIEM W IMPOMEKYTOYHOM arrecTalid MOIYT MCIIOJIb30BaThCA
ayTEHTHYHBIE TEKCThI U3 MOHOTrpa(uii, HAy4HbIX CTaTel, U3y4aeMbIX CTyACHTAaMH B XOZI€ 3aHATUH U
Hay4YHBIX UCCIICIOBAHUMN.

4) TIpuMepHasi TEMATHKA aKaJeMHYeCKOH Mpe3eHTAlHH M0 KypCy
Academic Profile and Research Focus

Research Proposal

Conference Paper on Academic Issue

Specialist Literature Overview

Creative Thinking Fundamentals



Academic’s Essential Skills

Major Factors Affecting Human Behavior
Motivation Strategies

Efficient Communication Principles

Hard Subjects vs Soft Subjects

Major Research Techniques

7.3 Iloka3aTeji, KpUTEPUH U OLlCHUBAHHE KOMIIETEHUMII U HHINKATOPOB UX J0CTH/KEHUS B
npouecce NPoOMeKyTOYHOM aTTeCTALMU

dopma MpoMeKYTOUHOI aTTecTanuu B 1 1 2 cemecTpax mpeacraiser co00il mucbMeHHO-
YCTHBIN IK3aMeH, KOTOPbI COCTOUT U3 HECKOJIBKHX ATAIlOB:

1. IlucbMeHHBIN TIEpEeBO TEKCTa 1O CHEIMAILHOCTH cO cloBapeM. Bpemst — 1 wac. O6beMm
nepeBoaa: 2500 meyaTHBIX 3HAKOB.

2. YcrHOoe pedepupoBaHHe TEKCTa MO CHENHATBLHOCTH, 0€3 clioBaps. SI3bIK M3IO0XKEHUS —
anrmiickuid. Bpems nmoaroroBku — 5 mud. O6bem: 1500 neyaTHBIX 3HAKOB.

3. becena Ha anrmumiickoM si3bike mo Temam: Academic Profile (1,2 cemectp), Research
Interests (1,2 cemectp), Conference Paper (2 cemectp).

4. TIpoBeneHue JeKCUKO-TPaMMaTHYECKOTO TECTUPOBAHUSI.

[lepen sx3ameHOM NPOBOJIUTCA KOHCYJbTAllMs, HA KOTOPOHM IpEnoaaBaTellb OTBEYaeT Ha
BOIIPOCHI MAarCTPAHTOB.

OTBeT MarucTpaHTa Ha 53K3aMEHE I03BOJIAET IPOJEMOHCTPUPOBATH YPOBEHb OCBOECHUS
3HAHWM, MOTYYCHHBIX MAruCTPAaHTOM B IMPOLECCE M3YYCHHS AUCIUILTUHBL, U CHOPMUPOBAHHOCTH
YMEHHI U HaBBIKOB.

B pesynprare mpOMEKYTOUHOIO KOHTPOJISI 3HAHUU CTYIEHTHI IOJY4arOT OLIEHKY IO
JUCLHUTIIINHE.

Tabmuua 7
Iloka3aresn, KpUTEepUH U OLCHUBAHNE KOMIIETEHUMH M HHANKATOPOB MX 0CTHKECHHS B
npouecce NPoOMeKyTOYHON aTTeCTALUMN

®opma Koasl | MnaukaTopsl Koas! Kpurepuu onennBanus Ounenka

NPOMEKYTOYHOM KoMmmeT | kKommereHuuii (¢ | 3YB (s

aTTeCTALMH/BHT eHIUH coomeemcmeuu ¢ | coomeemc

NPOMEKYTOYHOM Tabnuyeri 1) meuu ¢

aTrecTaluu Tabauyeri
1)

Ox3amedn 1 n 2 YK-4 YK-4.1. 3(YK-4) | 1. Tekct mepeBeneH MOJHOCTHIO | OTIHYHO

ceMecTpoB/ YK-4.2. YV (YK-4) | (100 % ob6bema) 3a ykaszanHoe | 100-81

IMucsmeHHO- YK-4.3. B (YK-4) | Bpemsi, 06e3  HCKaKCHUH U

YCTHBIN: VK-4.4. HETOYHOCTEH. AJIEKBaTHOCTH

IInceMeHHbIH repeBoja JIOCTUTAETCS 3a CYeT

[IEpPEBOJ, YCTHOE [IPaBUWJILHOTO MOHUMAaHMS

pedepupoBanue, COEpKAHUS TEKCTa HAa OCHOBE

cobecemoBaHue, 3HAHUS JIEKCUKO-TPAMMAaTHYECKUX

TECTUPOBAaHUE [paBWJl, BIAJEHUS OCHOBaMH
HepeBo/a, [IPABUILHOTO
NIOHVMAHMsI CHHTAaKCHUYECKOH U
CTUJIMCTUYECKOU CTPYKTYpPBI
HIPENIOKEHUS, BIIA/ICHUS
TEPMUHOJIOTUYECKOU CUCTEMBI 110
n30paHHOH CIIEUATBHOCTH.
[lepeBon IOKEH
COOTBETCTBOBATh craHjapraMm




®opma
NPOMEKYTOYHOM
aTTecTaluH/BH]
NPOMEKYTOYHOM
aTTecTallUH

Koapl
KOMIIEeT
eHIuit

HMuaukaropsl
KOMIeTeHIHH (8
coomeememeuu ¢
Tabnuyei 1)

Koapl
3YB (s
coomegemc
meuu ¢
Tabauyeii
1)

Kpurepuu onennBanus

Onenka

PYCCKOTO SI3bIKa, HO JTOITYCKAIOTCA
HeOoNpIINEe  JICKCHYECKHE |
CTUIIHCTHYECKHE HeTOYHOCTH (1-
2);

2. OK3aMeHyeMbIi
JIEMOHCTPUPYET HOpPMAaTHUBHOE
MIPOU3HOIICHUE U OETIOCTh pPeuH,
YMEET TIPHUACPKUBATHCA CXEMBI
pedepaTuBHOTO U3TI0KEHUS
COJICpKAHUS TPEABABICHHOTO
TEKCTa, yMEEeT JIOTHYECKH W
TpaMOTHO TIepeAaTh COAEpKaHHe
MIPOYUTAHHOTO, UCTIONTB3YA
pasHOOOpa3Hyl0  JIEKCHKYy  H|
rpaMMaTHIecKue CTPYKTYPHI,
BIaJeeT HaBBIKAMH OOOOIICHHUS,
BbIJICJICHUS TJIaBHOT'O )44
BbIpAXXCHUSA CBOCIr0 MHCHUS.
Bo3MoxxHbI OTZEIbHEIE
HE3HAYUTCIIbHBIC OIHI/I6KI/I, HEC
HapYIIAIOIIXC JIOTUKY H3JIOKCHHUS,
3. DKk3aMeHyeMbIi HaeT
JIOTHYECKA 000CHOBaHHEIC
pa3BepHYTHIC OTBETHI Ha BOIPOCHI
9K3aMEHATOpa, yMEET BBIPAXKATH
CBOC MHEHHE, MIPUBOIIUTH
OpUMEPHl I WLTIOCTPAINH
CBOCTO  OTBETa,  HCIOJB3YET
pasHooOpa3Hble CHHTAKCUYECKUE
CTPYKTYpPBI, BJIAJICET IpPaBUIAMU
rpaMMaTuKu, oGnauaeT IMHUPOKHUM
CIIEKTPOM  OOIIEPA3rOBOPHON |
po¢eCCHOHANEHON JIEKCUKH; ITPH
OTBETC BO3MOXKHBI ~ OT/ICJIBHEIC
MEJIKHE OIMUOKH, B IICIIOM, HE
HapYIIAIOIIAE KOMMYHHKAIIHUIO.

4. 81% - 100 % mpaBUIBHBIX
OTBETOB.

1. Tekcr mepeBesieH IMOJIHOCTHIO
(100 % oObema) 3a yka3aHHOE
BpeMsi,  IIEPEBOJ  BBINOJHEH
aJIeKBATHO, SK3aMEHYEMBII
JIEMOHCTPUPYET 3HaHHE
CHUHTaKCHYeCKHX M  JICKCHUKO-
rpaMMaTHYeCKUX  MpaBHI, HO
JIOIyCKaeT HETOYHOCTH
nekcuueckoro (He Oomee 2-1)
w/wnn - crunuctadeckoro  (1-2)
Xapakrepa;

Xopoio
80-61




®opma
NPOMEKYTOYHOM
aTTecTaluH/BH]
NPOMEKYTOYHOM
aTTecTallUH

Koapl
KOMIIEeT
eHIuit

HMuaukaropsl
KOMIeTeHIHH (8
coomeememeuu ¢
Tabnuyei 1)

Koapl
3YB (s
coomegemc
meuu ¢
Tabauyeii
1)

Kpurepuu onennBanus

Onenka

2. DK3aMeHYEMBbIi
JIEMOHCTPUPYET JIOCTaTO4YHO
XOpolIee NPOU3HOIICHNE, yMEET
cleioBaTh cxeMe pedepaTHBHOTO
W3JIOKEHUS] TEKCTa, BBIAEIATH
IJIaBHOE, JIOTHYECKH W TPaMOTHO
nepeaaBaTh coJiepKaHue
MPOYUTAHHOTO, HO WCIBITHIBAET
TPYAHOCTH co
CTPYKTYPUPOBAHUEM IOJTYYEHHOH
nHpOPMAITII (0606menmeM,
BBIBOJIAMH, BBICKa3bIBAaHHEM
COOCTBEHHOTO MHEHU).
Jomyckaer HEKOTOPBIE
rpaMMaTHIeCKUe WIn
JICKCUYECKHE OIMIMOKH, KOTOpbIE
HE HapyIIAOT JIOTUKY M3JI0XKEHHUS,
HO BIIMSIOT Ha OErIOCTh peuu;

3. OK3aMeHyeMbli JlaeT
pa3BepHYyTbIe OTBETHI HE Ha BCE
BOIPOCHI 9K3aMeHaropa,
JIEMOHCTPUPYS yMeHHe
MONB30BAaThCS  Pa3HOOOpa3HBIMU
rpaMMaTHYECKUMH CTPYKTypaMmu
u 00111epa3roBOPHOM u
po(eCCHOHANIEHON JIEKCUKOH B
paMKax OCBOEHHOI NpOrpammsl.
IIpu »53TOM »53K3aMEHyeMbI He
BJajJeeT HaBBIKAMHU
CTPYKTYPUPOBAHUS CBOMX
BBICKa3bIBaHUH, HE yMeeT
COTIPOBOXKAATh ux
COOTBETCTBYIOIIUMU TIPUMEPAMH,
CCBUIKAMH H T.J.; IIPA OTBETE MM
JOIYCKAalOTCSl ~ OMMOKM  IpH
MIOCTPOCHUH CIIOKHBIX pEUeBbIC
KOHCTPYKIIMH ~ 0e3  HapyleHHs
KOMMYHHKAIUU B LIEJIOM.

4. 61% - 80 % mnpaBUIBHBIX
OTBETOB.

1. TIlepeBoxm  BBHINOJHEH B
yKa3aHHOE BpeMs M €ro o0beMm
coctaBisier He MeHee 75 %
obbeMa OpHUTHHAIA, WA
BBITIONTHEH B TI0JTHOM oObeme (100
%), HO TIpU TIEPEBOJIE JOMYIICHBI
nckaxenus (1-2), HerouHoctu (He
6oee 3) B pe3ynbTare
rpaMMaTHYeCKUX  OMMOOK U
BBIOOpA JICKCHYECKOTO 3HAYCHHS

Y nosnerBopu
TEJIBHO
60-41




®opma
NPOMEKYTOYHOM
aTTecTaluH/BH]
NPOMEKYTOYHOM
aTTecTallUH

Koapl
KOMIIEeT
eHIuit

HMuaukaropsl
KOMIeTeHIHH (8
coomeememeuu ¢
Tabnuyei 1)

Koapl
3YB (s
coomegemc
meuu ¢
Tabauyeii
1)

Kpurepuu onennBanus

Onenka

CIOB, He
KOHTEKCTY;
2.  Dk3aMeHyeMbIi  JOIyCKaeT
3aMETHBIE OILINOKH B
IIPOU3HOULICHUH, HE CIETyeT CXeMe
pedeparrBHOTO U3JI0KEHUS
TEKCTa/CTaThH, HO MOXET
aJIeKBAaTHO TIepelaTh COAEp:KaHHe
MIPOYUTAHHOTIO, UCTIONB3YS
OTpPaHMYEHHBIN 3amac JIEKCUKH, U
JIOITyCKast rpaMMaTHIeCKHe
OIMOKH, He HAPYIIAIOIINE JIOTHKY
H3JI0KEHHUSL.

3. DK3aMeHyeMbI JaeT Kparkue
OTBETHI, HCHBITHIBACT TPYAHOCTH
IIpU TPHUBEJCHUHM TPHUMEPOB H
BBICKa3BbIBAaHHU COOCTBEHHOTO
MHEHHUS, HCTIONIB3YET
OTHOCHTEJIBHO HPOCTHIEC JICKCHKO-
rpaMMaTH4ecKue CpeICcTBa,
JIEMOHCTPUPYET  OrpPaHUYEHHbIN
3amac JICKCHKH, JIOITyCKAeT
OIMOKW TPH  HCIOJNB30BaHUH
JICKCUKO-TPaMMAaTHICCKUX
CTPYKTYD, MIPETIATCTBYIOIIHX
MTOJTHOIICHHOW KOMMYHUKAITHH.

4. 41% - 60 % npaBUIBHBIX
OTBETOB.

COOTBETCTBYIOIIETO

1. TekcT mepeBefieH B yKa3aHHOE
BpeMsi M €ro 00beM COCTaBISEeT
MeHee 75 % oObeMa opurHHAmA,
WJIN BBITIOJIHEH B MOJHOM 00beMe,
HO JONYIICHHI HCKaxkeHHs (3 u
Oonee), HeTouHOCTH (4 1 OoJee) B
pe3yibTare rpaMMaTH4eCKHX
OIUOOK M BHIOOpA JICKCHUYECKOTO
3HAUCHHUS CJIOB HE
COOTBETCTBYIOILIETO KOHTEKCTY, a
TaKKe CTHJIMCTHYICCKHE
HetoyHoctH (2-3);

2. DOk3aMeHyeMbI Jomyckaer
rpyObIe OIINOKH B
MIPOU3HOIICHUH, HE CIICTyET CXeME
pedepaTuBHOTO H3JIOKEHUS
TEKCTa, HE MOXET aJeKBaTHO
nepenarb cofiepKaHue
MPOYUTAHHOTO, JOMYCKAET MHOTO
JICKCUYECKUX WM TPAMMATHYCCKHUX
OmKO0K, HAPYHIAIOUIUX JIOTHUKY
U3JI0KCHMS,

He
YAOBIETBOPUT
€JIbHO

40 u meHee




®opma Koasl | MnaukaTopsl Koas! Kpurepuu onennBanus Ounenka
TPOMEIKY TOYHOI Kommer | kommerenmuii (6 | 3YB (s

aTTecTAlMU/BU/L eHUMil | coomeemcmeuu ¢ | coomeemc
NPOMEKYTOYHOM Tabnuyei 1) meuu ¢
aTrecTaluu Tabauyeri
1)

3. DK3aMeHYEeMBIi JaeT

HEA/IeKBaTHBIE OTBETHI,

JIEMOHCTPUPYET HEIIOHMMAaHHE

BOIIPOCOB DK3aMEHAaTopa,

HCTIONIb3YEeT OrPaHUYEHHBIN 3amac

CJIOB, JIOIyCKaeT GombInoe

KOJIMYECTBO JICKCHYCCKUX u
rpaMMaTU4C€CKUX OIHI/I6OK, 4qTo

MIPUBOIUT K HapyIICHHUIO
KOMMYHUKaIH.

4. 40 % u MeHee NPaBHIbHBIX
OTBETOB.

Pesynbrarel caauM MPOMEKYTOYHON aTTECTAllMU 10 HAMpPaBICHHUSM IOATOTOBKH YPOBHS
MarucTparypbl OIEHUBAIOTCS M0 MATHOAIBHON CUCTEME OIICHKH COIIACHO TaOJuIe 7a, OCHOBHBIC
KPUTEPHH OICHKH 3HAHUH B MATHOAILHON (CTAHIAPTHON) CHCTEME IS TPOrpaMM MaruCTparypsl
MpeCTaBICHEI B Tabmwie 70.

Tabmuma 7a
Cucrema OneHKH 3HAHMI 00y4YarOIIMXCst
MaTudasibHas (CTAaHIAPTHASA) cCHCTEMa BunapHasi cuctemMa OLeHKH
5 (oTIM4YHO) 3a4TEHO
4 (xoporro)
3 (yAOBIETBOPUTEIHHO)
2 (HeYIOBJIETBOPHUTEIHHO) HE 3a4TEHO
Tabmuna 70
Cucrema OneHKH 3HAHMI 00y4YarOIIMXCst
IsarubanabHas Kpurtepuu oneHuBanus
(cTangapTHas) cucTEeMa
5 (oTm4HO) CTaBUTCS B TOM Clly4ae, Korja 00y4aronuicst yCBOMII BECh IPOTPaMMHBIH Marepual,

W3JaracT U3y4eHHBIN MaTepua JIOTHYHO, CIOCOOCH IPUMEHSThH TCOPHIO IIPH PEIICHUHN
NPaKTHYECKUX 33124, HE MCIBITHIBACT 3aTPyAHEHUI NPU OTBETE Ha JOMOJHUTEIbHbBIE
BOIIPOCHI IK3aMEHATOPA, JEMOHCTPUPYET CaMOCTOSTENbHOCTh MBIIIUICHHS. YPOBEHb
c(hopMHPOBAHHOCTH KOMIIETCHIIMHA — MOBBIIIICHHBIN (TIPOJIBUHYTHIN )

4 (xoporro) CTaBUTCS, €CJIM O0YJAIOIIUKCS TBEPIO 3HAET MPOTPAMMHBINA MaTepua, He TOMyCKaeT
CYIIECTBEHHBIX HETOYHOCTEH NP OTBETE HA JOMOJHHUTENLHBIE BOIPOCHI, CIIOCOOCH
BBITIOJIHATD MMPAKTHYECKHE 3aaHHsl, JEMOHCTPUPYET JOCTaTOYHO BBICOKHII YPOBEHb
c(hOpMHUPOBAHHOCTH KOMIICTEHIIMN, OJJHAKO 3aTPYIHIETCS 1aTh COOCTBEHHYIO OIICHKY
PAacCKpBIBAEMOMY BOIIPOCY. YpOBEHb C(POPMUPOBAHHOCTH KOMIICTECHIIMNA — BEICOKHUIT

3 (YOOBJIETBOPUTEIHHO) CTaBUTCS, €CJIM OOyYaroLIMHCS OCBOMJ TOJBKO OCHOBHOI MaTepuali, HO He 3HaeT
OTAEIBbHBIX JeTalel, AOIMYCKAaeT HETOYHOCTH, HApyIIAaeT MOCIEIO0BaTE€IbHOCTh B
W3JI0OKEHUH MPOTPAMMHOIO Marepualia ¥ MCIBITHIBAET 3aTPYJHEHHS B BBHIIIOJIHEHUH
NPaKTHYECKHX 3a1aHNH. YpoBeHb CPOPMHUPOBAHHOCTH KOMIIETCHIIMI — ITOPOTOBBIH

2 (HEyIOBIETBOPUTEIHHO) CTaBUTCS, €CIIM OOYYalOMIMWCS HE 3HACT OTACIBHBIX PAa3lICNIOB MPOrPAMMHOIO
Marepuaia, JOMYyCKAaeT CYIICCTBEHHBIC OIIMOKH, C OONBIIMMHU 3aTPYIHCHUSIMHU
BBITIOJHACT TPAKTHYECCKUE 3aJaHus, 3a7add. YPOBEHb C(HOPMHPOBAHHOCTH
KOMIETEHIIUH — KPUTHUYECKUU




Pe3ynbpTaThl MPOMEKYTOYHOTO KOHTPOJISI IO JUCIHILINHE, BBIPAKEHHBIC B MATHOATUIBHOMN
CUCTEME «OTJIIMYHOY, «XOPOILIO0Y, «yTOBIETBOPUTEIHHOY MMOKA3BIBAIOT YPOBEHb CPOPMUPOBAHHOCTH
y 00ydYaromerocss KOMIIETCHIMHA IO JUCIHILIMHE B COOTBETCTBHM C KapTaMH KOMIIETCHLUH
OCHOBHOM TpodeccHOHaIbHON 00pa3oBaTeNbHOM MPOTPAMMBI  BBICIIETO O00pa3oBaHUS —
nporpaMMbl ~ Maructparypbl  «MeTteoposorus» 1o  HampasieHuto noarotoBku  05.04.04
I'mapomeTeopomorusi.

Pe3ynbTaThl MPOMEKYTOYHOTO KOHTPOJISI MO JUCIHUILIAHE, BBIPAKEHHBIC B MATHOATUIBHON
CUCTEME «HEYIOBJETBOPUTEIIHO» TIOKa3bIBAIOT HECPOPMHUPOBAHHOCTH Yy 00ydYaromierocs
KOMIIETEHIIM [0 JHUCHUIUIMHE B COOTBETCTBMM € KapTaMM KOMIETEHLIMHA OCHOBHOM
npodecCHOHAIBHONW  00pa30BaTebHON MPOTPaMMBbl  BBICIIETO OOpa30BaHUs — MPOTPaAMMBbI
Maructparypsl «Mereoposiorus» o HanpasiieHuto noarotosku 05.04.04 I'magpomereoposorusi.

7. TunoBble 3a1aHUs K MPOMEKYTOUYHOI aTTeCTALMU
IIpuMepHBIii TEKCT AJ51 NMCbMEHHOT0 NMEPeBo/Ia M0 CNeHAJTbHOCTH

The Global Hydrological Cycle

There are several important pathways of matter within the Earth— Atmosphere system,
including rock erosion and deposition, and various nutrient systems. However, the passage of water,
in its vapour, liquid and solid states, is unique in what it forms a significant component of nearly all
parts of the system. Water in the oceans evaporates under the influence of solar radiation, and the
resulting water vapour, some of it in the form of clouds, is transported to the land areas by
atmospheric circulation. The solar energy expended in bringing water to this elevated position is
considerable, although some of the latent heat required in evaporation is returned to the atmosphere
in condensation when clouds are formed. The fall of precipitation over the land converts potential
energy to Kkinetic energy, but much of this is dissipated by friction due to air resistance, and only a
fraction remains as potential energy on the land to be used in geomorphological systems. Some of
the precipitation reaching the land is intercepted by vegetation; some infiltrates the soil, some
percolates down to the ground water.system and flows underground towards the sea; and the
remainder flows as run-off, mainly in rivers. Evapo ration from the land and transpiration from plants
returnes some of the moisture back to the atmosphere to be recycled. In addition to its circulation
patterns, the hydrological cycle also embodies a number of reservoirs or storages. Surprisingly large
inequalities'exist in the global amounts stored. The oceans contain 93% of the total; glaciers about
2%; and terrestrial water constitute 5% of which the vast majority is groundwater storage. Only a
fraction therefore is held on or near the surface in the soil, yet this very small quantity sustains all
life on land.

2. IlpuMepHBIii TEKCT 1JIs1 YCTHOTO pedepupoBaHus MO CIENHATILHOCTH

Changes in the Earth — Atmosphere System

From a wide variety of evidence, it is well known that the present-day pattern of activity in
the Earth— Atmosphere system has been substantially different in the past. This applies to all
the major realms, including the planet’s climate, geomorfology, hydrology, soils and biogeography.
Past changes in the system have left their mark in many respects on today’s landscapes. Although
there are many immediate causes of natural change in the environment, most of them are related
ultimately to geological changes induced by activity in the interior of the Earth or to climatic change.
Large-scale changes have occured in the past in the position and shape of the Earth’s ocean and land
areas. Climatic change occures on many different spatial and temporal



scales. In the geological past, a change of climate in any one area may have been brought about by
continental drift rather than by changes in the a'trtiosphere. But modern research has shown that on
a shorter time-scale, climatic changes affecting the whole globe are the result of shifts in atmospheric
circulation caused by fluctuations in the amount and distribution of insolation received by the Earth;
This idea is embraced in the Milankovitch curve, put forward in the 1930 as an "explanation of long-
term climatic change, including glaciers and interglacials. The curve is a calculation of radiation input
for various parts of the Earth, taking account of the Earth’s changing altitude to the sun in three
respects: in the shape of its elliptical orbit; in the relation of the seasonsto the orbit; and in its angle
of tilt — at present 23,5°. Finally, it must be stressed that many of the important recent changes in
the Earth— Atmosphere system have nothing to do with
natural causes, but have been brought about by man’s activities. This may even apply to recent
climatic change: it has been suggested that the general warming in the last hundred years has occured
because of the output of carbon dioxide into the atmosphere by industrial processes.

[Ipu mnpoBeaeHMH TEKymed W TMPOMEKYTOYHOM arTeCTallM MOTYT HCHOJb30BaThCA
ayTEHTUYHBIE TEKCTHI U3 MOHOTpaduii, HAYYHBIX CTaTel, U3y4aeMbIX CTYACHTAMH B XO/I€ 3aHATHH U
Hay4YHbIX UCCIIECIOBAHUM.

3. [IpumepHbIe Bonpochl 1J1s Oecebl 0 HAYYHBIM HHTEpecaM

Discussing Background Information and Research

What Institute / Academy / University did you graduate from?

When did you graduate from the Institute / Academy / University?

What subjects were you interested in?

What is your specialty area?

What is your current research focus?

When did you get interested in research work?

What is the subject of your future master’s thesis?

What issues are you going to address?

Is there extensive specialist literature on your subject?

10. What is theoretical framework of your research?

11. Why is your research important / topical?

12. What empirical material are you going to rely on?

13. What methods and techniques are you going to employ?

14. In what way is your paper going to contribute to developing your research field?
15. What is the theoretical / practical significance of your research?

16. Have you started your research yet? How long will it take you to write your thesis?
17. What do you think determines a person’s progress in academic environment?

18. Who is your academic supervisor? Do you often consult him / her? What does he / she specialize
in?

©CoNO~WNE

4. lIpumepHbIe 3a1aHNUSs IS TPOBEAEHHUS JIEKCMKO-TPAMMATHYECKOI0 TeCTHPOBAHMSA

Academic Vocabulary Test |
Choose the correct answer for each exercise:



1. The arrangement of students into classes based on mastery of specific skills or according to

general intelligence is known as

a. ability grouping

b. collaborative learning

C. bilingual education

d. accountability

2. A policy that requires that student progress be measured and teachers be responsible for

student progress is

a. accountability

b. bilingual education

C. ability grouping

d. collaborative learning

3. Bilingual education

a. teaches a second language to students

b. teaches students how to ride a bicycle

C. involves home schooling

d. requires accountability

4, A learning situation in which students work together on a project or assignment is

a. competency testing

b. accountability

C. cultural literacy

d. collaborative learning

5. The measurement of a student’s ability to perform a specific skill or achieve a specified
level is

a. competency testing

b. collaborative learning

C. accountability

d. curriculum

6. The familiarity with a body of knowledge that most people share is

a. curriculum

b. competency testing

C. accountability

d. cultural literacy

7. A course or program of study is

a. tenure

b. whole language

C. phonics

d. curriculum

8. A learning environment in which students have access to computers, the Internet, and



multimedia sources of information is a/an
a field trip
b. phonics program
Cc electronic classroom
d home schooling program

9. A program of supplemental instruction designed to stimulate and further the growth of
students who exhibit high intelligence or exceptional mastery of skills is

a. school board

b. field trip

C. gifted and talented

d. skills teaching

10.  Apolicy that allows qualified parents to educate their children at home is

electronic teaching
community learning
collaborative learning
home schooling

oo

11.  Specific learning goals or accomplishments that a school or teacher establishes for students
with objectives that identify what the students are to learn are

a curriculums

b. learning communities

c instructional objectives

d ability groups

12.  Anenvironment in which teachers and students come together to provide respect,
interaction, and positive feedback in support of students as learners is

a. tenure

b. the learning community

Cc home schooling

d the school board

13.  The ability to read and write is known as
a. literacy

b. library

c ability grouping
d phonics

14.  Aschool that offers special, unique programs to attract students from within a school district
a. a home school

b. a standard school

c a magnet school

d a super school

15. A form of testing that requires students to show what they know by actually doing



oo o

oo
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oo

18.

oo o
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oo o

7.

9.

something, such as performing a specific task is

performance assessment
whole language testing
standardized testing
phonics

A method of teaching reading that emphasizes letters and the sounds associated with them

tenure

whole language
phonics

ability grouping

A group of elected officials that serves as a governing body of a school district is the
magnet school

home school

black board

school board

A formal, usually commercial test that is administered according to specific directions with

time limitations is a

whole language
learning community
standardized test
performance assessment

A method of teaching that integrates reading, writing, speaking and listening is
home schooling

whole language

phonics

ability grouping

Academic Vocabulary Test 11

Choose the correct answer for each exercise.
A type of research that involves close, in-depth observation and analysis of individual people is

1.

a/an

oo

culture

case study

defense mechanism
ethnic group

A mental process such as thinking, remembering, and understanding is

culture
memorization
cognition
memory



3. Asystem for living that includes objects, values, and characteristics that people acquire as members
of society is

an ethnic group

culture

ethnocentrism

learning

oo

4. A method of reducing anxiety by denying or distorting a situation or problem is
a. a learning

b. a case study

c a hypothesis

d a defense mechanism

5. Empirical refers to

a information obtained from or that can be verified by observation or experimentation
b. information that can never be verified

c a form of government ruled by an emperor

d none of the above

6. A collection of people who share a cultural heritage is
a. learning

b. an ethnic group

c a heterogeneous population

d a homogeneous population

7. The belief that one's own culture is superior to that of others is
a xenophobia

b. egomania

c ethnocentrism

d hypothesis

8. Atentative explanation about how various events are related to one another that can be tested by
further experimentation is a

case study

hypothesis

culture

experiment

oo o

9. The capacity to learn from experience and to adapt to one's environment is
a. multiculturalism

b. intelligence

c ethnocentrism

d egomania

an experiment

10. A relatively permanent change in knowledge or behavior that results from experience is
a
b learning



intelligence
culture

o o

11 The study of diverse racial and ethnic groups within a culture is
a. egomania

b. intelligence

C. ethnocentrism

d. multiculturalism

12. Asocial rule that specifies how people should behave is

a. value
b. norms
C. odds
d. status

1 3. Agroup whose members share the same age or common interests is a
a. inferior group

b. peer group
C. subgroup

d. superior group

14. Areward or the process of giving a reward after a desirable behavior has occurred is
a. sanction

b. punishment

C. reinforcement

d. value

15. Areward for conforming to what is expected or a punishment for violating expectations is a
a. reinforcement

b. value

C. sanction

d. punishment

16. A category of people who have approximately equal income, power, and prestige is a

a. peer group

b. status class

C. social class

d. value group

17.  One's position in a group or society is
a. sanction

b. norm

C. status

d. value

18. Anoversimplified, inaccurate mental picture or conception of others is a



a. status

b. stereotype
c. value

d. norm

19. A socially agreed upon idea about what is good, desirable, or important is a
a. norm

b. stereotype
C. status

d value

7.5 CpeacrBa OlleHKH HHAUKATOPOB JOCTHKEHHSI KOMIIETeHIM i
Tabmuma 8

CpencrBa OlleHKM HHAUKATOPOB JTOCTHKEHUSI KOMIIETEeH Uil
Koab! koMnereHuui HNHauKaTopbl KOMIeTeH it CpencrBa oueHKH (6 cooms. ¢ Tabauyamu 5, 7)
(6 cooms. ¢ Tabnuyetl 1)
YK-4 YK-4.1. YCTHBIH TIEpeBOJT TEKCTA 110 CIEIIHATLHOCTH,
YK-4.2. KOHTpOJIbHAs paboTa, ycTHOE pedepupoBanue
VK-4.3. TEKCTa MO CIIEINaILHOCTH, aKaJeMudecKas
VK-4.4. TIPE3eHTAITUS

Tabauua 9

Onucanue CpeacTB OLEHKH HHIANKATOPOB J0CTHKEHUSI KOMIIEeTeH Ui
CpencrBa oueHKH PexoMeH/1I0BaHHBIIi NJIAH BHINOJTHEHUS PA0OTHI
(6 cooms. ¢

Tabruyamu 6, 7)
YeTHbIi IepeBo B x071€ BBITIOJIHEHHUS YCTHOTO MEPEeBO/ia TEKCTAa MATUCTPAHTAM PEKOMEHIYETCS:
TEKCTA T10 1. VYcraHaBnuBarh KOHTaKThl W OPraHM30BBIBaTh OOIIEHHE B COOTBETCTBUH C
CHeUalbHOCTH MOTPEOHOCTSIMU COBMECTHOM JICATENILHOCTH, HCIIONB3Ysl COBPEMEHHbIE KOMMYHHKAI[HOHHBIC
TEXHOJIOTHH [UIsl aKaJIeMHYeCKHX M MPO(EeCCHOHANBHBIX Iesieil Ha MHOCTPAaHHOM SI3bIKE.
CoCTaBIIATh aKaJIeMHUUECKUE U (WIH) TPOPECCHOHAILHBIC TEKCTHI HA HHOCTPAHHOM SI3BIKE, a
TakKe OOCYKIAaTh U TPENCTABIATh PE3YJAbTAThl HMCCICIOBATEIbCKONM M MPOCKTHOU
JIESITEIbHOCTH, y4YacTBOBATh B JUCKYCCHSIX Ha PAa3IUYHBIX MYONUYHBIX MEPOMPUATHSIX,
BEIOMpAst NOAXONAIIHN (hOpPMAT.
KoHTponbsHas B xo/ie BBITIOTHEHNSI KOHTPOJIBHOM PabOThl MATUCTPAHTAM PEKOMEH TYETCS:
pabota 1. VYcTaHaBIMBATH KOHTAKTBI W OPraHU3OBBEIBATH OOLICHHE B COOTBETCTBHH C
MOTPEOHOCTSIMUA COBMECTHO# JIESITENIbHOCTH, HCIOJIb3YsI COBPEMEHHbBIE KOMMYHUKAI[HOHHBIC
TEXHOJIOTUH ISl aKaJeMHUYECKHX W NpO(ecCHOHANbHBIX LieNieil Ha MHOCTPAHHOM SI3bIKE.
CocTaBiiaTh akajgeMudeckne u (Win) mpodecCHOHANTbHBIE TEKCTHl HA HHOCTPAHHOM SI3BIKE, a
TaKke O0OCYXKIaTh H MPEJCTABIATh pPE3yIbTaThl HCCIEIOBATEIbCKOW M MPOSKTHOM
JIeSITEIbHOCTH, y4acTBOBaTh B JMCKYCCHSX HA PA3IUYHBIX NYOIMYHBIX MEPOMPUATHSX,
BBIOHpAst IOIXOAIIHHA (hOpMaT.
YerHoe B xo1e BBITIOJIHEHUS YCTHOTO pehepupOBaHus TEKCTa MATUCTPAHTAM PEKOMEHYETCS:
pedepupoBaHue 1. YcTaHaBIMBAaTH KOHTAaKTHl M OPraHU30BBIBATH OOIICHHE B COOTBETCTBHH C
TEKCTa 110 MOTPEOHOCTSIMHU COBMECTHOM JICSITEIBHOCTH, UCIIOJIb3Ysl COBPEMECHHBIE KOMMYHHUKAIIHOHHBIC
CICIHATBHOCTH TEXHOJIOTUH I aKaJIeMHYCCKHX M MPO(ECCHOHANBHBIX IeNicii HAa WHOCTPAaHHOM SI3BIKE.
CocCTaBsATh akaJeMuyeckue u (Win) MpodecCHOHANBHBIC TEKCTH HA HHOCTPAHHOM SI3BIKE, a
Takke OOCYKHaTh | TPEACTABIATH PE3YNbTaThl HCCIICIOBATCILCKOM W MPOCKTHOU
JIESITeIbHOCTH, YYaCcTBOBATh B JUCKYCCHSIX Ha PA3IMYHBIX MYOJMYHBIX MEPOMPUATHUSIX,
BBIOHpAst IOIXO AN (hopMaT.




CpeI[CTBa OIICHKH PexoMeH10BaHHBIN MJIaH BHINOJHEHUS paﬁOTbl

(6 cooms. ¢
Tabruyamu 6, 7)
Axanemudeckas B x0/1€ TOArOTOBKY aKkaJieMHYECKOW MPE3CHTAIIMN MAaTUCTPAHTAM PEKOMEH/IYeTCs
npe3eHTalHsI YUUTBHIBATD:

1. YcraHaBnMBaTh KOHTAKTHl M OPTaHU30BBIBATH OOIIEHHE B COOTBETCTBHH C TIOTPEOHOCTIMU
COBMECTHOM JIEATEILHOCTH, UCIIOJIBb3Ysl COBPEMEHHBIE KOMMYHUKAIIMOHHBIE TEXHOJIOTHUH JIISI
aKaJeMUYeCKNX H TPO(ECCHOHANBHBIX [eJed Ha WHOCTpaHHOM si3bike. COCTaBIATH
akajeMuueckne W (Win) MpoQecCHOHATIbHBIC TEKCTHI Ha WHOCTPAHHOM S3bIKE, a TaKKe
00CYX/IaTh W TNPEJCTABIATh PE3YJAbTATHl HCCIIEAOBATEIBCKON U MPOCKTHON NEATEIHLHOCTH,
yY4acTBOBaTh B JHCKYCCHAX HA PA3IUYHBIX MYOJUYHBIX MCPONPHUITUAX, BBIOHpas
MOXOASIINHA (hopMar.

8. OCHOBHASA 1 JOINIOJIHUTEJIbHASA IMTEPATYPA

8.1 OcHoBHas JauTEpaTYypa

1. TTocobue Mo pa3BUTHIO HABBIKOB MEPEBOI IJISl CTYACHTOB, N3yUYaIONINX aHTITHIUCKUI SI3BIK,
JI., JITMU, 1991, 94 ¢ http://elib.rshu.ru/files_books/pdf/img-217153251.pdf

2. CaBenmbeB 5. A. YyeOHOe mocoOuMe IO AHTIMIUCKOMY S3BIKY HJSI CTYJEHTOB —
THUAPOMETEOPOJIOTOB, U3YJArOIIUM BTOpoi mHOCTpaHHbIN s3bIK. CII0, m3n. PITMY, 1994 | 116 c.
http://elib.rshu.ru/files_books/pdf/img-503141531.pdf

3. YuebHOe mocoOue MO pa3BUTHIO HABBIKOB TEPEBOAC ISl CTYICHTOB, H3y4YarOIINX
anrmuiickuii  s3eIK.-CI16.: U3x. PITMY, 2000.- 64 c¢ http://elib.rshu.ru/files_books/pdf/img-
503194643.pdf

8.2 JlonoJiHMTEIbHAA JIUTEPaTypa

1. 3aganus ¥ KOHTPOJIbHBIE pabOTHI IS CTYECHTOB, U3YYAIOUINX aHTIUHCKHA 361K, CII0.:
u3n. PITMU, 1997, 63 c. http://elib.rshu.ru/files_books/pdf/img-503154146.pdf

2. CaBenbeB JILA. AHMmiicKMiA SI3bIK A8 aCOUPAHTOB THUAPOMETEOPOIOIMYECKUX
cnenuanpHocTeii.  YueObnmoe mocoome. — CII6.: wm3n. PITMY, 2012- 144 c.
http://elib.rshu.ru/files_books/pdf/rid_5aa8d6573107426e93d6feb4ffo0f61a.pdf

9. UTHOOPMAILMOHHBIE TEXHOJIOI'MH, UCITOJIb3YEMBIE I1PU
OCYHECTBJIEHUU OBPA3OBATEJIBHOI'O ITPOIECCA

9.1 lIporpamMHoe obecnevyeHne

[Ipu ocymiecTBieHnn 00pa30BaTENBHOIO TPOIEcca MarucTpaHTaMu H Ipodeccopcko-
NPENoJaBaTeIbCKUM ~ COCTAaBOM  HCIIONB3YETCSl  CIEAYIOIIee JIUICH3MOHHOE TPOTPaMMHOE
obecriedeHue:

1. P7-Odwuc [IpodeccnonanbHbIN 17151 y4eOHBIX 3aBEACHUI

2. OS Microsoft Windows

3. Annexc bpaysep

9.2 IlepeyeHb HH(POPMALHOHHO-CIIPABOYHBIX CHCTEM U NMPO(ecCHOHAIBHBIX 0a3 TaHHBIX
HH(OPMANMOHHO-TEJIEKOMMYHUKANIMOHHOMN ceTH «HTEpHET», HEOOXOAUMMBIX /IJIsi OCBOEHUS
AUCHUTIINHBI:

HNHpopManinOHHO-CIPABOYHbIE CHCTEMBI
1. OtkpeiToe oOpaszoBanme. Acconumanus «HamuonanpHas margopMa  OTKPBITOTO


http://elib.rshu.ru/files_books/pdf/img-217153251.pdf
http://elib.rshu.ru/files_books/pdf/img-503141531.pdf
http://elib.rshu.ru/files_books/pdf/img-503194643.pdf
http://elib.rshu.ru/files_books/pdf/img-503194643.pdf
http://elib.rshu.ru/files_books/pdf/img-503154146.pdf
http://elib.rshu.ru/files_books/pdf/rid_5aa8d6573107426e93d6feb4ff90f61a.pdf

obpazoBanwus»: https://npoed.ru/

2. Odpurnmansuas Poccus. CepBep OpraHoB ToCydapcTBEHHOH BiacTtu Poccuiickoi
Ddeneparuu: http://www.gov.ru/ _

3. OdunuansHblii HHTEPHET-TIOPTA MPaBOBON MH(popMaIuu. ['ocynapcTBeHHas cucTeMa
npaBoBo# wH(pOpMaruu: http://pravo.gov.ru/

4. TlpaBosoii caiit Koncynsrantlnroc: https://www.consultant.ru/sys/

5. Poccuiickoe oOpazoBanue. denepanbubiii nopran: http://www.edu.ru/ _

IIpodeccuonanbubie 0a3bl JaHHBIX HH(OPMALMOHHO-TEJIeKOMMYHHKAIMOHHON CeTH
«HHTEepHeT»:

1. HauwmonanwsHas 3ekTpoHHas oudauorexka HOB: https://rusneb.ru/

2. TIpesumentckast 6ubamoreka: https://www.prlib.ru/?ysclid=m2vimr7tar995952664

3. Poccuiickas rocy1apCTBEHHAas! O6ubnmoreka:
https://www.rsl.ru/?ysclid=m2vIo35cir499595384

4, Pocculickas HanmumoHanbHas OubOimoreka: https:/nir.ru/nlr visit/RA1812/elektronnyie-
katalogi-rnb?ysclid=m2vlov5wpc285541408

9.3 JIueH3HOHHBbIE YJIEKTPOHHBbIE pecypchbl OMOJIMOTEKH

IIpodeccuonaibubie 6a3b1 JAHHBIX:
—  DJeKTpoHHAas Bepcus KypHajaa «MaTeMaTn4ecKuii COOPHUK»:

0 baza nmamHBIX, cozmepXamias IOJHOTEKCTOBYIO KOJUIGKIIUIO SJICKTPOHHBIX BBIITYCKOB
xypHana. Jloctyn ocymectsisiercs Ha miargpopme PLIHU: https://journals.rcsi.science/

0 [octyn ocymectBisiercs Ha tmiargopme OoOmepoccuiickoro mopraina Math-Net.Ru
https://www.mathnet.ru/

— DJekTpoHHasi Bepcus xypHana «Ussectuss Poccmiickoii akagemun Hayk. Cepus
MaTeMaTH4ecKasH

O baza naHHBIX, coiepxamias MOJHOTEKCTOBYIO KOJUICKIMIO 3JIEKTPOHHBIX BBIITYCKOB
xypHaia. Jloctyn ocymiectBisiercs Ha miardopme PITHU: https://journals.rcsi.science/

O baza naHHBIX, conepxamias MOJHOTEKCTOBYIO KOJUIICKIHIO 3JIEKTPOHHBIX BBIITYCKOB
kypHana. Jloctyn ocymectBiasiercss Ha tiatdopme OOmepoccuiickoro moprana Math-Net.Ru
https://www.mathnet.ru/

— DJIeKTPOHHAasi  BepcHsl  JKypHajJa  «YcOmexu  MaTeMaTHYeCKHX  HayK»
ba3a maHHBIX, cofeprkalnas MOJHOTEKCTOBYIO KOJUICKIIHIO JICKTPOHHBIX BBIITYCKOB KYypHAaa.

0 J[octyn ocymectBisiercs Ha mardgopme PLIHU: https://journals.rcsi.science/

0 baza namHBIX, coxmepXamias IOJHOTEKCTOBYIO KOJUIGKIIMIO SJICKTPOHHBIX BBIITYCKOB
xypHana. Jlocryn ocymectBisiercss Ha 1uiatdopme OOmepoccuiickoro moprana Math-Net.Ru
(https://www.mathnet.ru/).

— Springer Journals. baza naHHBIX, comepIKaIas IOJIHOTEKCTOBBIC KYPHAITBI U3/1aTEIbCTBA
Springer Ha rutatdopme: https://link.springer.com/

— Nature Journals. Ba3a manHbBIX, conepikalias ITOJIHOTEKCTOBBIE XypHaibel Nature
Publishing Group na matrdopme: https://www.nature.com/

— Adis Journals. ba3za naHHBIX, comep»alias NOJTHOTEKCTOBBIC KYpHAJbl M3aTeNIbCTBA
Springer Nature, a umMenno *xypHaibl Adis Ha mardopme: https://link.springer.com/

— Springer Materials. ba3a nanHbIX, comaepkaiias KOJUICKIIUH HAYYHBIX MaTepHajiOB B
obmacti GpU3MUECKUX HAYK W MEDKUHUPHUHTA, Ha TuaTdopme: https://materials.springer.com
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DJIEKTPOHHbIE OMOJIMOTEYHbIE CUCTEMBbI:

1. Znanium.com — DnektponHas oudanoTeunas cuctema (ABC) — http://znanium.com/;

2. VYHuBepcuTeTCKass OMOMMOTeKa OHJIAH — OJEeKTpOoHHass OWOIMOTeYHas CHUCTEMa
(OBC) — http://biblioclub.ru/

9.4 JDnekTpoHHAasA MH(POPMALIMOHHO-00pa30BaTe/IbHasl cpeaa

OOpazoBarenpHBIA MPOILIECC IO HMTOTOBOM aTTECTAlMHM TOMJCPKUBACTCS CPEACTBAMHU
ANIEKTPOHHOU MH(OpMAIMOHHO-00pa3oBarenbHol cpenbl PI'BY «AAHUWW», koTopasi BKIIIOYaeT B
ce0s1, TUIIEH3NOHHBIE AIEKTPOHHBIE Pecypchl Oubmuoreku, ohunuanpHbii calT ®I'BY «AAHUN»,
JIOKAJIbHYIO CETh U KOPIIOPATUBHYIO IEKTPOHHYIO MOUTY, M 00ECIIeYnBaET:

— JIOCTYyH K y4eOHBIM IJIaHaM, paO0YuM MpoTrpaMMaM AUCITUTUINH (MOl ), TPAKTUK U K
U3JIAHUSIM DJICKTPOHHBIX OHUOIMOTEYHBIX CHCTEM M 3JEKTPOHHBIM 00pa3oBaTelIbHBIM pecypcam,
yKa3aHHBIM B pabo4HX Iporpammax;

— (uxcanmro xoaa 00pa30BaTENBLHOTO MPOIIECCa, PE3YIBTATOB MPOMEKYTOUHOU aTTECTAIIUU
U pe3yJbTaToOB OCBOEHHUSI OCHOBHON 00pa30BaTEIbHON IPOrPaMMBI;

— ¢opMupOBaHUE 3JIEKTPOHHOTO MOPTGOINO OO0YJAIOMIErocs, B TOM YHCJIE COXPAaHCHHE
paboTt oOyyaromierocsi, pelueH3ui M OIEHOK 3a ATH PAa0OTHI CO CTOPOHBI JIIOOBIX YYaCTHUKOB
00pa3oBaTeIbHOro MPOIECCa;

— B3aUMOJCICTBHE MEXAYy YYacTHHKaMH 0Opa3oBaTeIbHOrO MpOIEecca, B TOM YHCIE
CHHXPOHHOE ¥ (MJI) aCHHXPOHHOE B3aMMOJICHCTBHE MOCPEACTBOM ceTH «MHTEepHET» (JIIEKTPOHHOM
MOYTHI U T.1T.).

Kaxprit oOyJaroniuiicss B TeueHHUEe BCEro Meproaa 0OyUYeHHS 00CCIIeYeH WHIUBHIYaIbHBIM
HEOTPAaHUYEHHBIM JOCTYIIOM K 3JEKTPOHHBIM pecypcaMm OuOIMOTEKH, coaepxkalled H3TaHus
y4eOHOM, yueOHO-METOAMYECKON 1 MHOU JINTEPATYPHI M0 U3y4aeMON AUCIUTUINHE.

10. MATEPUAJIBHO-TEXHUYECKAS BA3A, HEOBXOINMASA J1JIsA
OCYHIECTBJIEHHUSA OBPA30OBATEJIBHOI'O TPOLUECCA

B xome peanmuzanuu o0pazoBaTeIbHOTO MPOIECCa HCIONB3YIOTCS CIICIHATU3UPOBAHHBIE
MHOTO(YHKLIMOHAJIbHbIE ayIUTOPUU JUIS TIPOBENEHUS 3aHATUN JICKIIMOHHOTO THIA, 3aHITHHA
CEMUHAPCKOTO THIA, TPYNIOBBIX U WHIUBUAYATbHBIX KOHCYIBTAIlMH, TEKYIIEro KOHTPOIS H
IPOMEXYTOUHOM  arTecTaldd, YKOMIUJIEKTOBAHHBIE  CIIELUAJIU3UPOBAHHON  MeOenbio U
TEXHUYECKUMH CPEACTBAMU OOYHYCHUS, CIYXKAIMUMU JJIS MPEACTaBICHUS Y4eOHOW WHOpMaIun
OOJIBIIION ayTUTOPHUH.

[IpoBenenne 3aHATHI  JEKIMOHHOTO THIA O00ECIeYMBACTCA  JEMOHCTPAI[MOHHBIM
000pyIOBaHUEM.

[TomemeHnst UIsi CaMOCTOSITENIBHONH pabOThl OCHAIICHBI KOMITBIOTEPHOW TEXHUKOU C
BO3MOXKHOCTBIO MOAKIIOUEHUS K ceTH «HTepHer» M oOecriedeHHeM AOCTyNa B 3JIEKTPOHHYIO
WH(OPMAITMOHHO-00pa30BaTebHYIO CPEAy OpraHU3aIIH.

Jlig v ¢ OrpaHWYeHHBIMU BO3MOKHOCTSIMHU 370POBbSI U MHBAJIUJIOB TNPEIOCTABISETCS
BO3MOXKHOCTh TIPUCYTCTBHS B ayIUTOPUHM BMECT€ C HHMH AacCHCTEHTa (MOMOIIHHKA). Jlis
CNa0OBUASIINX TPEJOCTABISAETCS BO3MOXKHOCTH yBenuyeHus Tekcta Ha okpane (IIK). [ns
CaMOCTOSITENILHON pabOThI JTUI[ C OTPAHUYCHHBIMU BO3MOXXHOCTSIMHU 3JIOPOBBSI B TIOMEIICHHSIX IS
CaMOCTOSITENIbHOM  paboThl  opranu3zoBaHo 1o omaHoMy Mecty (IIK) ¢ Bo3MoxHOCTSIMH
OECKOHTAKTHOTO BBOAAa HWH(POPMAIMM W YIPABICHUS KOMIBIOTEPOM (CIIEHUAIN3UPOBAHHOE
JUIIEH3MOHHOE TporpamMMmHoe oOecrnedeHue — Camera Mouse, BeO6 kamepa). bubmuoreka
OpTraHM3aIU TPEJOCTABISET yAaNeHHBI MOCTYN K OB ¢ BO3MOXHOCTAMHU Uil CIAOOBHISIIETO
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yBenuueHus Tekcra Ha 3kpane [1K. JIuma ¢ orpaHn4eHHBIMA BO3MOXXHOCTSIMU 30POBbSI MOTYT IIPH
HEOOXOJMMOCTH BOCIIOJIb30BATHCS MMEIOLIMMCSI B OpraHMU3aIMM KpecIoM-Koisickoil. B yueOHoM
KOpITyce MMeeTcs ajanThpoBaHHBIA Ju(T. Ha BropoMm sTake 000pyaoBaH CHEIHATU3UPOBAHHBIN
TyajeT. Y BXo/ia B 3/JaHH€ OpraHU3alluy U1 MHBAJIMI0B 000py/I0BaHa CrieliaibHas KHOIKA, BXOAHAS
cpena obecrniedeHa HHGHOPMAITMOHHON JOCKO# 0 pexkxume padboTel PI'BY « AAHUW», BBITOIHEHHOM
penbedHO-TOYEUHBIM TaKTWIBHBIM pudToM (a30yka bpaiins).



IMPUJIOKEHUE 1

®OHA OHNEHOYHbBIX CPEACTB I1O JIMCHUIIJIMHE

«AHOCTPaHHBIN A3bIK B PO(eCCHOHAIBHOU IeATEeJbHOCTH



®OH/] OIEHOYHBIX CPEJICTB JIJIS MPOBEJIEHUS TEKYIIEW U TIPOMEXYTOYHOM
ATTECTAIIUM OBYYAIOIIUXCHA ITO JUCHHUITJIMHE

1 Iloka3aTenu, KpUTEPUH U OLleHMBAHNE KOMIIETEHIIUI M NHAUKATOPOB UX JOCTHKEHUS B
npouecce TeKyuei arrecTaun

WNudopmarust 0 copepkaHuu U MpoIeype TEKYIIero KOHTPOJIsS YCIeBaeMOCTH, METOANKE
OLICHUBAaHMs 3HAHWUH, YMEHUH M HABBIKOB OOYYaIOLIErocs B XOJE TEKYIIETro KOHTPOJS AOBOIATCS
HayyHO-Tienaroruueckumu padoraukamu ®I'BY «AAHUN» o cBenenns oOyyaromerocs Ha iepBoM
3aHATHU 110 JAaHHOW AMCLHAILINHE.

Texymuii KOHTPOIIb NIPEAYCMAaTPUBAET MTOATOTOBKY MaruCTPaHTOB K KaKJIOMY ayJUTOPHOMY
3aHATHIO. MAarucTpaHT JOJDKEH IIPUCYTCTBOBATh HA 3aHATHUAX, BBIIOJIHATE YIPAXHECHMUS,
IIPENYCMOTPEHHBIE IIIAHOM, IOKa3bIBasi, YTO IOATOTOBUII BHEAYAUTOPHBIE 3aJaHUs, IIPEIACTABIATh
HEOOXOIMMBbIE MaTepHUalIbl, BBINOJIHATh MUCbMEHHbIE PA0OTHI U MPE3EHTALMK 10 TEMaM Kypca.

Texymmii KOHTPOIb MPOBOAMUTCA B (OpME YCTHOTO IMEPEeBOJa, YCTHOTO pedepupoBaHUS
MHOS3BIUHBIX CIELUANbHBIX TEKCTOB, KOHTPOJBHOM pPAaOOTBl M IMpe3eHTALUN MarucTpaHTOB IO
npodecCHOHATBHBIM TEMaM.

Tabmmra 1
IToxka3arejn, KpUTEPUH M OLICHUBAHME KOMIIETCHIMII 1 HHIMKATOPOB HX AO0CTHKEHHA
B IIpolecce TeKYLeH arTecTaluu

HaumenoBanue Kon HNnaukaropsl Konn1 3YB (B DopMBbI TEKYyLIET0 PesyabTatsl
TEeMbI KOMIICTCHIIUHU KOMHeTeHHl/Iﬁ COOTB. C Ta0.JI. KOHTPOJIsA TEeKylero
(pa3nesa) 1) KOHTPOJIsI
OCHOBBI YK-4 VK-4.1. 3 (VK-4) YCTHBIA TE€PEBOIT 3a4TeHO/
aKaJeMHIeCKOit YK-4.2. V (YK-4) TEKCTa 1o HE 3aUTEHO
rpaMMaTHKH YK-4.3. B (VK-4) CIIEIUATBHOCTH
VK-4.4. KOHTPOJIbHAS
pabota
OcHOBBI YK-4 YK-4.1. 3 (YK-4) ycTHOE 3a4TeHO/
aKaJeMU4ecKon YK-4.2. VY (YK-4) pedeprpoBanne HE 3a4TEHO
JIEKCUKH. YK-4.3. B (YVK-4) TEKCTa o
YK-4.4. CIIELMAJIBHOCTH
YCTHBI TEpeBOJ
TeKcTa o
CHELHUAIbHOCTH
OCHOBBI YK-4 VK-4.1. 3 (VK-4) aKaJeMuIecKas 3a4TeHO/
aKaJeMHIeCKOit YK-4.2. V (YK-4) Ipe3eHTAIHS HE 3a4TEHO
KOMMYHHKAIHH. YK-4.3. B (VK-4)
YK-4.4.
Tab6muma 2
Kpurepun oneHuBanus
®opMBbI TEKyLIEro Kpurtepuu oneHuBanus
KOHTPOJIS
yCcreBaeMOCTH
3auTeHo:

Conep:xaTrejbHAA HIEHTHYHOCTH TEKCTA MepeBoa. DKBUBAJICHTHBIHN MTEPEBO/I:
cozmepsKaresibHass MACHTHYHOCTh TEKCTa mepeBoda. IlorpemHocTd mepeBoga He
HApYIIAIOT OOIIEr0 CMBICIIA OPUTHHAIIA.

JlekxcHuecKkue acmeKThl nepeBoaa. Mcrnonp30BaHue SKBUBAJICHTOB TS ITEPEBO/IA
30-100% Texcra

VYerHblit iepeBof
TEKCTa 110
CHELHAILHOCTHU




DopMBbI TEKYLIETO
KOHTPOJIsI
ycIeBaeMoCTH

Kpurtepuu onieHuBaHus

I'pamMaTHyeckne acmeKkThl TepeBOAa. OKBUBAICHTHBIA  TEpEeBOA  C
WCIOJIb30BAHUEM OCHOBHBIX I'DaMMaTHYeCKUX KOHCTPYKIUH, XapaKTepHBIX s
aKaJeMUYECKOTO CTHJIS PEUH.

Co0uionenue si3bIKOBBIX HOPM U MPaBUJI SI3bIKA MePeBoa: CTHINCTHYECKAS
HAEHTHYHOCTH TeKcTa nepeBoaa. CoOmoneHne sI3pIKOBBIX HOPM H IIPABHI SA3bIKA
nepesona 17151 30-100 % Texcra.

He 3aurteno:

ConepxaTeabHasi HWIEHTHYHOCTH TeKcTa mepesona. HeskBuBajeHTHas
nepeadya cMbicia:

OIIMOKY MPECTABISIOT cOO0U Tpyb0e UCKAKEHUE COACPIKAHNS OPUTHHAIIA.
Jlekenyeckue acnekThl mepeBofa. lcmonp3oBaHne HKBHBAJICHTOB MEHEE UeM
st 30% Texcta

I'paMmmaTnueckue acmekTsl 1mepeBofa. lcmonb3oBaHHE TpaMMaTHYECKHX
9KBHUBaJIEHTOB MeHee ueM st 30% Tekcra

CoOaroneHue A3LIKOBbIX HOPM U IPAaBHJI S13bIKA NMepPeBoAa: CTHIMCTHYECKAs
HAEHTHIHOCTH TeKcTa nepeBoaa. CoOmoneHne sI3IKOBBIX HOPM H IIPABHIT A3bIKA
nepeBoja meree yem aist 30% Ttekcra.

Konrponbnas padora

3auTeHo:

I'pamMmaTtnyeckas cocrapistiomas. 60% - 100 % mpaBUIIEHBIX OTBETOB.
Jlexcuueckas cocrapiasitomas. 60% - 100 % npaBUIIBHBIX OTBETOB.
LlesocTHoe Bocnipusitie Texera. 60% - 100 % mpaBUIIBHBIX OTBETOB.
He 3auteno:

I'pammarnyeckas cocrapasiiomas. 0% - 59% npaBUIBHBIX OTBETOB
Jlekcuueckasi cocrapiasitomas. 0% - 59% npaBUIbHBIX OTBETOB
HesoctHoe BocmpusiThe Tekera. 0% - 59% npaBuIbHBIX OTBETOB

VYerHoe
pedeprupoBaHue TEKCTa
10 CIIENUATLHOCTH

3auTeHo:

Tounas nmepenaya ¢akrtoB. Bes daktuueckas mHopMaIys nepenaHa TOYHO |
0e3 uckaxxeHu. FiMerorcss He3HAYUTEIbHbIE HCKAXKEHUS

HeiiTpaabHocTh H3J10:KeHHs (MO0 MpaBWIIbHAS TIepeaada aBTOPCKOM MTO3UITHH).
W3noxenne HEUTpabHO JIMOO aBTOPCKAas OIICHKA OIUCHIBAEMBIX COOBITHI
nepegaHa npaBWwiIbHO. VIMEIOTCS HE3HAUUTENbHbIE OTKIOHEHHU OT HEUTPaJIbHOrO
TOHA TUOO HE3HAYNUTEIHHBIC UCKAXKCHUS aBTOPCKOM ITO3UIINH.

CBSI3HOCTb M JIOTHYHOCTB. V3710KeHHE CBSI3HOE, CTPYKTYPa IPO3padHasi, IOTHKA
U3IIOKEHUS TPOCHEeKUBaeTcs. V3noxkeHHe B LEJIOM  CBSI3HOE, HMEIOTCS
HE3HAYUTENbHbIE HETOCTATKUA U3JI0KEHUSI.

S3bikoBoe  odopmiieHme  (JIeKCHKa, TpaMMarWka, CTWib).  JIeKcHKko-
rpaMMaTHYECKHE OMMOKH OTCYTCTBYIOT, HMEIOTCSI TONBKO 1-2 HEe3HAYHWTENbHEIC
rpaMMaTHYECKHE U CTHINCTHYSCKUE OIMIHOKH.

He 3auTeno:

Tounass mepenada ¢akrToB. VMmeercs Oosiee 5 CEpbe3HBIX HCKAKECHUH WIIH
MHOXECTBO MEJIKHX.

HeiiTpajabHocTh H3J10:KeHHs (JTMOO0 MpaBWIIbHAS TIepeaada aBTOPCKOM MTO3UIIHH).
Hmerotest cepbe3Hble OTKIOHEHUS / MICKaXEHHsI B HECKOIBKUX MECTax. TekcT He
MOHST, JTMOO aBTOPCKAas MO3ULMA UCKaKEHA JI0 HEY3HaBaeMOCTH

CBAI3HOCTb U JIOTUYHOCTB. B TeKCcTe MMEIOTCS cephe3Hble HAPYIIEHUS JIOTUKH
M3JIOKCHNUS, YTO CKa3bIBACTCS M HA MIOCTPOCHHUH TEKCTa; HMEIOTCS 3HAYUTEIHHBIC
HEIOUeThl MPH TOCTPOCHUHU BBICKa3blBaHWU. B TekcTe He MpociexuBaeTcs
HUKAKOW JIOTHKH, TEKCT OCCCBSI3CH WM MPEICTaBIIeT CO00H HaOOp OTIENbHBIX
TIpeITIOKESHHH.




DopMBbI TEKYLIETO
KOHTPOJIsI
ycIeBaeMoCTH

Kpurtepuu onieHuBaHus

SI3bikoBoe odopmieHUe (JICKCHKa, TpaMMaTHKa, CTHIb). WMmeeTcst Oombiie 5
JCKCUKO-TPaMMATHYCCKUX HJIH CTHIMCTHYCCKUX OMIAOOK.

AxkanemMudeckast
TIpE3CHTAIHS

3aureno: CoOmoneHbl mnpaBmia OQOPMIICHHS TPE3CHTAIlMK; BO BpeMs
BBICTYIUICHHS CTYACHT JIOTHYHO CTPOMT MOHOJIOTMYECKOE BBHICKA3bIBAaHHE B
COOTBETCTBUM C KOMMYHHKATHBHOW 3ajadeii, JIEKCHYECKUE CIAWHUIBI U
rpaMMaTHYECKHE CTPYKTYPhl HCIIONB3YIOTCS YMECTHO M NpaKTHYCCKH 0e3
omurOO0K, peyb TOHATHA M (POHETHUYECKU I'paMOTHA, COOTOMAeTCss HEOOXOMMMBIA
00beM BBICKA3bIBAHUS, COAEPKAHWE BBICTYIUICHHS HOCHUT 3aHUMATEIBHBINA
xapakrep. UeTko chopMyaupoBaH HaydHBIH BOIMPOC, HA KOTOPBIH TOKIIATIHK
IPEACTAaBIsCT OOOCHOBAHHBIN OTBET B KOHIIE BHICTYIUICHUS. SICHO IpeacTaBieHa
CTPYKTypa AOKJIaAa, K& IBIH (parMeHT KOTOPOTO TOATAHO PACKPBIBACTCS B XO/IE
BBICTYIUICHHS.  JJIEMCHTHI ~ JOKJAJa COCIMHEHBI CEMAHTHYCCKUMH  WIIH
rpaMMmaTHYecKuMu  cBs3smu.  Jlokmamumk — 00o0ImIaeT ©  aHAU3UpPYyeT
IpPEACTaBICHHYI0O  WHGOpPMAIMIO B  KOHIE  Jokiama.  llpeseHrarus,
CONPOBOXKIAIOMIAs JOKJIAJ, CHOCOOCTBYyeT Oojee NONHOMY TOHHMAaHHIO U
BOCIIPHATUIO ero coxaepxkanus. Craiinel He meperpykeHsl UH(opManuei,
rpaduuecKkoe MpEACTABICHUE IOAYCPKUBACT HauOojee 3HAYMMBIC ITO3HIIUH
BBICTYILICHHS

He 3aureno: IlpesenTtanms odopmicHa ¢ OMMUOKAMH, KOIHUYECTBO CIAHIOB
HEIIOCTATOYHO, CTYIEHT CTPOHUT MOHOJIOTHYECKOE BHICKA3BIBAHNE B COOTBETCTBHU
¢ KOMMYHHKaTHBHOW 3ajadel, HO BBICKAa3bIBAHUE HE BCEINA JIOTMYHO, NMEIOTCS
MOBTOPBI, MPHUCYTCTBYIOT JIEKCHYECKHE, TPAMMATUYCCKUEC M CTHIHCTHYCCKHE
OmMOKH, 3aTPyIHSIONIAE MOHUMAaHHE, B LEJIOM pedb IIOHATHA, O0BEM
BBICKA3bIBaHMs 3HAYUTENBHO HIDKE TpeOyemoro. Hedetko chopmynmupoBan
HAy4YHBI BOMPOC, HAa KOTOPBIM JOKIATYHK MPEACTABISCT HE BIIOJHE
000CHOBaHHBIi OTBET B KOHIIE BBICTYIUICHHA. HeT 4YeTKkoW XapaKTepUCTHKH
CTPYKTYpY HOKNIama, KaKIas TeMa HEIOCTaTOYHO IOJHO U MOCIEIOBATEIHEHO
pacKpBIBacTCs B XOJE BBICTYIUICHHs. DJIEMEHTHI JOKJIana He BCErna COCIUHCHEI
CEMAaHTHYECKIMH WM TPaMMATHYeCKUMH CBs3sMmu. Jlokimamumk oOoOmaer u
aHATM3UPYeT MPEACTaBICHHYI0 MHPOpPMaIMIO B KOHIE AOKmama. lIpeseHrarius,
COIPOBOXKIAOMIAS JTOKJIAN, HE CHOCOOCTBYyeT OoJiee MOJHOMY IOHHMAHHIO W
BOCIIPHUATHIO €ro copepkanus. Craiipl B OONBIIMHCTBE CBOEM WIIH TIEPETPYKECHBI
nHpopManuel, Ui Majao WHPOpMaTHBHBI. [paduueckoe mpeacTaBiIcHUE dalle
BCETO HE MOAYEPKUBACT HaNOOoJIee 3HAYMMBbIEC TO3UITHH.

2. KoHTpoJIbHBIE 321aHUS 1JIMl TeKylIeil aTTecTaluu

1) TIlpumepHbIe 3a1aHUsI KOHTPOJbHOW PadoThI MO Kypcy

Grammar Tests

Comprehensive Test 1
Choose the right answer. Only one answer is correct.
1. We expected the Harrisons ...later than usual.

1. arrive

2. to arrive
3. arrives
4, arrived

2. Look! The bridge .... .




1.
2.
3.
4.

3.

is being repaired
is been repaired
has being repaired
has repaired

| don't want to be interrupted by him.

1.5 He X0uy epeduBaTh €ro.

2.51 He xouy, 4TOOBI OH MEepPeOUBaI MEHSI.

3.5 He X0y, 4TOObI ero nepeduBaIn

4.51 He X049y, 9TOOBI MBI TIEpEOUBAIN APYT APYTa.
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. He told us that he ... for a new job.
. thought he would apply

. applied

. is applying

. had been applied

. The results are to be checked again.

. The results must be checked again.

. The results have been checked again.
. The results are being checked again.
. The results are checked again.

. She said the lectures on art (roceratorcst) by many students.
. were attended

. are attended

. are attending

. attended

. Mr. Black ....ten years.

. has been head of this department for

. is head of this department for

. is head of this department since

. has been head of this department since

. The speaker has been..... to with great interest.
. listened

. listening

. listen

. The letter isn't ready yet. It ... still ... into English.
. is translated

. has been translated

. is being translated

10. You should have looked through the mail.

1.
2.
3.
4.

It is necessary for you to look through the mail.
You were to look through the mail, but you didn't.
You must look through the mail.

You did not have to look through the mail.



11. He didn't refuse when he ... this job.
1. offered

2. was offered

3. is offered

4, offers

12. Why don't you answer when you ... ?
1. ask

2. are asking

3. are asked

4. were asked

13. You ... a hard life when you were a child, granddad.
1. must have

2. were to have

3. must have had

4. had had

14. You will ... speak Spanish in another few months.
1. can

2. have

3. be able to

4. ought

15. This theatre .....before we came to live in this town.
1. was built

2. has been built

3. had been built

4. was building

16. She is known ... on a very important issue now.
1. to have worked

2. working

3. to be working

4. working

17. He is said ... a novel for ten years.
1. to have been writing

2. to have written

3. to be writing

4. to write

18. Roy ... to be a good manager.
1. turned out

2. is turned out

3. to turn out

4, turned

19. The problem ... is of great importance.
1. discussing
2. being discussed



3. discuss
4. to discuss

20. .... the mail the secretary gave the most urgent letters to the manager.
1. Sorting out

2. Having sorted out

3. Sorted out

4. Looking

21. You should look ... the mail before leaving.
1.in

2. through

3. though

4. at

22. This is one of the best works ... Falconet.
1. by

2. of

3.to

4, from

23. I'll make decision only ... the agreement of my boss.
I. by

2. under

3. with

4. for

24. He arrived ... the invitation of the Prime Minister.
1. by

2. at

3. from

4. t0

25. Everything depends ... your decision.
1.on

2. of

3. about

4. from

26. The quotation is enclosed ... the letter.
1.in

2.1t0

3. with

4. by

27.These defects are to be corrected ... your expense.
1. with

2. by

3. at

4. from



28. These defects appeared ... the Buyer's fault.
1. through

2. from

3. out of

4.0n

29. Many international exhibitions and fairs ... ... in St. Petersburg.
1. are given

2. are held

3. are taken

4. take part

30. The company is going to ... an order for a new model of car.
1. put

2. give

3. place

4. make

31. The members of the House of Commons are elected by ... .
1. secret ballot

2. political parties

3. the chief executive

4. secret

32. Each new Prime Minister ... new ministers.
1. accepts

2. invites

3. appoints

4. notifies

33. If you ... your order we'll be able to give you a 5% discount.
1. reduce

2. increase

3. inquire

4. ask

34. The most popular ... today is television.
1. entertainment

2. purchase

3. feature

4. setting

35. It costs 10 dollars if you are paying ... .
1. currency

2. cash

3. money

4. coins

36. The Prime Minister takes policy decisions with the ... of his ministers.
1. appointment
2. agreement



3. invitation
4. position

37. The national Gallery ... a rich collection of paintings.
1. houses

2. sells

3. buys

4. frames

38.0n TV in Great Britain news is ... at regular intervals.
1. told

2. heard

3. broadcast

4. sung

39. Our information is that your ... are quoting lower prices for the same product.
1. workers

2. sellers

3. competitors

4. contacts

40. We enclose for your further information our current FOB ... .
1. price-list

2. payment

3. delivery

4. check

41. If any defects are found during the guarantee period the Seller is to correct them promptly at his ... .

1. obligation
2. expense
3. fault

4. money

42. We ... with this letter all the particulars concerning the product.
1. advise

2. enclose

3. develop

4. write

43. Our company is interested in ... business relations with you.
1. making

2. establishing

3. getting

4. making

Comprehensive Test 2
Choose the best answer to complete the sentence.
1. If she about his financial situation, she would have helped him out.
. had known

o knew



would have known

. I'll be their cat while they are away on holiday.

looking into
looking at

looking after

. He made his children their homework every afternoon.

to do
doing
do

. The test was difficult she had problems finishing it on time.

such
)

as

. By the time she arrives, we our homework.

finish
will finish

will have finished

. She lunch by the time we arrived.

finished
had finished

was finished

. The sun at 9 last night.

sat
setted

set

. When | stopped to Mary, she was picking some flowers in her garden.

speaking
to speak

speak

. Despite hard, he failed the exam.

he studied

studied



10.

17.

. I really didn't want to come last night.

studying

That room for a meeting this afternoon.
isused

is being used

uses

. We play tennis every day when we were young.

used
would to

would

A you, | would get a better job.

was

are

were

. He'll give you a call as soon as he

arrives
will arrive

is going to arrive

So did I.
Neither | did.
Neither did I.

. Do you think he knows what ?

he wants
does he want

wants he

. I think San Francisco is exciting New York.

as ... than
as.... SO
as ... as

Why are your hands so dirty? - Well, | in the garden.
have worked

have been working



18

25

worked

. Did you remember the door?
locking

lock
tolock

250 k.p.h.?
Which model does go

Which does model go
Which model goes

. That is the man grandfather founded Kentucky Root Beer.
who

whose
that

. I could hardly the ship in the distance.
see out

make through
make out

. Look at those clouds! It rain.
's going to

will
shall

, we won't have much to talk about.

If not he comes
Unless he comes
Since he comes

. He has interest in continuing the project.
any

not any
no

. - Where do you think Jane was yesterday? - She at home.
must be

must have been



30.

31.

33.

must go

. Jack told me he

is going to
will

was going to

. He drove the car

out of
out

into

. Jack

came along

came into

came through

‘I will finish that project soon.' - Ken said he

e have been made

e have been making

come the next day.

the garage and left for work.

a fortune when his great uncle passed on.

friends in Tacoma.

finish that project soon.

managing director, he is responsible for more than 300 employees.

the new car.

. Unfortunately, Peter has
a few
alot
few
. were
. would
. will
In his position
like
as
SO
. She wished she
bought
would buy
had bought
Fiestas

in Cologne, Germany for many years now.



e have made

34. | think you see a doctor.
e should better to

e ought

e had better

35. You'll be leaving for Tokyo soon, ?
e arentyou
e will you
e won'tyou
36. the last market session the Dow Jones dropped 67 points.
e During
e While
o For

Passive Verbs
Choose the best verb to fill in the blank.

1. Today most tea in India and China.
A. isgrown

B. was grown

2. The conference room to hold 50 people.

A. was designed
B. was designing

3. The 2006 World Cup in Germany, and Italy won the soccer tournament.

A. is held
B. was held

4. The personal computer, fax machine and iPod
A. have all been invented
B. had all been invented

in the last 25 years.

5. Grammatical mistakes when grading your final paper.

A. will be counted
B. would be counted

6. The vaccine free of charge for those who cannot pay.

A. will be distributing
B. will be distributed

7. The minutes of the meeting by and distributed before today's workshop.

A. are being typed up
B. were typed up



8. The office building to a shopping mall.
A. is connected
B. is connecting

9. The car twice but it is still not running well.
A. has been fixed

B. is fixed

10. Cell phones during the movie.

A. will be turned off
B. must be turned off

Modal Verbs

l.

1.1 ... speak French. How about you?
aycan  b)may  c) must

2. It is rather late. I ... go now.
aymay b)must c¢)can

3. ... I have your pen for a minute?
aymust b)may  c) need

4. Your work is over. You ... have a day off tomorrow.
aymay b)can  c) must

1.

1. MuUHHCTpPHBI JOJKHBI BCTpETUThCs B [lapike.
The ministers ... in Paris.

a) have to meet b) are to meet ¢) should meet

2. Bam CJICAYCT MOCOBCTOBATLCA C BpAaUOM.
a) should consult b) must consult c) have to consult

3. EMy npumiiock MHOTO paboTaTh BUepa.
a) must work b) was to work ¢) had to work

4. Bam He paspeiiar CACJIaTh 3TO.
a) will not be able to do b) won't be allowed to do
) can't do

5. Bam He HYHO OpaTh 3T KHUTH ¢ COOOM. Y MEHS OHH €CTb.
a) need not take b) must not take c¢) won't have to take

6. MBI JODKHBI OBITH BCTPETHTLCS B 5, HO OH HE IPUIIICIL.
a) had to meet b) were to meet ¢) might meet

Il.
1. He is very ill. They must send for the doctor immediately.
a) had to send ... b) were to send ... ¢) might send



2. Nobody can help me.
a) might help ... b) could help ...
¢) was allowed to help ...

3. You may not enter.
a) were not able to enter ... b) could not enter ... ¢) were not allowed to enter ...

Sequence of Tenses

Complete these sentences with suitable options.
I. We thought they ... be late.

1.would 2.shall 3.will

I1. The man asked if we ... English.
1.speak 2.spoke 3.speaks

I11. He told her that she ... a thief.
1.is 2.was 3.would

IV. He said that he ... at this Institute.
1.is studying 2.studies 3.studied

V. We thought that you (npunsiin) their invitation.
1.had accepted 2.assepted 3.received

VI. We were sure that you (0yzere npuHuMaTh yaactue) in these sports events.
1.will take part 2.would take part 3.would take place

VIL He says that he (Oyner cmymats) to the tape.
1.will be listened 2.will listen 3.would listen

VIII. He knew I (cobuparocs) to leave.
1.was going 2.is going 3.will have

IX. We were sure that he (pazpemmn) all his problems.
1.solved 2.had solved 3.had decided

X. He said that he preferred to spend his days off at home.

1.0H ckas3sai, 4To OpeANnoYNTaT NIPOBOAUTE CBOU BBIXOJHBIE JTHHU IOMa.
2.0H CKa3ajl, 4YTO NpCaAIIOYNUTACT IMTPOBOJUTH BBIXOJHBIC JTHU 0MaA.
3.0n TOBOPUT, YTO ONPCANTIOYNUTA NPOBOAUTH BBIXOAHBIC THU AOMA.

XI. We thought that she was going to enter the Institute.

1. MuI AyMacM, 4TO OHa co61/1paeTc;1 MOCTYIIUTb B UHCTUTYT.
2. MBI AyMau, 4To OHa COOMPAETCs MOCTYIUTh B HHCTUTYT.
3. MbI AyMau, 4TO OHa MOKAET B HHCTUTYT.

XII. The scientist said: “I work at this problem”.

1.The scientist said that he worked at that problem.
2.The scientist said that he works at this problem.

3.The scientist said that he was working at this problem.



KOTODOC N3 3TUX HDC,Z[J'IO)KCHI/Iﬁ TOYHEC NIEpeaacT CMBICJI JaHHOI'O aHTJITUHCKOTO HDC,Z[J'IO)KCHI/ISI?
XI1I. He said he would repair that watch.

1.He said he had to repair that watch.

2.He could have repaired that watch.

3.He said: 'll repair this watch”.

XIV. She asked me: “Have you completed the experiment?”
1.She asked me whether my experiment was completed.
2.She asked me if | had completed the experiment.

3.She asked me if | was going to complete the experiment.

Subjunctive Mood
After each sentence, select the verb or verb string that best completes that sentence. Caution: the
subjunctive form will not be the best choice in all sentences.

1. Itis very important that all employees in their proper uniforms before 6:30 a.m.

{

A. are dressed
> B. will be dressed

C. be dressed

2. l'wish my brother here.
A. were
B. was

3. The coach insisted that Fabio the center position, even though he's much too short for that
position.

f A. plays

C B. play

4. Evelyn Pumita moved that the meeting

A. was adjourned

B. be adjourned

5. My mother would know what to do. Oh, would that she here with us now!
A. were

B. was

6. If only he a little more responsible in his choice of courses!
A. was

B. were



7. If Mrs. Lincoln ill that night, the Lincolns would not have gone to Ford Theatre.

( A. were

C B. had been

8. Her employees treated Mrs. Greenblatt as though she a queen.

A. was

B. were

9. If his parents more careful in his upbringing, Holden Caulfield would have been quite

different.
> A. had been

( B. were

10. lwish | better today.
A. feel

-
B felt

The Infinitive

1. You warned me to stay away from Robert. | am sorry not.....................

advice.

o to have followed

o to be following

o to follow

o to have been following

2. Don't interrupt him when he is working. He hates...........cc.ccoocvoviinnnes

o to disturb

o to be disturbing

o to be disturbed

o to have been disturbed

3. lamglad .....to stay with them in their country-house.
o to invite

o to be invited

o to have invited

o to have been invited

4.  Library books mustn't................... for more than two weeks.
o keep

o be kept

o be keeping

o have kept

5. | meant .......... a job interview for you, I am sorry | couldn't.

o to have arranged



o to arrange

o to have been arranged

o to be arranged

6. They must have taught him a lesson. It ought to ... long ago.
o bedone

o have beendone

o do

o have done

7. Itis not enough to have a good mind; the main thing is .....it.
o to be using

o to use

o to have used

o to have been using

8. A great mistake that you can make in life is ... you are always right.
o to have thought

o to think

o to be thinking

o to have been thinking

9.  Greg's wife gave him a long list of things ... at the supermarket.
o to buy

o to be bought

o to have been bought

o to have bought

10. My friend Marion is coming from Chile. I am sorrv not...about it earlier.
o to ten

o to be told

o to have been told

o to have told

11.  I'was very upset and I didn't know whom ... to for advice.
o to turn

o to be turning

o to have turned

o to have been turned

12. | hoped ... you by phone, but | couldn't. Why didn't you pick up the receiver?
o to reach

o to have reached

o to be reaching

o to have been reaching

13.  Judging from the books and papers on his desk he must.............cccccvevvevvivevicnnene

the morning.
o  be working
o work

since they left him in



O
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14.

O O O O

O O O O

have worked
have been working

- Good-bye! I am so pleased..................... you. - The pleasure is mine.

to meet

to be meeting

to have been meeting
to have met

This dress looks so old and worn out. It SEEMS.........ccccvevvevveiieieieenienne. ages ago.
to make

to be made

to have been made

to have made

Infinitive and Gerund

| don’t mind Zac. It’s a nice nickname.

calling
being called

having been called

The safe showed no sign of

touching
being touched

having been touched

Our teacher suggests test next week.

writing
being written

having been written

| really appreciate this opportunity. I’ll do my best.

: giving
being given
having been given

She strongly objected to our afire.

making

being made

having been made



10.

11.

12.

13.

The child was punished by to bed without dinner.
- sending

being sent

having been sent

He was clever enough in this delicate situation.

C avoiding, speaking
: to avoid, to speak
avoiding, to speak
to avoid, speaking
I wonder if thereisanyuse _ the results.
trying, improving
trying, to improve
to try, to improve

to try, improving

| used a car to get to work, and now | can’t get used to by bus.

{
go

going

Do you remember your last exam? Was it hard?

( take

> to take

f taking

| don’t feel like this article today.

reading and to translate

to read and translating

reading and translating

The little girl was really afraid of lost in the forest.

having been

getting

having got

Is there anything here worth ?

buying



14.

15.

16.

17.

18.

19.

20.

being bought

having been bought

He disliked coming home late.

I
I

I
Me

Would you mind smoking here?

.

I
I

We stopped some food in the store, because we’d run out of our supplies.

not
not to
no

don’t

buying
to buy

having bought

What about to the cinema tomorrow?

.

to go
going

having gone

you here was a great surprise to me.

finding

having found

The friends couldn’t laughing when they discovered the problem.

| can't

{

assist
help
aid

support

stand
fall
sit

lie

standing in queues.



Grammar Skills
Fill in the gaps using an infinitive in each sentence.

1. The exceptions are too NUMErOUS fOr any rUle ..........coevir e e e e e

(naiiTn)

2 in turn each of the predecessors of Byzantine culture and to give
a general outline of their contributions is the aim of this chapter. (paccmotpets)

3. These conditions are sufficiently homogenous ... together.
(4roOBI paccMaTpuBaTh)

A civil officials, schools were established in the capital and
provinces (st moAroToBKH).

5. The people of thiS Period ........cocoiiii i e to have lived in
huts of skins, leaving no traces behind them. (mpeamnonoxuTenspHO)

6. He was the first English painter ............oooieiiiiiiii e, his native countryside
so sincerely. (koTopsIii ommcan)

7. This work was compiled by a learned monk, who
.................................................................... to have lived at the end of the 14" century (mo-
BUJIUMOMY).

8. There is a diStinCLion ..........ooiii i e between these classes of
words. (crmemyer cuenars)

D , dialectical varieties are as numerous here as

anywhere else in the peninsula.(npexzae Bcero)

Gerund, infinitive and present participle
Put the verbs in brackets into the correct forms. Note that sometimes a bare infinitive will be
required.

. I was lonely at first’ the old man admitted, ‘'but after a time 1 got
used to (live) alone and even got (like) it.'

° Before trains were invented people used (travel) on horseback or in
stage coaches. It used (take) a stage coach three days (go) from
London to Bath.

° I meant (buy) an evening paper but I didn't see anyone (sell) them.

° Tom: I want (catch) the 7 a.m. train tomorrow.

Ann: But that means (get) wup at 6.00; and youre not very good at
(get) up early, are you?

. He accepted the cut in salary without complaint because he was
afraid (complain). He was afraid of (lose) his job.

° She remembers part of her childhood quite clearly. She remembers
(go) to  school for the  first time and (be)  frightened  and (put) her
finger in her  mouth. And  she remembers  her  teacher  (tell) her  (take)
it out.

Did you remember (lock) the car? -
No, Idldnt I'd better (go) back and (do) it now.

° Next time we go (house-hunt), remember (ask) the agent for clear
directions. | wasted hours (look) for the last house.

° Tom: Let's (go) for a swim.
Ann: I'm not particularly keen on (swim). What about (go) for a



o o m >

drive instead?

Reading Comprehension Test 1
This passage is followed by a number of questions about it. You are to choose the one best answer, (A),
(B), (C), or (D), to each question.

Pauline Ortiz is a senior officer for a banking union, and her life was not always so good. She left
school at 17 and by 31 she was divorced with two children and no job. Then she heard about Ruskin. Founded
in 1899 Ruskin was the first residential college for working people and for those who had little or no
educational opportunity when young. Every autumn since then, men and women have arrived at the college
from a variety of communities and backgrounds, ethnic, industrial, and trade union, to study full-time for the
first time in their adult lives. They will leave with a degree and go on to further study, or return home to make
their careers, few have any recognized educational qualifications when they arrive.

All have a common interest in society and a desire to improve it. Entry to Ruskin is by interview and is only
for students who are 20 and over.

The college is residential and full state grants are available. If you are motivated to improve society
this is your opportunity to gain the education you always wanted - but missed.

Think of where it could get you.
Send for a prospectus now or ring 01865 310713.

1. Ruskin College is an institution for

A. military education
B. distance education
C. full-time higher education

D. post-graduate studies

To apply for a course you
must be a teenager

2.

A

B. must be not younger than twenty
C may be a person of any age

D

must be in your early twenties
3. The number of people studying at Ruskin
is unlimited
is more than 30
is not stated in the text

depends on communities demands

4. Ruskin college is for



c o m >

people without degrees
divorced people

bankers

o o w »

local residents

5. People come to the college to
get a state grant

learn more about Ruskin
join a trade union

get a degree

Reading Comprehension Test 2

Do you work with problem people? You know the type - the boss who is always moving the goal-
posts, uncooperative colleagues, underlings who fail to do things as well as you do. If you are plagued by
these or other problem types, perhaps you think the situation is beyond your control.

If so, think again. A good starting point is to recognize that behaviour breeds behaviour, which is one
of those great truths that hasn't really dawned on a lot of people. Through your behaviour you may, quite
unintentionally, be triggering a behaviour pattern in someone else that is for you a problem.

One of the commoner problem types is the authoritarian. Authoritarians talk too much and don't listen
enough. They assume that people are basically lazy, can't be trusted and must not be allowed to make their
own decisions because they would get it wrong. Authoritarians expect unswerving obedience and for someone
with ideas and initiative it can be very frustrating. Doing nothing is not a good idea - unless it suits you to
have someone taking all the decisions and telling you what to do.

You can alter your perception of the problem by recognizing that authoritarian behavior indicates not
strength but rather feelings of inadequacy. But there is little point in trying to persuade authoritarians to
change, so try to modify the situation. Nobody is authoritarian all the time: sometimes they are extremely
bossy, sometimes less so. The key lies in understanding what sort of situation triggers their authoritarian
behavior. It could be the risk of chaos, which authoritarians loathe. Or it might be a threat to or violation of a
non-negotiable matter, or insubordination by a junior. You will reduce the problem if you are compliant on
the issues that are sacrosanct and non-negotiable, but otherwise assertive. A useful approach is to assume that
it's all right to do things until told otherwise. This will give you some space for initiatives, and you can win
their trust slowly - but make sure that any initiatives you take do not jeopardize the orderliness which the
authoritarian holds so dear.

The defensive person is another problem type. Defensive people do not accept responsibility for their
actions, and therefore never learn from their experience. Nothing is ever their fault; there is always a seemingly
plausible explanation. The best way to tackle a defensive person is to choose a time when he has made a
mistake and invite him to join you in analyzing why it happened and what should be done to avoid it happening
again. A softly-softly approach is essential to stop the defensive barriers being raised. So start by asking for
their advice, initially about what you should do differently, and then slowly turning it round to establish what
they are going to do differently in future. This will provoke more defensiveness, but you must not let them off
the hook. Just keep repeating your challenge and eventually they will accept responsibility for their part in the
mistake.

When they do, ease up on them. In this way they will learn that defensiveness doesn't pay.



Answer these questions selecting the best option
1 What should people realize about 'problem people' in general?

A Their behaviour results from personal ambition.

B Their behaviour stems from a lack of clear purpose.

C Their behaviour will get worse if it is not controlled.

D Their behaviour is not necessarily a problem for others.

2 Which of the following is true of authoritarians, according to the writer?

A They do their jobs less efficiently than they think they do.

B They are a problem for everyone who has to work with them.
C They are disguising their own lack of self-confidence.

D They fear that other people are trying to get their jobs,

3 The writer advises that when dealing with authoritarians you should

A try to make them realize that they are being unreasonable.

B obey every order that they give to you without question.

C try to discuss things with them when they are feeling tolerant.
D challenge their attitude to people who show initiative.

4 When approaching defensive people, you should

A express disbelief of the explanations they give.

B suggest that you have made mistakes yourself.

C accuse them of being to blame for something.

D wait until they have made a particularly bad mistake.

5 The best way of solving the problem of defensive people is to
A force them to admit that nobody else is to blame.

B show them the advantages of admitting guilt.

C prevent them from becoming defensive.

D accept some of their denials of responsibility.

Language Comprehension Test 1
You must choose the word or phrase which best completes each sentence. Indicate the letter A, B,
C, or D against the number of each item 1 to 25 for the word or phrase you choose.

1 Following a lengthy power he became the Chairman of the company.

A strife B struggle Crivalry D confrontation
2 He proved to be distinctly to working in a position of responsibility,

A incompatible B inapt C unfit D unsuited
3 The passengers demanded for the loss of their luggage on the journey.

A refund B subsidies C compensation D proceeds

4 When questioned by the press, the Minister to discuss the matter.



A rejected B retracted C declined D denied

5 As the game went on, she in confidence.

A rose B grew C advanced D lifted
6 When | first came to this country, | only staying for a short time.

A predicted B envisaged  C forecast D supposed
7 1 gave them time to make a decision so | dont knowwhy they still havent replied.

A spacious B lavish C extensive D ample

8 What are the main of this illness?

A traces B symptoms C emblems D tokens
9 Money to be a problem after he had made his first successful film.

A ceased B discontinued C terminated D halted
10 Nobody would any tears if these terrible schemes were abandoned.

A pour B leak C spill D shed

11 She is so on getting to the top of her profession that she never lets anything get in her way.

A willing B desperate  C eager D intent
12 There was little we could do registering a formal complaint.
A beyond B further C over D beside

13 every effort has been made to ensure that the details in this brochure are correct, the company cannot
accept responsibility for any late changes.

A Even so B While C Nevertheless D Whereas
14 Unpopular govemment policies have given towidespread public discontent.
A grounds B rise C cause D consequence
15 Having never been in the country before, I was initially confused the value of each coin.
A as for B as with C as of Dasto
16 She went into the bathroomand her face with cold water towake herself up.
A splashed B scattered C squirted D sprinkled
17 Much of what he said hed little tothe issue we were discussing.
A concern B accordance Crelevance D involvement
18 His personal problems seem to have been himfrom hiswork lately.
Adisrupting B disturbing  C distracting D dispersing
19 It was a terrible experience and it PUL Ner ..o+ e flying forever.
A off B out C away D through
20 He isabad-empered manwho hasa tendency to his problems out on ather people.

A let B put C get D take



21 The captain's magnificent performance anexample to the rest of the team.

A set B gave C made D laid
22 \When | got back, they had eaten the whole cake and just a few were left on the plate.
A grains B drops C crumbs D shreds
23Untila agreement has been reached, 1am not committed to accepting the offer.
A hard B stable C firm D settled
24 Shesaid that she the apportunity to show that she could play a serious filmrole.
A greeted B rejoiced C welcomed D cheered
251 round to replying to their letter as soon as | have time, but I'm too busy at the moment
A get B come Cgo D turn

Language Comprehension Test 2
In this section you must choose the word or phrase which best completes each sentence. Indicate
the letter A, B, C, or D against the number of each item 1 to 25 for the word or phrase you choose.

LThe filmis oo, based on a true story, but most of it is fiction.

A loosely B casually C faintly D lightly
2 Unfortunately, the clerk ..........cccoveivivnnennn to tell me that the ticket | bought was not valid before
9 am.

A ignored B disregarded C omitted D missed

SItwas With ..., regret that we left the village in which we had lived happily
for so many years.

A deep B full C keen D passionate
4 Joan has always had a tendency to ........cccccecevevennees the importance of minor problems.

A overrate B exaggerate  C multiply D heighten

5 They started the business in .................... of making a lot of money quickly, but things didn't work
out that way.
A expectation B belief C certainty D likelihood
6 Police have not revealed the .........oevee details of the case.
A full B total C whole D sheer
7 She SEt c.viiiecee e to write a short novel, but it got longer and longer as she
wrote it.
Aup Bin Cout D about
(5] [ [— of value for money, this is the best car I've ever bought.
A sense B light C terms D regards
1 =TS S— several times and then left the stage to wild applause.
A bowed B ducked C crouched D stooped

10 Competition winners will be selected at ............cccceeveeenne. from a bag containing all correct entries.



A muddle B random C fluke D disarray

11 The pilot spoke to the passengers t0 ........cccooevercencvieeninnnn. their fears when the plane entered a
storm.
A allay B deter C soothe D placate
12 Then he started out on what ..........cccoovviiveiiiinieec e to be a very eventful journey.
A proved B arose C turned D developed
13 Ithinkyoure being............... pessimistic and that you'l do better than you expect.
A additionally B abundantly C unduly D worthlessly
14 Losses have forced the company to ......... 1000 of its workers.
A lay off B take away  C set apart D lose out
15She ............ being treated as an inferior at work.
A exasperates B resents C enrages D embitters
16 She seemedtobe .............. to losing and didn't make much effort.
A acceptable B resigned C compromised D content
17 I dont knowwhy you havetomakesucha............ about such atrivial matter.
A fuss B sensation C trouble D stir
18 I'd like to start my own business, but I'm not sure how to ......... about it.
A come B bring Cgo D see
19 She often appears not to care about her work, but appearances can be ........... :
A cunning B deceitful C deceptive D insincere
20In........... to them, it wasn't their fault that the party went so badly.
A fairness B justice C recognition D sympathy
21 Brian isn't keen on exercise, but heisn't .......... to the occasional walk.
A averse B unwilling  C reluctant D contrary
22 Itisdifficultto decideonthebest ................... of action in these circumstances.
A measure B course C process D policy

23 He has been with the company for 30 years, but the management has now decided to .............
with his services.

A discard B dispense C disuse D dismiss
24 Ruthis ............. to give up immediately when faced with any problem.

A habitual B subject C susceptible D apt
25 The government is making every effortto ................ an economic crisis.

A hinder B avert C impede D swerve

Conversation
What is the most appropriate answer?



1. Could I speak to Ms Johnson, please?

a) Hang up and I'll call you back.

b) Yes, I'll put you through.

¢) No, | prefer to hang on, it's very important.

d) Yes, I'd like to speak to the person who deals with paying your suppliers, please.

2. Good afternoon. Can I help you?

a) Yes, I'd like to speak to the person who deals with paying your suppliers, please.
b) I'm afraid you seem to have the wrong number.

¢) No, | prefer to hang on, it's very important.

d) Hang up and I'll call you back.

3. Is that Ojay and Simpson?
a) Well could you get him to call me back as soon as he gets in?
b) Yes, I'll put you through.

¢) I'mafraid you seem to have the wrong number.

d) No, I prefer to hang on, it's very important.

4. I'm afraid he's out of the office and won't be back for an hour or so.
a) Well could you get him to call me back as soon as he gets in?

b) I'm afraid you seem to have the wrong humber.

¢) Hang up and I'll call you back.

d) Yes, I'll put you through.

5. 1 could get him to call you back in a few minutes.
a) Yes, I'll put you through.

b) I'm afraid you seem to have the wrong number.

¢) Hang up and I'll call you back.

d) No, I prefer to hang on, it's very important.

6. There's a lot of noise on the line. Could you speak up?
a) Hangup and I'll call you back.

b) I'm afraid you seem to have the wrong number.
€) Yes, Il putyou through.

d) Well could you get him to call me back as soon as he gets in

Academic Vocabulary

From the following list, use each word only once to complete the sentences below. Remember that in the case of
nouns and verbs you may need to change the form of the word:

arbitrary (adj) e+ assign(v) e context(n) e criterion(n) ¢ data(n)

denote (v) ¢ devise (v) <« formulate (v) <« ignore(v) ¢ impact(n)



similar (adj) ¢ summary (n) <« wusage(n) < vertical (adj)

1 Although not exactly identical, the two books are so to each other that an
author must have copied much of his book from the other.

2. The Prime Minister set up a committee of financial experts to help him discuss and
new policies.

3. It is often possible to guess the meaning of a word from the other words around it — that is
the

4, In 1990, the British researcher Tim Berners-Lee the first browser, and so
paved the way for the development of the World Wide Web.

5. In newspapers, the layout of the columns is , While the rows run across the
page horizontally.

6. The rise in the number of deaths from AIDS has had a very significant on
people’s sexual behaviour.

7. The of drugs has increased significantly in spite of more severe penalties such as

longer prison sentences.

8. Students should not try to write down everything they hear in a lecture, but just make a
of the most important points.

9. We use the term "class" to groups of people who share the same
social and economic backgrounds.

10. In one case, a murderer may go to prison for life, while another may be set free: it all seems

completely

11. The new journalist was to researching the election promises of the main
political parties.

12. Before we can judge a government's success, we have to decide the ,such
as unemployment, defence or taxation.

13. One student failed because he completely the instructions on the

paper, although they appeared at the top of every page.



14. Market researchers use such as people's spending patterns as well

as information about age and occupation to decide on the most effective marketing strategies.

Fill in the gaps

1. We made a of our baby’s first sounds to send to my parents.

2. It can be quite difficult to really define ideas, such as love or friendship.

3. Agroup of volunteers to the needs of the victims of the tornado.

4. 1 she was talking to me because she was looking right at me when she said it.

5. The boss him to send the report out as soon as it was complete.

6. There has been a noticeable drop in the of crime in the area since the teen centre
opened up.

7. Ifweall , I’'m sure we’ll be able to finish on time.

8. Reading in English is an excellent way to your vocabulary.

Make corresponding nouns and use in sentences of your own

to consider
to cause

to occur

to raise

to contribute
to sign

to think

to appreciate
to determine
to define

2) IIpumepHbIe TEKCTHI IJIsl YCTHOIO MePeBo/ia Mo CHelHAIbLHOCTH M0 Kypcy

Tekcer 1.

Aside from the gases in the atmosphere, clouds also play a major role in climate. By reflecting
solar radiation away from Earth, some clouds act to cool the planet while other types of clouds warm
the Earth by trapping heat near the surface. For years, it was not known whether clouds warmed or
cooled the planet. Recent satellite measurements have proved that clouds exert an overall powerful
cooling effect on the Earth. In some areas, however, such as tropics, heavy clouds may markedly
warm the regional climate.

Clouds and greenhouse gases fit into a global radiation budget that must balance itself. Most
of the incoming solar radiation is received in tropical regions while very little is received in polar
regions especially during winter months. Over time, energy absorbed near the equator spreads to the
colder regions of the globe, carried by winds in the atmosphere and by currents in the ocean. The
small amount of energy retained in the atmosphere is redistributed, basically, by winds.

The Earth contains three essential parts, the lithosphere, the hydrosphere and the atmosphere.
The atmosphere or air sphere covers the whole of the surface of the Earth. The air consists principally
of two gases — oxygen and nitrogen. There are about 21 parts of oxygen and 79 parts of nitrogen.
Men and nearly all animals must have oxygen or they cannot live. In the atmosphere there is also a
little carbon dioxide. Now trees, grass cannot live without carbon dioxide. Besides oxygen, nitrogen
and carbon dioxide there are small quantities of other gases in the atmosphere; by far the most
important is moisture or water vapour



The atmosphere is a mixture of gases which surround the whole Earth. We do not know how
high the atmosphere extends. Scientists believe that there is some air at the height of 200 miles. All
the lower atmosphere contains some water vapour. The main source of the water vapour is the ocean,
which covers 71 % of the area of the Earth. Other sources are smaller bodies of water, such as rivers
and lakes. Winds carry water vapour from the ocean to the land. Rivers and glaciers return it in liquid
or solid form to the ocean.

Texker 2.

As part of the global hydrological cycle, moisture is continually entering the atmosphere by
evaporation and transpiration, and leaving it in the form of precipitation. The amount of moisture
that any part of the atmosphere can hold at any one time (saturation limit) depends on temperature:
cold air can hold very little moisture, and much more moisture can be evaporated into warm air before
it becomes saturated. Several expressions are used for describing the amount of moisture in the air.
Absolute humidity is the mass or weight of water vapour per unit volume of air, in grams per cubic
centimetre; however, as a body of air rises or sinks it undergoes volume changes, and its absolute
humidity is thus not a constant figure. Meteorologists make use of the term specific humidity, the
ratio of the weight of water vapour to the weight of the air, since this figure remains constant whatever
the volume changes, unless water is actually added or lost from the body of air. Another expression
useful to the meteorologist is relative humidity, which is the ratio of the actual amount of water in
the air to the maximum amount the air could hold at that temperature, stated as a percentage.

Moisture exists in all three states of matter in the"atmosphere, as vapour, liquid, or solid,;
changes from one to other are known as phase changes, and significant amounts of energy are
involved in accomplishing these changes. In the process of evaporation, 600 calories of latent heat
are required to change one gram of water from a liquid to .a vapour state. Normally such a heat loss
would be quickly compensated by .conduction and radiation. In the reverse process of condensation,
latent heat is released into the atmosphere, causing a slight rise in temperature.

Three principal factors favor evaporation. First, the initial humidity of the air: the drier the air,
the greater the potential evaporation from water surfaces. Second, heat is needed to maintain
evaporation, and the rate of evaporation will be proportionally higher depending on the warmth of
the water surface and the air immediately above it. Third, wind force can be a significant
factor,especially in turbulent conditions, where saturated air is conti nually replaced by fresh air. In
general, the greater the wind strength, the more effective evaporation is likely to be.

Tekcr 3.

Clouds are a visible manifestation of condensation in the atmosphere. There is great profusion
of cloud forms, but one can draw a distinction between stratiform clouds, which have a laver- like
appearance, and cumuliform clouds, which are heaped ormassive in shape. Two related factors are
important in determining cloud shape, that of air stability and the mode of uplift. In unstable
conditions, the dominant form of uplift is convection, and this is primarily responsible for the
vertically-developed cumuliform clouds. Stratiform types on the other hand, tend to be product of
stable air conditions, in which turbulence is the principle cloud-forming mechanism. Frontal uplift
gives rise to a variety of clouds, depending oil the type of front and the stability of the air. Simi larly,
clouds formed by orographic uplift can be either stratiform or cumuliform, depending on the stability
of the air.

Four main cloud «families» are recognized, e mbracin gten cloud genera. The high clouds
are composed largely of icecrystals, and include the wispy cirrus and the mackerel-sky effect of
cirrocumulus. The prefix alto defines the middle clouds, and these are generally found at heights of



between 3 and 6 km. The low clouds are often indicative of dull weather: stratus, for instance, .is a
dence low-lyifig cloud, and in the form of stratonimbus indicates the presence of precipitation. The
fourth family, clouds with vertical development, are clearly curnulifornl, reflecting in their shape
something of the upcurrents within them. Cumulus is the familiar white woolpack cloud.

Fog is cloud that forms close to the ground. There are three principal types, each indicative
of different ways in which cooling takes place. Radiation fog is caused by radiation cooling of the
land at night; un turn, the ground chills the adjacent air layers by conduction. This type of fog is
common in calm conditions under clear skies in late autumn and early winter. Advection fog forms
when moist air is blown over a cool surface and is chilled by contact. Typically this occurs over sea
areas in early summer, creating a sea fog. Steam fog is generally much more localized than the other
two types, and develop where cold air blows over much warmer waters

Tekcr 4.

Not all clouds give rise to precipitation, and it is important to realize that there is a difference
between the tiny droplets that make up clouds and the much larger drops that fall as rain. The process
of producing raindrops is not simply a case of droplets getting bigger by normal condensation. It
requires the coexistence of both water and ice in clouds at temperatures well below freezing. The
water exists in unfrozen super-cooled form because of the rarity of special freezing nuclei which are
required to form ice crystals. In this situation, the water vapour in the cloud tends to condense on the
ice crystals rather than the water droplets. The crystals eventually become sizeable enough to fall and
coalesce with other crystals to form snowflakes on the way down. Normally, they melt into raindrops
before reaching the ground. This process of rainm aking is known as the Bergeron mechanism.

Hail is of a rather different origin from the rain, snow, or sleet (partially melted snow)
described in the Bergeron theory. A hailstone is composed of alternate concentric rings of clear and
opaque ice, and is formed when an ice crystal is repeatedly carried up and down in the vertical
currents of a large cumulonimbus cloud. Freezing and partial melting may occur several times before
the pellet is large enough to escape from the cloud.

Thunderstorms develop when unstable conditions extend to great height, and this allows
powerful updraughts to develop within cumulonimbus clouds. Within a storm there may be several
convective cells, each-of which goes through a life-cycle. In the developing stage, the initial
updraught, formed in response to convection, is considerably accelerated by the energy released as
condensation occurs. The great strength of the updraught initially prevents rain from falling. In the
m ature stage, heavy rain accompanied by thunder and lightning occurs, and the top of the cloud
spreads out under the tropopause in a characteristic anvil shape. The storm, passes into the dissipating
stage as the supply of moisture in the cell is gradually exhausted. Downdraughts become
predominant, spreading out below the cloud, and preventing any further convective instability in the
immediate vicinity. Lightning occurs in thunderstorm s to relieve the electrical tension between
oppositely charged areas within the cloud. Thunder occurs because lightning heats the immediate air
to very high tem peratures, causing rapid expansion and vibration of the air column, which is heard
as thunder.

Texker 5.
Horisontal air movement or wind occurs on many scales, from small eddies to major circum
— planetary wind systems. The basic impulsion to air movement is provided by the inequalities in
the atmospheric energy budget. Variable heating sets up variations in pressure, and this becomes one
of the basic forces governing air movement. Once air is in motion, other factors come into play,
including Coriolis force, the deflection caused by the E a rth ’s, rotation; centripetal force, which acts



around circulatory pressure : systems; and the frictional force exerted by the E a rth ’s surface.
Pressure is normally measured in millibars, spatial variations of pressure being depicted on maps by
isobars, lines connecting places having the same barometric pressure. The gradual change of pressure
between different areas is known as the barometric slope or the pressure gradient. The pressure
gradient force always acts down the pressure gradient, attempting to cause the general movement of
air away from high-pressure towards low-pressure areas.

Coriolis force is named after the French physicist Coriolis, who in the 19th century formalized
the concept of the E arth ’s deflecting force. This causes a deflection of moving air. to the right in the
Northern Hemisphere and to the left in the Southern, whatever the original direction. The
phenomenon affects all freely moving objects, including ocean currents and projectiles. To the
observer, on the ground, the deflecting force varies with the speed of the. moving air and with
latitude: the faster the wind, the more ground it covers in a given time, and the greater the effect of
rotation can be. Near the equator the Coriolis force is very slight, .but it has marked effects in higher
latitudes. In the free atmosphere, above the level of flow affected by surface topography, the flow of
wind parallel to the isobars indicates that the two forces are exactly balanced. This sort of air motion
is known as the geostrophic wind. A qualitative expression of the geostrophic situation is Buys
Ballot’s Law, which states that if one stands with one’s back to the wind, then in the Northern
Hemisphere low pressure always lies to the left, and high pressure to the right. The reverse applies
in the Southern Hemisphere.

3) lIpuMepHBIii TEKCT AJIs1 YCTHOTO pepepupoOBaHNS MO CHENHAIBHOCTH 10 KYPCY

Teker 1.

Hurricanes — or tropical cyclones or typhoons as they are also known — are powered by heat
and moisture. They form near the equator over seas with a surface temperature of at least 27 °C (81
°F), a condition that occurs during the late summer "hurricane season”. A rising column of warm,
moist air forms a spiral system of clouds and warm winds. Technically, a hurricane exists when these
winds reach a speed exceeding 32.7 meters a second (about 73 miles an hour).

Hurricanes drift slowly westward at about 16 kph (10 mph) with the trade winds and also veer
away from the equator. When they leave the tropics or strike the land, they dissipate, cut off from the
warm seas that are the source of their energy. They are carefully monitored by weather satellites.

Air is a fluid and is forced to flow from regions of high pressure. How fast the air will flow
depends on the size of the difference in the pressure centers and the distance separating them. A large
difference in pressure over a short distance means a steep gradient of pressure on the weather map,
while a small difference over a larger distance implies a much weaker gradient. Air is rather like
water flowing down a slope — the steeper the slope, the faster the water flows but over the Earth's
surface, of course, the air flows horizontally, not down a slope. Areas on a weather map with a rapid
change of pressure across the surface will have air flowing rapidly (strong winds) while places with
weak pressure gradients will see lighter winds.

Two rather dry monsoon seasons severely limit the total amount of rainfall normally received
in East Africa. This is illustrated by the fact that almost two fifth of the region has annual means
below 800 mm, and only a few isolated mountainous areas reach values exceeding 2000 mm per
year. Compared to other equatorial monsoon regions, like Indonesia, where most areas have annual
means over 2500 mm or even more, East Af-rica is a very dry region indeed.

However, because of the high variability from year to year, annual means give a rather poor
representation of actual weather conditions. Especially if rainfall is considered in relation to
agriculture, annual means have little significance.



Tekcr 2.

Much new knowledge has been added to our understanding of the general circulation of the
atmosphere in recent years through the information supplied by satellites about conditions in the
upper troposphere. In its simplest form, the general circulation should operate like a gigantic heat
engine and produce, in vertical cross-section, a single cell circulation in each hemisphere, in which
there is rising air at the equator, high-level outflow towards the poles, and a return surface flow in
the opposite direction. Takind into account the E a rth ’s rotation, the upper flow should be predo-
minantly westerly and with the additional effects of friction, the surface flow should be slightly south
of easterly; but several important factors disguise this pattern. Perhaps the most signify cant is that
the interchange of heat between equator and poles does not take place only in a vertical sense, but is
also accomplis h e d in a horizontal sense; particularly in middle latitudes, where large masses of air
penetrate north and south past each other in upper air waves and surface frontal patterns. This means
that frontal systems are a major force in the maintenance of the general circulation.

Teker 3.

Broadly speaking, all the major wind systems around the globe are predominantly zonal or
latitudinal in character, especially the upper winds. The surface wind pattern is dominated by two
wind belts in each hemisphere. One of these is the trade-wind- belt, which covers nearly half the
surface of the globe, between latitudes 30° N and S. The permanency of the subtropical high-pressure
zones has an important bearing on the constancy of these winds. The two trade-wind systems
converge towards each other in the equatorial low-pressure trough. With the annual migration of the
trough with the overhead sun, the trade winds sometimes cross into their opposite hemisphere, giving
a narrow zone of equatorial westerlies, the south-west monsoons of Asia is an exaggerated version
of these winds. The second major surface wind belt in each hemisphere is the midlatitude westerlies,
which develop out of the poleward sides of the subtropical high-pressure cells. The westerlies of the
Southern Hemisphere are the stronger and more persistent, as there is minimal interference from land
masses in contrast to the Northern Hemisphere. Polewards of the westerlies, high-latitude areas are
generally regarded as being in the regime of the polar easterlies, but in the Arctic, where the polar
high-pressure area is only, a winter phenomenon, these winds tend to be seasonal.

Important zones of surface convergence and divergence exist in the general circulation. The
most important regions of divergence on the globe are the two subtropical high-pressure zones. There
are areas of relatively calm winds, sometimes given the name «horse latitudes». Three m ajor zones
of net convergence encircle the globe. Two 05 these are the polar front zones of each hemisphere,
between the westerlies and polar easterlies. The third lies in the equatorial trough between the
inblowing trade winds and is termed the inter-tropical convergence zone.

The upper air general circulation is characterized all year by upper westerlies from about 15°
of latitude almost to the poles. In low latitudes there is a much narrower belt of upper easterlies,
whose extension again depends on the seasonal migration of the equatorial trough. With the July
monsoon in India these winds reach as far as about 20 °N, and are accompanied, by. a marked tropical
jet stream, but at other times of the year the upper easterlies are limited

Texkcr 4.

The differences between the Northern and Southern. Hemispheres in the wind belts largely
arise from the differences in land area. The Southern Hemisphere circulation is more uniform, more
vigorous, and less affected by seasonal contrasts than the Northern Hemisphere. Marked summer
heating of Asia and Africa north of the equator sets up monsoonal effects wrhich occur only to a



minor degree in the Southern Hemisphere, where the conservative heating characteristics of the
oceans impose a tempering influence. On the other hand, the great coldness of Antarctica ensures
that a strong therm al gradient between the south Polar Regions and the equator drives a vigorous
circulation, all year.

The world’s major m ountain chains also have a marked influence on the general circulation.
At lower levels, north-south orientated topographic barriers obstruct zonal flow, as in the case of the
Rockies, which effectively prevent the penetration of west coast maritime air into the continental
interior. East-west aligned mountains inhibit meridional flow: the Himalayas, for instance, form an
extremely effective barrier to the northw ard movement of the summer monsoon. High mountains
also interfere with the upper air flow. The best studied example is again the Rockies which cause the
upper westerlies to contract (high pressure) on their western side but expand vertically (low pressure)
on their leeside. The latter then becomes one of the favoured locations of a Rossby wave trough,
which encourages high-level cold airto more southwards over The continental interior of North
America in summer, helping to counteract the development of any large monsoonal effect in the
continent.

TexkeT 5.

Large bodies of air whose physical properties, particularly those of tem perature and humidity,
are more or less uniform over considerable areas, are referred to as air masses. Since the lower layers
of the atmosphere acquire these properties via the E a rth ’s surface it is possible to recognize air
mass source region in which air masses pick up their features. These source regions are areas where
the E arth ’s surface is fairly uniform, such as oceas, deserts, or large ice- and snowcovered areas. In
addition, they are also regions of relative calm in the general circulation where homogeneous air m
ass characteristics can develop. Although air masses can become considerably modified as they
travel, it is usual to describe the main types in terms of their region of origin.

There are several principal air masses which affect the British Isles. The most important of
them are Polar and Tropical air masses. The Polar Front represents the fluctuating boundary between
these two types. The Polar air masses actually originate in cool-temperate regions rather than the
polar areas themselves. Two additional groups are sometimes encountered, Arctic and Equatorial air
masses which occasionally migrate well beyond their source regions. Each of these major groups
may further be described on the basis of their humidity characteristics as either maritime or
continental. In the Northern Hemisphere, Polar continental air masses have their source regions over
central Canada and Siberia, and air masses emanating from here are extremely cold and very dry,
bringing some of the coldest weather experienced by the British Isles. Polar maritime air masses
originate over the northern ocean areas, and are essentially cool and moist, and unstable in their lower
layers. They are frequent visitors to the British Isles, bringing dull rainy conditions. The subtropical
high-pressure centres over oceans act as source regions for Tropical maritime air masses; these are
typically warm, moist and unstable, especially in summer. Tropical continental air masses originate
over warm desert areas, such as Sahara and, not unexpectedly, they are hot, dry and unstable, although
too deficient in moisture to cause cloud development.

Air masses move away from source areas in accordance with the pattern of the general
circulation, and their basic characteristics may change in two ways: either by internal modification,
for example by subsidence, bringing about adiabatic changes, or by the external influence of the
surfaces over which they are passing. The end-result is to produce secondary air masses. One typical
example is Polar continental air originating from the high-latitude interior of North America. This
frequently travels eastwards across the Atlantic towards the British Isles, increasing in temperature
and moisture content in its lower layers, and being transformed into a Polar maritime air mass.
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1. IucbMeHHBIN TIEPEBO] TEKCTA 10 CIEIHMATIBHOCTH CO cioBapeM. Bpems — 1 gac. O0bem
nepeBoja: 2500 meyaTHBIX 3HAKOB.

2. YcTHOE pedeprpoBaHHe TEKCTa IO CIENUATBLHOCTH, 0€3 cioBaps. SI3BIK U3JIOXKEHUS —
aHrnuiickuil. Bpemst moarorosku — 5 MuH. O6bem: 1500 meyaTHbIX 3HAKOB.

3. Becena Ha anrmumiickom s3bike mo Temam: Academic Profile (1,2 cemectp), Research
Interests (1,2 cemectp), Conference Paper (2 cemectp).

4. [IpoBeneHue JIEKCUKO-TPaMMaTHYE€CKOTO TECTUPOBAHUSI.

[lepen sk3aMeHOM MPOBOIUTCS KOHCYJBTAIMS, Ha KOTOPOH MperojaBareilh OTBEUAeT Ha
BOIPOCHI MarCTPAHTOB.

OTBeT MarmcrTpaHTa Ha S5K3aMeHE IMO3BOJISIET MPOJAEMOHCTPUPOBATH YPOBEHb OCBOCHUS
3HAHUHU, MOJYYEHHBIX MAaruCTPaHTOM B MPOLECCe M3YYECHUS AUCLUIUIUHBI, U CHOPMUPOBAHHOCTD
YMEHUI U HAaBBIKOB.

B pesynbraTe NpOMEKYTOYHOTO KOHTPOJS 3HAHHM CTYIEHTHI MOJIy4aloT OIEHKY IIO
TUCITUTLIAHE.

Tab6muma 3
IMoka3aTesn, KPpUTEPUH U OLIECHUBAHHE KOMIETEHI[HIl M HHIUKATOPOB X IOCTHKEHUS B
npouecce MPoMe;KyTOYHOH aTTecTalui
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Jk3amen 1 u 2 YK-4 YK-4.1. 3(YK-4) | 1. Tekct mepeBemeH MOMHOCTHIO | OTIHIHO

ceMecTpoB/ YK-4.2. YV (YK-4) | (100 % o6bema) 3a ykasamHoe | 100-81

[TuceMmenHo- YK-4.3. B (YK-4) | Bpems, 0e3  HCKaKEHHH WU

YCTHBIH: YK-4.4. HETOYHOCTEH. AZIEKBaTHOCTH

[MuceMeHHbIi IepeBoJia JOCTUraeTcsi 3a cyeT

MEepeBOJl, yCTHOE MIPaBUJILHOTO MTOHUMAaHHUsI

pedepupoBanue, co/iepKaHUsS TEKCTa Ha OCHOBE

cobeceoBanue, 3HAHUA JEKCUKO-TPAMMATHYECKUX

TeCTUPOBaHUE MpaBWJ, BIAJEHUS  OCHOBaMH
epeBoa, MPaBUIILHOTO
[IOHUMAHMSI CHHTAKCHYECKOH U
CTUJIMCTUYECKOU CTPYKTYpBbI
MIPEAJIOKEHUS, BJIa/ICHUS
TEPMUHOJIOTUYECKONW CHUCTEMBI 110
n30paHHOH CIIEUATBHOCTH.
IlepeBon JIOJKEH
COOTBETCTBOBATH cTaHAapTaMm

PYCCKOTO sI3bIKa, HO JIOIYCKAaIOTCS
HEOOJbIINE  JIGKCHUECKHEe |
CTHIIUCTHYECKHe HeTouHocTH (1-
2);

2. DK3aMeHYEMBIi
JIEMOHCTPHUPYET HOpMAaTHUBHOE
MIPOU3HOIICHNE W OETIOCTh peun,
yMEeT TPHUACPKUBATHECS CXEMBI
pedepaTuBHOTO H3JIOKEHUS
conepKaHusg TIPEABSABICHHOTO
TEKCTa, yMEET JIOTHYECKH W
IpPaMOTHO TMepenarh CoJepKaHue
MIPOYUTAHHOTO, UCTIONB3YS
pa3HOOOpa3Hyl  JICKCHKY |
rpamMMaTH4ecKue CTPYKTYPHI,
BIaJeeT HaBBIKAMH OOOOIICHHUS,
BEIJICIICHUS TJIaBHOTO u
BEIPAKCHUS CBOETO MHCHUS.
BozMoxHBI OTICTHHBIC
HE3HAYUTEIbHBIC OIIMOKH, HE
HapYIIAIOIINE JIOTUKY H3JIOKCHHUS,
3. DK3aMeHyeMbIi JaeT
JIOTHYECKU 000CHOBaHHBIE
Pa3BEepHYTHIC OTBETHI HA BOIPOCHI
9K3aMEHATOpa, YMEET BBIPAXKAThH

CBOC MHCHHC, MPpUBOAUTH
MIpUMEPLL JJIA WJUTIOCTpalun
CBOE€TO OTBECTAa, HCIIOJIB3YET

pa3HOOOpa3HbIE CHHTAKCHUYCCKHE
CTPYKTYpBI, BIIaIceT MNpaBUIaMU
rpaMMaTHKH, 00agaeT IHUPOKUM
CHEKTPOM OOIIEepa3srOBOPHON U
podecCHOHATBHON JISKCHKH; TTPH
OTBETE BO3MOXKHBI  OTJEJIbHBIC
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MeJKHe OIMMOKHW, B IEJIOM, HE
HapyIaOI1e KOMMYHUKALMIO.
4. 81% - 100 % mpaBUIBHBIX
OTBETOB.
1. TexkcT mepeBeleH MONTHOCTBHIO
(100 % obOwvema) 3a ykaszanHoe | XOpoIIo
BpeMmsi,  nepeBox  BbimosiHeH | 80-61
aJIeKBATHO, SK3aMEHYEMBII
JIEMOHCTPUPYET 3HaHUE

CHUHTaKCHYEeCKHX M  JICKCHUKO-
rpaMMaTHYeCKUX  MPaBHI, HO
JIOIyCKaeT HETOYHOCTH
nekcuueckoro (He Oomee 2-1)
w/wnn  crunucTadeckoro  (1-2)

XapakTepa;
2. DK3aMeHyeMBbIi
JIEMOHCTPUPYET JOCTAaTOYHO

XOpoIllee MPOU3HOLICHHE, yMEeT
ClIe/IoBaTh cXeMe pedepaTHBHOTO
H3JI0KCHUSA TCKCTA, BBIJCIISATH
[JIABHOE, JIOTHYECKH W TPAMOTHO

nepenaBaTh cojiepKaHue
MPOYUTAHHOTO, HO HCIBITHIBACT
TPYAHOCTH co
CTPYKTYPUPOBAHUEM MOITYyYSHHOU
HHPOPMALTUI (06o0mIeHEM,
BBIBOJIAMH, BBICKA3bIBAHUEM
COOCTBEHHOTO MHEHHSA).
Jomnyckaer HEKOTOPbIE
rpaMMaTHYeCKHe WA

JIEKCUYECKHE OIIMOKH, KOTOPBIE
HE HapyIIAoT JIOTUKY WU3J0KEHHS,
HO BJIMSIFOT Ha OETIIOCTh peyH;

3. DK3aMeHYEMBIi JaeT
pasBEpHYTBIE OTBETHI HE Ha BCE
BOIIPOCHI 9K3aMeHaTopa,
JIEMOHCTPUPYS yYMEHHE
MOJIB30BaThCsl  pPa3HOOOpa3HBIMU
IrpaMMaTHYECKUMHU CTPYKTypamu
u 0011epa3roBopHOI u
mpo()eCCHOHANLHON JICKCUKON B
paMKax OCBOEHHOH IMpOrpaMMbl.
IIpu »5>TOM »53K3aMEHyeMBbIl He

BIIaieeT HaBBIKAMHA
CTPYKTYPUPOBAHUS CBOMX
BBICKa3bIBaHUH, HE yMmeer
COIIPOBOKAATH nux

COOTBCTCTBYIOIIMMHU TIPpUMEpPaAMU,
CChbUJIKaAaMH1 W T.A.; IIPpHU OTBETEC UM
JONYCKAaIOTCsA OIIHOKHU 1pu




®opma
NPOMEKYTOYHOM
aTTecTaluH/BH]
NPOMEKYTOYHOM
aTTecTallUH

Koapl
KOMIIEeT
eHIuit

HMuaukaropsl
KOMIeTeHIHH (8
coomeememeuu ¢
Tabnuyei 1)

Koapl
3YB (s
coomegemc
meuu ¢
Tabauyeii
1)

Kpurepuu onennBanus

Onenka

MOCTPOCHHUH CIIOKHBIX pPEUCBbIC
KOHCTPYKIIMH ~0€3  HapylIeHHs
KOMMYHHKAIIAH B IIEJIOM.

4. 61% - 80 % mnpaBUIBHBIX
OTBETOB.

1. TlepeBojn  BHINONHEH B
yKa3aHHOE BpeMs M €ro oobeM
cocraBnier He MeHee 75 %
o0BemMa OpHUTHHAlA, WA
BBITIONTHEH B TI0JTHOM o0beme (100
%), HO TIpU TIEpEBOJIE JOMYIICHBI
nckaxenus (1-2), HerouHoctu (He
6oee 3) B pe3ynbTare
rpaMMaTHYeCKUX  OMMOOK U
BBIOOpA JICKCUYECKOTO 3HAueHHMs
CIIOB, HE  COOTBETCTBYIOLIECTO
KOHTEKCTY;

2. DK3aMeHyeMbIi [omycKaer
3aMETHbIE OINOKH B
MPOU3HOLICHUH, HE CIIEYeT CXeMe
pedepariuBHOTO U3JIOKESHUS
TEKCTa/CTaThH, HO MOXET
aJIeKBaTHO TMEPEAaTh COACPIKAHHE
MPOYUTAHHOTO, HCTIONB3YS
OTpaHUYCHHBII 3ammac JeKCHKH, U
JIOTTyCKast rpaMMaTHYECKUE
OIIMOKH, HEe HAPYIIAIOIINE JIOTHKY
W3JIOKEHUSL.

3. DK3aMeHyeMBbIil JTaeT KpaTKue
OTBETHI, UCIIBITBIBAECT TPYAHOCTHU
NpU TPUBEICHUM TMPUMEPOB U
BBICKa3bIBAHUHU COOCTBEHHOTO
MHCHHS, UCTIOJB3YET
OTHOCHTEJBHO IIPOCTHIE JIEKCHKO-
rpaMMaTU4eCKHe cpencTBa,
JIEMOHCTPUPYET  OTPAaHHYCHHBIN
3amac  JICKCHKH, JIOIycKaeT
OMMOKKA TpPU  KCIOJIL30BAHUU
JIEKCUKO-TPAaMMaTHYECKUX
CTPYKTYD, MPETSITCTBYFOLIMX
MOJTHOLIEHHOW KOMMYHHUKAIIHH.

4. 41% - 60 % mnpaBUIBHBIX
OTBETOB.

1. TekcT mepeBeneH B yKa3aHHOE
BpeMsi U €ro 00bEeM COCTaBIsET
MeHee 75 % oObema opurHHamA,
WM BBITIOJIHEH B MOJHOM 00beMe,
HO JONYIICHH HCKakeHHs (3 o
6ouee), HeTouHOCTH (4 U Oojee) B

Y nosnersopu
TEJBHO
60-41

He
YAOBIETBOPUT
eJIbHO

40 u meHee
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pesynbTare rpaMMaTHYECKHAX

OMMOOK M BBIOOpA JICKCHYECKOTO

3HAYECHUS CIIOB HE

COOTBETCTBYIOILIETO KOHTEKCTY, a

TaK¥XKe CTWJIMCTUYECKUE

HeTouHOCTH (2-3);

2. DOk3aMEHyeMbI Jomyckaer
rpyObIe OIINOKH B
NIPOM3HOLIEHUH, HE CIIEYeT CXeMe
pedeparrBHOTO N3JIOKECHUS
TEKCTa, HE MOXET aJeKBaTHO
nepenarb cofepKaHue
MIPOYUTAHHOTO, JOIyCKAeT MHOTO
JIEKCUYECKUX WM TPaMMAaTHIECKHX
OmMOOK, HAPYyIIAOMINX JIOTHKY

N3JI0XKEHUS,
3. DK3aMeHyeMBbIi JlaeT
HCAJICKBATHHBIC OTBCTHI,
JIEMOHCTPUPYET HEIIOHUMAaHUEe
BOIIPOCOB 9K3aMEHATOPA,
HCIOJB3YET OFpaHI/I‘IEHHLIﬁ 3arac
CIIOB,  JONMyCKaeT  OoJblIoe

KOJIMYECTBO JICKCHYCCKUX u
rpaMMaTU4CCKUX OH.II/I6OK, 4qTo

MPUBOUT K HApYIICHHIO
KOMMYHHKAIHH.

4, 40 % w MeHee TNPaBUIBHBIX
OTBETOB.

Pe3ynprarel cjauum MpOMEKYTOUYHOM arTecTaluy IO HampaBlIE€HUSM MOATOTOBKU YPOBHS
MarucTparypsl OLEHUBAIOTCA 10 MATHOAITBHON CUCTEME OLIEHKH COINIacHO Tadnuie 3a, OCHOBHBIE
KPUTEPUU OLIEHKU 3HAHUI B MATHOAUIbHON (CTaHIApPTHOM) CUCTEME JAJIsl POTrPaMM MarucTparypsl

npeacTaBieHbl B Tabnuie 30.

Tabmuma 3a
CucreMa OlleHKH 3HAHU 00y4al0IIuXCsl
MaTudasibHas (CTaHJAPTHAs) CHCTeMa BbunapHasi cucTemMa OlleHKH
5 (oTu4HO) 3aYTEHO
4 (xopo11o)
3 (YOOBJIETBOPHUTEIHHO)
2 (HEyOBIETBOPUTEIHHO) HE 3aYTCHO
Tabauna 30
CucreMa OlleHKH 3HAHU 00y4aloIIuXCsl
[aTubanabHas KpuTtepuu oueHuBaHuSA
(cTaHapTHasi) cucTemMa
5 (omM4HO) CTaBHUTCA B TOM CIy4ae, KOoraa 00ydJaromuiicsl yCBOWII BECh MIPOTPAMMHBIA MaTepHal,

M3JaraeT N3y4eHHBIH MaTepra JJOTHYHO, CIOCOOEH IPUMEHSTH TEOPHIO IPH PEIICHUHN
MPaKTUYECKHX 33734, He UCTIBITHIBACT 3aTPYOHESHUH IPH OTBETE HA JIOTIOJHUTEIIHHEIC




BOIIPOCHI IK3aMEHATOPa, JEMOHCTPUPYET CaMOCTOSITENILHOCTh MbIIUICHHS. YPOBEHb
c(hopMHPOBAHHOCTH KOMIIETCHIIMHA — MOBBIIIICHHBIN (TIPOJIBUHYTHIN )

4 (xoporro) CTaBUTCS, €CJIM O0YJAIOIINUKCS TBEPIO 3HAET MPOTPAMMHBIN MaTepuaj, He TOMyCKaeT
CYIIIECTBEHHBIX HETOYHOCTEH IPH OTBETE HA JOIOJHHUTEIBHBIE BOMPOCH, COCOOEH
BBITIONTHATH MPAKTHYECKUE 3a/aHUs, TEMOHCTPUPYET AOCTATOYHO BBICOKHI YPOBEHb
c(hOpMHUPOBAHHOCTH KOMIIETEHIINN, OHAKO 3aTPYIHACTCS AaTh COOCTBEHHYIO OIIEHKY
pacKpbsIBa€MOMY BOTIPOCY. YpOBEHBL C(HOPMHUPOBAHHOCTH KOMIIETCHITUH — BHICOKHI

3 (YyAOBIETBOPUTEIHHO) CTaBUTCS, €Cli OOyJaIOIUICS OCBOWJI TOJILKO OCHOBHOW MaTepuajl, HO HE 3HaeT
OTACTBHBIX JETaJei, JOMYCKAeT HETOYHOCTH, HAPYIIACT IOCIEIOBATCIBHOCTh B
W3JIOKEHUH MPOTPaMMHOTO MaTepHajia W HCIBITHIBACT 3aTPYAHEHUS B BBITIOJIHEHUH
MPAaKTUYECKHX 3aJIaHMi. YPOBEHb C(HOPMHUPOBAHHOCTH KOMIIETCHIIUI — TOPOTOBBIN

2 (HEeyIOBIETBOPUTEIHHO) CTaBUTCS, €CIIM OOYYaIOIIMWCS HE 3HACT OTACIBHBIX PAa3lICIOB MPOrPAMMHOIO
Marepuaia, JOMYyCKAaeT CYIICCTBEHHBIC OIIMOKH, C OONBIIMMHU 3aTPYIHCHUSIMHU
BBIMONTHACT TPAKTHYSCKUE 3alaHus, 3aJaud. YPOBCHb C(POPMHPOBAHHOCTH
KOMIIETEHIIUI — KPUTUYECKUN

Pe3ynbTaThl MPOMEKYTOYHOTO KOHTPOJISI TIO JUCIHILIMHE, BHIPAKEHHBIC B MATHOATUIBHOMN
CUCTEME KOTJIIMYHOY, «XOPOILIO0», «yTOBICTBOPUTEIHHOY MMOKA3BIBAIOT YPOBEHb CPOPMUPOBAHHOCTH
y 00ydYaromerocss KOMIETCHIMHA IO JUCIMIUIMHE B COOTBETCTBHM C KapTaMH KOMIIETCHLUH
OCHOBHOM TpodeccHoHambHON 00pa3oBaTeNbHOM MPOTPAMMBI  BBICHIETO O00pa3oBaHUS —
nporpaMMbl  Maructparypel  «MeTeoponorus» 1o  HampasieHuto noarotoku  05.04.04
I'mapomeTeopomnorus.

Pe3ynbTaThl MPOMEKYTOYHOTO KOHTPOJISI TIO JUCIHILIMHE, BRIPAKEHHBIC B MATHOATUIBHON
CUCTEME «HEYJIOBJIETBOPUTEIILHO» IOKa3bIBAIOT HECPOPMHUPOBAHHOCTH Yy 00ydYaromierocs
KOMIIETEHIIMM [0 JHUCHUIUIMHE B COOTBETCTBMM C KapTaMM KOMIIETEHLIMHA OCHOBHOM
npodeCCHOHAIBHONW  00pa30BaTeIbHOM TPOTPaMMbl  BBICIIETO O0pa30BaHUs — MPOTPaAMMBI
MarucTparypsl «Mereoposiorush» no HanpasiieHuto noarotosku 05.04.04 I'magpomereoposorusi.

4. 3agaHusl K NPOMEKYTOYHOM aTTecTallun

1. [IpumepHbIe TEKCTHI JAJI51 MMCbMEHHOTI0 NepeBoa Mo CnenuaabHOCTH

Hurricanes

Hurricanes — or tropical cyclones or typhoons as they are also known — are powered by heat
and moisture. They form near the equator over seas with a surface temperature of at least 27 °C (81
°F), a condition that occurs during the late summer "hurricane season”. A rising column of warm,
moist air forms a spiral system of clouds and warm winds. Technically, a hurricane exists when these
winds reach a speed exceeding 32.7 meters a second (about 73 miles an hour).

Hurricanes drift slowly westward at about 16 kph (10 mph) with the trade winds and also veer
away from the equator. When they leave the tropics or strike the land, they dissipate, cut off from the
warm seas that are the source of their energy. They are carefully monitored by weather satellites.

Air is a fluid and is forced to flow from regions of high pressure. How fast the air will flow
depends on the size of the difference in the pressure centers and the distance separating them. A large
difference in pressure over a short distance means a steep gradient of pressure on the weather map,
while a small difference over a larger distance implies a much weaker gradient. Air is rather like
water flowing down a slope — the steeper the slope, the faster the water flows but over the Earth's
surface, of course, the air flows horizontally, not down a slope. Areas on a weather map with a rapid
change of pressure across the surface will have air flowing rapidly (strong winds) while places with
weak pressure gradients will see lighter winds.

Two rather dry monsoon seasons severely limit the total amount of rainfall normally received
in East Africa. This is illustrated by the fact that almost two fifth of the region has annual means



below 800 mm, and only a few isolated mountainous areas reach values exceeding 2000 mm per
year. Compared to other equatorial monsoon regions, like Indonesia, where most areas have annual
means over 2500 mm or even more, East Af-rica is a very dry region indeed.

However, because of the high variability from year to year, annual means give a rather poor
representation of actual weather conditions. Especially if rainfall is considered in relation to
agriculture, annual means have little significance.

Earth

Much new knowledge has been added to our understanding of the general circulation of the
atmosphere in recent years through the information supplied by satellites about conditions in the
upper troposphere. In its simplest form, the general circulation should operate like a gigantic heat
engine and produce, in vertical cross-section, a single cell circulation in each hemisphere, in which
there is rising air at the equator, high-level outflow towards the poles, and a return surface flow in
the opposite direction. Takind into account the E a rth ’s rotation, the upper flow should be predo-
minantly westerly and with the additional effects of friction, the surface flow should be slightly south
of easterly; but several important factors disguise this pattern. Perhaps the most signify cant is that
the interchange of heat between equator and poles does not take place only in a vertical sense, but is
also accomplis h e d in a horizontal sense; particularly in middle latitudes, where large masses of air
penetrate north and south past each other in upper air waves and surface frontal patterns. This means
that frontal systems are a major force in the maintenance of the general circulation.

Circulation.

Broadly speaking, all the major wind systems around the globe are predominantly zonal or
latitudinal in character, especially the upper winds. The surface wind pattern is dominated by two
wind belts in each hemisphere. One of these is the trade-wind- belt, which covers nearly half the
surface of the globe, between latitudes 30° N and S. The permanency of the subtropical high-pressure
zones has an important bearing on the constancy of these winds. The two trade-wind systems
converge towards each other in the equatorial low-pressure trough. With the annual migration of the
trough with the overhead sun, the trade winds sometimes cross into their opposite hemisphere, giving
a narrow zone of equatorial westerlies, the south-west monsoons of Asia is an exaggerated version
of these winds. The second major surface wind belt in each hemisphere is the midlatitude westerlies,
which develop out of the poleward sides of the subtropical high-pressure cells. The westerlies of the
Southern Hemisphere are the stronger and more persistent, as there is minimal interference from land
masses in contrast to the Northern Hemisphere. Polewards of the westerlies, high-latitude areas are
generally regarded as being in the regime of the polar easterlies, but in the Arctic, where the polar
high-pressure area is only, a winter phenomenon, these winds tend to be seasonal.

Important zones of surface convergence and divergence exist in the general circulation. The
most important regions of divergence on the globe are the two subtropical high-pressure zones. There
are areas of relatively calm winds, sometimes given the name «horse latitudes». Three m ajor zones
of net convergence encircle the globe. Two 05 these are the polar front zones of each hemisphere,
between the westerlies and polar easterlies. The third lies in the equatorial trough between the
inblowing trade winds and is termed the inter-tropical convergence zone.

The upper air general circulation is characterized all year by upper westerlies from about 15°
of latitude almost to the poles. In low latitudes there is a much narrower belt of upper easterlies,
whose extension again depends on the seasonal migration of the equatorial trough. With the July
monsoon in India these winds reach as far as about 20 °N, and are accompanied, by. a marked tropical
jet stream, but at other times of the year the upper easterlies are limited



The differences between the Northern and Southern.

The differences between the Northern and Southern. Hemispheres in the wind belts largely
arise from the differences in land area. The Southern Hemisphere circulation is more uniform, more
vigorous, and less affected by seasonal contrasts than the Northern Hemisphere. Marked summer
heating of Asia and Africa north of the equator sets up monsoonal effects wrhich occur only to a
minor degree in the Southern Hemisphere, where the conservative heating characteristics of the
oceans impose a tempering influence. On the other hand, the great coldness of Antarctica ensures
that a strong therm al gradient between the south Polar Regions and the equator drives a vigorous
circulation, all year.

The world’s major m ountain chains also have a marked influence on the general circulation.
At lower levels, north-south orientated topographic barriers obstruct zonal flow, as in the case of the
Rockies, which effectively prevent the penetration of west coast maritime air into the continental
interior. East-west aligned mountains inhibit meridional flow: the Himalayas, for instance, form an
extremely effective barrier to the northw ard movement of the summer monsoon. High mountains
also interfere with the upper air flow. The best studied example is again the Rockies which cause the
upper westerlies to contract (high pressure) on their western side but expand vertically (low pressure)
on their leeside. The latter then becomes one of the favoured locations of a Rossby wave trough,
which encourages high-level cold airto more southwards over The continental interior of North
America in summer, helping to counteract the development of any large monsoonal effect in the
continent.

Air masses.

Large bodies of air whose physical properties, particularly those of tem perature and humidity,
are more or less uniform over considerable areas, are referred to as air masses. Since the lower layers
of the atmosphere acquire these properties via the E a rth ’s surface it is possible to recognize air
mass source region in which air masses pick up their features. These source regions are areas where
the E arth ’s surface is fairly uniform, such as oceas, deserts, or large ice- and snowcovered areas. In
addition, they are also regions of relative calm in the general circulation where homogeneous air m
ass characteristics can develop. Although air masses can become considerably modified as they
travel, it is usual to describe the main types in terms of their region of origin.

There are several principal air masses which affect the British Isles. The most important of
them are Polar and Tropical air masses. The Polar Front represents the fluctuating boundary between
these two types. The Polar air masses actually originate in cool-temperate regions rather than the
polar areas themselves. Two additional groups are sometimes encountered, Arctic and Equatorial air
masses which occasionally migrate well beyond their source regions. Each of these major groups
may further be described on the basis of their humidity characteristics as either maritime or
continental. In the Northern Hemisphere, Polar continental air masses have their source regions over
central Canada and Siberia, and air masses emanating from here are extremely cold and very dry,
bringing some of the coldest weather experienced by the British Isles. Polar maritime air masses
originate over the northern ocean areas, and are essentially cool and moist, and unstable in their lower
layers. They are frequent visitors to the British Isles, bringing dull rainy conditions. The subtropical
high-pressure centres over oceans act as source regions for Tropical maritime air masses; these are
typically warm, moist and unstable, especially in summer. Tropical continental air masses originate
over warm desert areas, such as Sahara and, not unexpectedly, they are hot, dry and unstable, although
too deficient in moisture to cause cloud development.

Air masses move away from source areas in accordance with the pattern of the general
circulation, and their basic characteristics may change in two ways: either by internal modification,
for example by subsidence, bringing about adiabatic changes, or by the external influence of the



surfaces over which they are passing. The end-result is to produce secondary air masses. One typical
example is Polar continental air originating from the high-latitude interior of North America. This
frequently travels eastwards across the Atlantic towards the British Isles, increasing in temperature
and moisture content in its lower layers, and being transformed into a Polar maritime air mass.

[Ipu mnpoBeaeHHMH TEKyHmIed M MPOMEKYTOYHOM arTeCTallM MOTYT HCHOJb30BaThCA
AyTEHTUYHBIE TEKCTHI U3 MOHOTpaduii, HAYYHBIX CTaTel, U3y4aeMbIX CTYACHTAMH B XO/I€ 3aHATHH U
HAy4HBIX UCCIIEIOBAHUM.

2. [IpuMepHbBIe TEKCTHI AJIs1 YCTHOr0 pedepupoBaHusi MO CEeNHATbHOCTH

Tekcer 1.

Aside from the gases in the atmosphere, clouds also play a major role in climate. By reflecting
solar radiation away from Earth, some clouds act to cool the planet while other types of clouds warm
the Earth by trapping heat near the surface. For years, it was not known whether clouds warmed or
cooled the planet. Recent satellite measurements have proved that clouds exert an overall powerful
cooling effect on the Earth. In some areas, however, such as tropics, heavy clouds may markedly
warm the regional climate.

Clouds and greenhouse gases fit into a global radiation budget that must balance itself. Most
of the incoming solar radiation is received in tropical regions while very little is received in polar
regions especially during winter months. Over time, energy absorbed near the equator spreads to the
colder regions of the globe, carried by winds in the atmosphere and by currents in the ocean. The
small amount of energy retained in the atmosphere is redistributed, basically, by winds.

The Earth contains three essential parts, the lithosphere, the hydrosphere and the atmosphere.
The atmosphere or air sphere covers the whole of the surface of the Earth. The air consists principally
of two gases — oxygen and nitrogen. There are about 21 parts of oxygen and 79 parts of nitrogen.
Men and nearly all animals must have oxygen or they cannot live. In the atmosphere there is also a
little carbon dioxide. Now trees, grass cannot live without carbon dioxide. Besides oxygen, nitrogen
and carbon dioxide there are small quantities of other gases in the atmosphere; by far the most
important is moisture or water vapour

The atmosphere is a mixture of gases which surround the whole Earth. We do not know how
high the atmosphere extends. Scientists believe that there is some air at the height of 200 miles. All
the lower atmosphere contains some water vapour. The main source of the water vapour is the ocean,
which covers 71 % of the area of the Earth. Other sources are smaller bodies of water, such as rivers
and lakes. Winds carry water vapour from the ocean to the land. Rivers and glaciers return it in liquid
or solid form to the ocean.

Texker 2.

As part of the global hydrological cycle, moisture is continually entering the atmosphere by
evaporation and transpiration, and leaving it in the form of precipitation. The amount of moisture
that any part of the atmosphere can hold at any one time (saturation limit) depends on temperature:
cold air can hold very little moisture, and much more moisture can be evaporated into warm air before
it becomes saturated. Several expressions are used for describing the amount of moisture in the air.
Absolute humidity is the mass or weight of water vapour per unit volume of air, in grams per cubic
centimetre; however, as a body of air rises or sinks it undergoes volume changes, and its absolute
humidity is thus not a constant figure. Meteorologists make use of the term specific humidity, the
ratio of the weight of water vapour to the weight of the air, since this figure remains constant whatever
the volume changes, unless water is actually added or lost from the body of air. Another expression



useful to the meteorologist is relative humidity, which is the ratio of the actual amount of water in
the air to the maximum amount the air could hold at that temperature, stated as a percentage.

Moisture exists in all three states of matter in the"atmosphere, as vapour, liquid, or solid,;
changes from one to other are known as phase changes, and significant amounts of energy are
involved in accomplishing these changes. In the process of evaporation, 600 calories of latent heat
are required to change one gram of water from a liquid to .a vapour state. Normally such a heat loss
would be quickly compensated by .conduction and radiation. In the reverse process of condensation,
latent heat is released into the atmosphere, causing a slight rise in temperature.

Three principal factors favor evaporation. First, the initial humidity of the air: the drier the air,
the greater the potential evaporation from water surfaces. Second, heat is needed to maintain
evaporation, and the rate of evaporation will be proportionally higher depending on the warmth of
the water surface and the air immediately above it. Third, wind force can be a significant
factor,especially in turbulent conditions, where saturated air is conti nually replaced by fresh air. In
general, the greater the wind strength, the more effective evaporation is likely to be.

Texcr 3.

Clouds are a visible manifestation of condensation in the atmosphere. There is great profusion
of cloud forms, but one can draw a distinction between stratiform clouds, which have a laver- like
appearance, and cumuliform clouds, which are heaped ormassive in shape. Two related factors are
important in determining cloud shape, that of air stability and the mode of uplift. In unstable
conditions, the dominant form of uplift is convection, and this is primarily responsible for the
vertically-developed cumuliform clouds. Stratiform types on the other hand, tend to be product of
stable air conditions, in which turbulence is the principle cloud-forming mechanism. Frontal uplift
gives rise to a variety of clouds, depending oil the type of front and the stability of the air. Simi larly,
clouds formed by orographic uplift can be either stratiform or cumuliform, depending on the stability
of the air.

Four main cloud «families» are recognized, e mbracin gten cloud genera. The high clouds
are composed largely of icecrystals, and include the wispy cirrus and the mackerel-sky effect of
cirrocumulus. The prefix alto defines the middle clouds, and these are generally found at heights of
between 3 and 6 km. The low clouds are often indicative of dull weather: stratus, for instance, .is a
dence low-lyifig cloud, and in the form of stratonimbus indicates the presence of precipitation. The
fourth family, clouds with vertical development, are clearly curnulifornl, reflecting in their shape
something of the upcurrents within them. Cumulus is the familiar white woolpack cloud.

Fog is cloud that forms close to the ground. There are three principal types, each indicative
of different ways in which cooling takes place. Radiation fog is caused by radiation cooling of the
land at night; un turn, the ground chills the adjacent air layers by conduction. This type of fog is
common in calm conditions under clear skies in late autumn and early winter. Advection fog forms
when moist air is blown over a cool surface and is chilled by contact. Typically this occurs over sea
areas in early summer, creating a sea fog. Steam fog is generally much more localized than the other
two types, and develop where cold air blows over much warmer waters

Texkcr 4.

Not all clouds give rise to precipitation, and it is important to realize that there is a difference
between the tiny droplets that make up clouds and the much larger drops that fall as rain. The process
of producing raindrops is not simply a case of droplets getting bigger by normal condensation. It
requires the coexistence of both water and ice in clouds at temperatures well below freezing. The
water exists in unfrozen super-cooled form because of the rarity of special freezing nuclei which are



required to form ice crystals. In this situation, the water vapour in the cloud tends to condense on the
ice crystals rather than the water droplets. The crystals eventually become sizeable enough to fall and
coalesce with other crystals to form snowflakes on the way down. Normally, they melt into raindrops
before reaching the ground. This process of rainm aking is known as the Bergeron mechanism.

Hail is of a rather different origin from the rain, snow, or sleet (partially melted snow)
described in the Bergeron theory. A hailstone is composed of alternate concentric rings of clear and
opaque ice, and is formed when an ice crystal is repeatedly carried up and down in the vertical
currents of a large cumulonimbus cloud. Freezing and partial melting may occur several times before
the pellet is large enough to escape from the cloud.

Thunderstorms develop when unstable conditions extend to great height, and this allows
powerful updraughts to develop within cumulonimbus clouds. Within a storm there may be several
convective cells, each-of which goes through a life-cycle. In the developing stage, the initial
updraught, formed in response to convection, is considerably accelerated by the energy released as
condensation occurs. The great strength of the updraught initially prevents rain from falling. In the
m ature stage, heavy rain accompanied by thunder and lightning occurs, and the top of the cloud
spreads out under the tropopause in a characteristic anvil shape. The storm, passes into the dissipating
stage as the supply of moisture in the cell is gradually exhausted. Downdraughts become
predominant, spreading out below the cloud, and preventing any further convective instability in the
immediate vicinity. Lightning occurs in thunderstorm s to relieve the electrical tension between
oppositely charged areas within the cloud. Thunder occurs because lightning heats the immediate air
to very high tem peratures, causing rapid expansion and vibration of the air column, which is heard
as thunder.

Tekcr 5.

Horisontal air movement or wind occurs on many scales, from small eddies to major circum
— planetary wind systems. The basic impulsion to air movement is provided by the inequalities in
the atmospheric energy budget. Variable heating sets up variations in pressure, and this becomes one
of the basic forces governing air movement. Once air is in motion, other factors come into play,
including Coriolis force, the deflection caused by the E a rth ’s, rotation; centripetal force, which acts
around circulatory pressure : systems; and the frictional force exerted by the E a rth ’s surface.
Pressure is normally measured in millibars, spatial variations of pressure being depicted on maps by
isobars, lines connecting places having the same barometric pressure. The gradual change of pressure
between different areas is known as the barometric slope or the pressure gradient. The pressure
gradient force always acts down the pressure gradient, attempting to cause the general movement of
air away from high-pressure towards low-pressure areas.

Coriolis force is named after the French physicist Coriolis, who in the 19th century formalized
the concept of the E arth ’s deflecting force. This causes a deflection of moving air. to the right in the
Northern Hemisphere and to the left in the Southern, whatever the original direction. The
phenomenon affects all freely moving objects, including ocean currents and projectiles. To the
observer, on the ground, the deflecting force varies with the speed of the. moving air and with
latitude: the faster the wind, the more ground it covers in a given time, and the greater the effect of
rotation can be. Near the equator the Coriolis force is very slight, .but it has marked effects in higher
latitudes. In the free atmosphere, above the level of flow affected by surface topography, the flow of
wind parallel to the isobars indicates that the two forces are exactly balanced. This sort of air motion
is known as the geostrophic wind. A qualitative expression of the geostrophic situation is Buys
Ballot’s Law, which states that if one stands with one’s back to the wind, then in the Northern



Hemisphere low pressure always lies to the left, and high pressure to the right. The reverse applies
in the Southern Hemisphere.

[Ipu mnpoBeaeHHMH TEKymIeW W MPOMEKYTOYHOM arTeCTalliM MOTYT HCHOJb30BaThCA
ayTEHTUYHBIE TEKCTHI U3 MOHOTpaduii, HAYYHBIX CTaTel, U3y4aeMbIX CTYACHTAMH B XO/I€ 3aHATUH U
HAy4HBIX UCCIIEIOBAHUM.

3. IlpuMepHBbIe BONPOCHI sl Oecelbl 0 HAYYHBIM HHTEpecam

Discussing Background Information and Research

What Institute / Academy / University did you graduate from?

When did you graduate from the Institute / Academy / University?

What subjects were you interested in?

What is your specialty area?

What is your current research focus?

When did you get interested in research work?

What is the subject of your future master’s thesis?

What issues are you going to address?

Is there extensive specialist literature on your subject?

10. What is theoretical framework of your research?

11. Why is your research important / topical?

12. What empirical material are you going to rely on?

13. What methods and techniques are you going to employ?

14. In what way is your paper going to contribute to developing your research field?

15. What is the theoretical / practical significance of your research?

16. Have you started your research yet? How long will it take you to write your thesis?

17. What do you think determines a person’s progress in academic environment?

18. Who is your academic supervisor? Do you often consult him / her? What does he / she
specialize in?

19. What professional training / retraining courses have you taken up / would you like to take up?

20. Why did you choose your particular field of research?

21. What do you think determines a person's progress in academic environment?

22. What personal characteristics do you feel are necessary for success in your chosen field?

23. What are your long term / short term plans and ambitions?

©CoN>~wWNE

4. HpnMepHme 3adaHUsA QJIA IMPOBECACHUA JEKCUKO-TPAMMATHYECCKOI0 TECTUPOBAHUSA

Grammar and Vocabulary Test

Circle the correct letter.

1 I’m 18 and my brother is 20, so he’s never forgets to do things.
....... me. a reliable

a the oldest of b patient

b older than C strict

casold as

3 We stayed in a lovely villa ....... the sea.
2 Carl’s very ......He’s never late, and he a it overlooks



8

10

11

b overlooked
c overlooking

Not until the 1980s ........ for the average
person to own a computer.

a it was possible

b was it possible

¢ was possible

Jan......... her arm on a hot iron.
a broke

b burned

c sprained

Tomorrow’s a holiday, so we ....... goto
work.

a have to

b mustn’t

c don’t have to

lusually ....... swimming at least once a
week.
ago
b do
c play

My friend Siena ....... to Russia last year.

a went
b has gone
¢ has been

Thisis ...... area, with a lot of factories
and warehouses.
a an agricultural
b an industrial
c a residential

Ifl...... well in my exams, I......... to
university.
a will do; will go
b will do; go
c do; will go

She was so upset that she burst
tears.
ainto
b out
¢ with

12

13

14

15

16

17

18

19

20

Where did you go ......... holiday last
year?
a for
b on
cto
Ocean currents....... play an important

part in regulating global climate.
a are known to

b thought to

c are believed that they

My cousin ......getting a job in Bahrain.
awould like
b is planning
c is thinking of

Ican’t....... your hair, because | haven’t
got any scissors.
a brush
b cut
¢ wash

Iwishl........ have an exam tomorrow!
adon’t
b didn’t
cwon’t

The government plans to ....... taxes on
sales of luxury items.
a increase

b expand
c go up

When | first moved to Hong Kong, life in
a different country was very strange, but
now I’mused ....... here.

a living

b to live

c to living

There ....... milk in the fridge.
a is some
b are some

cisa

Criminals are people who are guilty of



......... the law.
a breaking
b cheating
c committing

21 Why on earth isn’t Josh here yet?......

22

23

24

25

26

27

2

oo

for him for over an hour!
a I’m waiting

b I’ve been waiting

¢ I’ve waited

“It’s pouring down, and it’s freezing.”
What are the weather conditions?

a high winds and snow

b heavy rain and cold temperatures

¢ thick cloud but quite warm

........ feeling OK? You don’t look very
well.
a Do you
b You are
¢ Are you
Daniel’s hair is getting far too long; he

should ........ soon.
acutit

b have cut it

¢ have it cut

Mandy works for a computer software
company. She got...... recently, and so
now she’s an area manager.

a made redundant
b promoted
c araise

| can’t hear you - it’s .....noisy in here.
atoo
b too much
c too many

Jamal has just sent me ....... to arrange
plans for this weekend.
aablog
b an email
c a website

I promise I’ll call you as soonas |........

29

30

31

32

33

34

35

36

al arrive
b I arrived
c I’ll arrive

Photographers and designers need to be

a creative
b fit
Cc annoying

The global financial crisis, ....... is
forcing lots of small businesses to close,
does not look set to end soon.

ait

b that

¢ which

There ......a terrible accident if the pilot
hadn’t reacted so quickly.

a had been

b was

¢ would have been

“Are you ready to order?”

“Not yet - I’'m still looking at the .....
a bill

b menu

C service

“My job is never boring.”

The speaker’s job is always........
a interesting

b popular

c difficult

I’ve been working here...... about the
last two years.

a during

b for

c since

“It leaves from Platform 2 at 4.15.”
The speaker is talking about .......
a an airline flight
b atrain
C a taxi

I went to a lovely ......lIast Saturday.



The bride was my best friend when we
were at school.

a anniversary

b marriage

¢ wedding

37 “I’ve got a headache.”
“Maybe you ......to take an aspirin.”
a should
b ought
cdon’t

38 The patient had an ......to insert metal
pins in his broken leg.
a injection
b operation
¢ X-ray

39 She won a seat in parliament at the last

a general election
b opinion poll
c referendum

40 I’m surprised you didn’t get upset. If
someone said that to me, ...... really
angry.
al’'m
b I was
c’d be

41 This used to be.... part of the city, but
since the old buildings were renovated
it’s become a very fashionable area.

a an affluent
b a run-down
c a trendy

42 Cassie went to bed early because she was
a tired
b stressed
c relaxed

43 In the 1960s, computers were ......
expensive that ordinary people couldn’t
afford them.
aso
b such

c too

44 Do you want ....... the match tonight?

45

a watching
b watch

¢ to watch

Researchers claim the new discovery is a
major .....in the fight against malaria.

a breakthrough

b investigation

C progress

46 The Maths problem was really difficult

and | just couldn’t ......the answer.
a check in

b set off

¢ work out

47 When | was a child, | never ....about
the future.
a have worried
b used to worry
C was worrying

48 Alocal politician has ......... charges of

corruption made by the opposition party,
a accused

b blamed

¢ denied

......... worries me about society today is
how completely we have come to depend
on technology.
a That
b What
¢ Which

50 Cats and dogs are usually kept as........

a farm animals
b wild animals
C pets



Academic Vocabulary Test |
Choose the correct answer for each exercise:

1. The arrangement of students into classes based on mastery of specific skills or according
to general intelligence is known as
a. ability grouping
b. collaborative learning
c. bilingual education
d. accountability

2. A policy that requires that student progress be measured and teachers be responsible for
student progress is

a. accountability

b. bilingual education

c. ability grouping

d. collaborative learning

. Bilingual education

teaches a second language to students
teaches students how to ride a bicycle
involves home schooling

requires accountability

coo®wWw

4. A learning situation in which students work together on a project or assignment is
a. competency testing

b. accountability

c. cultural literacy

d. collaborative learning

1. The measurement of a student’s ability to perform a specific skill or achieve a specified level is
a. competency testing
b. collaborative learning
c. accountability
d. curriculum

2. The familiarity with a body of knowledge that most people share is
a. curriculum
b. competency testing
c. accountability
d. cultural literacy

3. Acourse or program of study is
a. tenure
b. whole language
c. phonics
d. curriculum

4. A learning environment in which students have access to computers, the Internet, and
multimedia sources of information is a/an
a. field trip
b. phonics program
c. electronic classroom



d. home schooling program

5. A program of supplemental instruction designed to stimulate and further the growth of
students who exhibit high intelligence or exceptional mastery of skills is
a. school board
b. field trip
c. gifted and talented
d. skills teaching

6. Apolicy that allows qualified parents to educate their children at home is
electronic teaching

community learning

collaborative learning

home schooling

cooe

7. Specific learning goals or accomplishments that a school or teacher establishes for students
with objectives that identify what the students are to learn are
a. curriculums
b. learning communities
c. instructional objectives
d. ability groups

8. An environment in which teachers and students come together to provide respect,
interaction, and positive feedback in support of students as learners is
a. tenure
b. the learning community
c. home schooling
d. the school board

9. The ability to read and write is known as
a. literacy
b. library
c. ability grouping
d. phonics

10. A school that offers special, unique programs to attract students from within a school
district is
a. ahome school
b. astandard school
c. amagnet school
d. asuper school

11. A form of testing that requires students to show what they know by actually doing
something, such as performing a specific task is
a. performance assessment
b. whole language testing
c. standardized testing
d. phonics

12. A method of teaching reading that emphasizes letters and the sounds associated with them

IS
a. tenure
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b. whole language
c. phonics
d. ability grouping

13. Agroup of elected officials that serves as a governing body of a school district is the
a. magnet school
b. home school
c. black board
d. school board

14. A formal, usually commercial test that is administered according to specific directions
with time limitations is a
a. whole language
b. learning community
c. standardized test
d. performance assessment

15. A method of teaching that integrates reading, writing, speaking and listening is
a. home schooling
b. whole language
c. phonics
d. ability grouping

Academic Vocabulary Test 11

Choose the correct answer for each exercise.
1. Atype of research that involves close, in-depth observation and analysis of

individual people is a/an
culture
case study
defense mechanism
ethnic group

o0 oW

2. A mental process such as thinking, remembering, and understanding is
a. culture

b. memorization

C. cognition

d. memory

3. A system for living that includes objects, values, and characteristics that people
acquire as members of society is

a. an ethnic group

b. culture

c. ethnocentrism

d. learning

4. A method of reducing anxiety by denying or distorting a situation or problem is
a. alearning

b. acase study

c. a hypothesis

d. a defense mechanism

5. Empirical refers to
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information obtained from or that can be verified by observation or experimentation
information that can never be verified

a form of government ruled by an emperor

none of the above

oo o

6. A collection of people who share a cultural heritage is
a. learning
b. an ethnic group
c. a heterogeneous population
d. a homogeneous population

7 The belief that one's own culture is superior to that of others is
a. xenophobia

b. egomania

c. ethnocentrism

d. hypothesis

8.  Atentative explanation about how various events are related to one another that can be

tested by further experimentation is a

a. case study
b. hypothesis
c. culture

d. experiment

9.  The capacity to learn from experience and to adapt to one's environment is
a. multiculturalism
b. intelligence
c. ethnocentrism
d. egomania

10.  Arelatively permanent change in knowledge or behavior that results from experience

a. anexperiment
b. learning

c. intelligence

d. culture

1. The study of diverse racial and ethnic groups within a culture is
a. egomania
b. intelligence
c. ethnocentrism
d. multiculturalism

12.  Asocial rule that specifies how people should behave is
a. value
b. norms
C. odds
d. status

1 3. Agroup whose members share the same age or common interests is a

a. inferior group
b. peer group
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c. subgroup
d. superior group

14. Areward or the process of giving a reward after a desirable behavior has occurred is
a. sanction
b. punishment
c. reinforcement
d. value

15. Avreward for conforming to what is expected or a punishment for violating
expectations is a
a. reinforcement
b. value
C. sanction
d. punishment

16. Acategory of people who have approximately equal income, power, and prestige is a
a. peer group
b. status class
c. social class
d. value group

17.  One's position in a group or society is
a. sanction

b.norm

c. status

d. value

18.  Anoversimplified, inaccurate mental picture or conception of others is a
a. status

b. stereotype

c. value

d. norm

19. A socially agreed upon idea about what is good, desirable, or important is a
a. norm

b. stereotype
c. status

d. value

Academic Vocabulary Test 111

1. Choose the word to match the definition:
an abstract or general idea inferred or derived from specific instances
-~

concept

{ formula

( labour

an amount of time
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estimate
source

period

the field of academic study in which one concentrates or specializes

available
major

similar
the totality of surrounding conditions

method
environment

finance
inquire into

research
derive

interpret
marked by correspondence or resemblance

legal

C specific

similar

a document (or organization) from which information is obtained

source
estimate

function
set up or lay the groundwork for

establish

f vary

distribute

I

have need of
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approach
require

analyze

a rule or standard especially of good behavior

percent
estimate

principle

take to be the case or to be true; accept without verification or proof

f assume

issue

C define

a particular geographical region of indefinite boundary (usually serving some special
purpose or distinguished by its people or culture or geography)

f area

f theory

( section

capable of being seen or noticed

evident

( similar

specific
make sense of; assign a meaning to

interpret
define

approach

an administrative unit of government
- .
estimate

C authority

economy
a well-substantiated explanation of some aspect of the natural world; an organized system of

accepted knowledge that applies in a variety of circumstances to explain a specific set of
phenomena
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theory
major

area

allowed by official rules

r‘

f“

legal
major

individual

2. Choose the best preposition to complete the sentences.

Einstein's special theory j' relativity was published in 1905. (about, of)

1.

2. Our analysis is based j' data from the 100 largest companies. (in, upon)

3. He defined ageism j' "a process of stereotyping and discrimination against
people because they are old". (as, by)

4. Health issues need to be viewed ” lthe context of a person's way of life. (at, in)

5. The Earth has experienced warming and cooling many times in the past, as inferred

j' geological records. (from, of)

6. Factors that may contribute __ the development of diabetes include environment or
genetics.

7. We cannot infer a direct causal relationship these results.

8. Such policies do not differentiate __ different types of crimes.

9. Some countries have imposed restrictions _ television advertising of products to children.

10. Schoolsare __increasing pressure to lift levels of achievement.

5. CpeacrBa OueHKU MHAMKATOPOB JOCTHKEHUS] KOMIIETEHIIH I

Tabnuma 4

C €ACTBA OCHKH HHAUKATOPOB TO0CTHKCHUSA KOMIIETeHIMI

Onucanue CPpE€ACTB ONCHKHU MHAUKATOPOB TOCTHKCHUSA KOMIeTeHIM it

Koas! koMneTennmii HNuaukaTropsl KOMIeTeHIU I CpenctBa oueHk (6 coom. ¢ Tabnuyamu 5, 7)
(6 coom.c Tabnuyei 1)
YK-4 YK-4.1. VYeTHBIE mEepeBOA TEKCTa IO CIELUAIbHOCTH,
YK-4.2. KOHTpOJIbHAs paboTa, YycTHOe pedepupoBaHre
VK-4.3. TEKCTa II0 CHEIUadbHOCTH, aKaJeMHYecKas
VK-4.4. TIPE3EHTAITUS
Tabmuma 5

CpencTBa OLeHKH
(6 coom. ¢
Tabnuyamu 5, 7)

PexoMeHnn0BaHHBII IUIaH BBIOJTHEHHsS Pa0OThI

VYeTHblit IepeBo
TEKCTa MO 1.

B XOJC BBIMOJHCHUSA YCTHOI'O IEPEBOAA TCKCTAa MAruCTpaHTaM pCKOMCHIAYCTCS:
VcranaBIMBaTh KOHTAKTHEL U OpraHru30BbIBATH OGIIICHI/IC B COOTBCTCTBHU

C

CIICIIHAJIBHOCTH

MOTPEOHOCTSIMU COBMECTHOM JIEATENIbHOCTH, HCIIONB3Ysl COBPEMEHHbIE KOMMYHHKAI[HOHHBIC
TEXHOJIOTHH [UIsl aKaJeMHYeCKHX M MPO(EeCCHOHANBHBIX Lesieil Ha MHOCTPAaHHOM SI3bIKE.
CocTaBiATh akaJieMUIecKue U (MITH) MpoQeCCHOHANTbHBIC TEKCTHI HA HHOCTPAHHOM SI3BIKE, a
TaKKe O00CYXKIaTh ¥ MPEACTABISITh PE3yNbTaThl MCCIENOBATENbCKOM U MPOEKTHOM
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CpencTBa OLeHKH
(6 coom. ¢
Tabnuyamu 5, 7)

PexoMeHnn0BaHHBII IUIaH BBIIOJTHEHHsS PadOThI

JIeSITEIbHOCTH, Y4acTBOBaTh B JHUCKYCCHSIX Ha PA3IMYHBIX MYOJIMYHBIX MEPOIPUSNTHSAX,
BbIOMpas NoAXoAsIMd Gopmar.

Konrponbnas
pabora

B xo/ie BBITIOTHEHMSI KOHTPOJIBHOM PabOThl MATUCTPAHTAM PEKOMEH TYETCS:

1. VYcranaBnuBaTh KOHTAKTHI W OPIraHU30BBEIBATH OOLICHHE B COOTBETCTBHH C
MOTPEOHOCTSIMHU COBMECTHOM JICSITEIBHOCTH, UCIIONIb3Ysl COBPEMEHHBIC KOMMYHHUKAIIHOHHBIC
TEXHOJIOTUH Ul aKaJeMUYECKHX M NpO(ecCHOHANbHBIX LeNieii Ha MHOCTPAHHOM SI3bIKE.
CocTaBiaTh akajgeMudeckue u (Min) MpodeccHOHANTbHBIE TEKCTHl HA HHOCTPAHHOM SI3BIKE, a
Takke O00OCYXKIaTh H MPEACTABIATh pPE3yNbTaThl HCCIACIOBATEIbCKOM M MPOSKTHOM
JIeSITEIbHOCTH, y4acTBOBaTh B JMCKYCCHUSIX HA PAa3IMYHBIX MYOJMYHBIX MEPOMPUATHSIX,
BBIOHpAst OIXOAIIHHA (hOpMaT.

VYerHoe
pedepupoBanue
TEKCTa I0
CHCIHUATBHOCTH

B xo1e BBITIOJIHEHUS YCTHOTO peheprupOBaHms TEKCTa MATUCTPAHTAM PEKOMEHYETCSI:

1. VYcranaBnuBaTh KOHTAKThI W OpPraHM30BbIBATH OOIEHHE B COOTBETCTBHH C
MOTPEOHOCTSIMHU COBMECTHOM JICSITEIBHOCTH, UCIIOJIb3Ysl COBPEMEHHBIC KOMMYHHUKAIIHOHHBIC
TEXHOJIOTUH I aKaJIeMHYCCKUX M MPO(ECCHOHANBHBIX IeNicii HA WHOCTPAaHHOM SI3BIKE.
CocTaBsTh akaJeMUYecKue u (Win) MpodecCHOHANBHBIC TEKCTH HA HHOCTPAHHOM SI3BIKE, a
TakkKe OOCYKHaTh W TPEACTABIATH PE3YNbTaThl HCCIICIOBATCILCKOM W MPOSKTHOU
JESITeIbHOCTH, YYaCcTBOBATh B JUCKYCCHSIX Ha PA3IMYHBIX MYOJMYHBIX MEPOMPUATHUSIX,
BBIOHpAst OIXOAIIHHA (HhOpMaT.

AxageMuueckas
MPE3CHTALHS

B xoze moaroToBKM akageMHUIEeCKOH MPEe3eHTAIIH MaTUCTPaHTaM PEKOMEHAYeTC S
YUHUTHIBATh:

1. YcranaBnuBaTh KOHTAKTHI M OPTaHU30BBIBATH OOIICHNE B COOTBETCTBHH C MTOTPEOHOCTIMHU
COBMECTHOH AEATENbHOCTH, MCIIONB3Yys COBPEMEHHBIE KOMMYHUKAIIOHHBIE TEXHOJIOTHH IS
aKaJeMHUYeCKNX W TPOo(ecCHOHANBHBIX IeJed Ha WHOCTpaHHOM si3bIke. COCTaBIATH
akageMuieckne M (Win) MpodeccHoHaIbHbIE TEKCTHl Ha WHOCTPAHHOM S3BIKE, a TakKKe
00CYXJIaTh W MPEJCTABIATh PE3YJAbTAThl MCCIEAOBATEIBCKON U MPOCKTHON NEATEIHHOCTH,
yY4acTBOBaTh B JHCKYCCHAX HAa PA3IUYHBIX MYOTUYHBIX MCPONPHUITUAX, BBHIOHpAs
MOXOASIINHA (hopMar.
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